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e  Write the following integers on your note hook

Numbers and Decimal 230.430 , ~410.890 , ~890.550

. b1 d o and arrange them in ascending and descending
mbers an erati i order.

Nu il -u.'{;d,-;,,r;,,ruw.,;;gﬁ,,:u:‘.;qr..[rﬁw{q»w

L7 ~890.550 , —230.430 , —410.890 ;

T R R T i Sol. Ascending order St/

sub-Domain (): Rational -890.550, 410,890, -230.430

‘ i Descending order Y17/

Solved Exercise 1.10°V

T T L S S L L L LA L ke )

Numbers _ (251,70l Pt

Skill Practice: : (.t £ 1. Represent the following on the number line.
_ ST
. Solve the following. —q/J[‘J_L?JA'J : (i) 230,130,150,100, 170,120
[~10}, —-17|, |19] and |-6| 100 120 130 1% 170 N

Sol.:::...,.‘,.,,::,.,
80 90 mmtiomumsommmmmmmmm

Also arrange them ascending and descending
(i) 70,80,95,35,40,45,60

order. -U-‘U Ul deﬂfu.,é';u'd.m‘“ﬁ'hﬁ

F sol[F10]= 103 —=17]==17; [19] =19 |-6| = 6 5o}
Ascending order fs**<r7 =-17,6,10,19 5 40 i oo 1 8 s

Descending order (377 =19,10,6,-17

|r Challenge: ﬂ‘-‘ W

35 40 45 50 55 60 65 70 75 80 85 90 95 100
(iil) 1600, 1000, 1700, 1500, 900, 2000

*  Find the 7-digit number with the help of the : ¢,
iven clues: 2 is at ones place. The place value of ) 500 1700 2000
{is 100. 7 is not at the tens place. 4 is at 3 _, “1” : “|M M MO ‘5?0'1 N e

Yl('” «'n 1(;00 11'00 1200 13‘00 H'l)ﬂ 15‘00 1;00 17‘0l N‘M 1900 2000 2100
(iv) -50 , 60 , 25,70 , 10 , =35 , 45
-T0 50 -35-26 -10 45 60

thousand place. The digit at the hundred

thousands place is sum of digits at thousands

and ones place. The digit at ten thousands is one

mor than the digit at thousand place. 7 digit 1, 2, : Sol, «+ bttt +—+»
.80 70 -60 -50 -40 -30 -20 -10 0 10 20 30 40 50 60 70

3,4,,5,6,and 7 to make a 7-digit number.
Sol. Required number us.,)" 17654132 (v) -225,440,—400,100,-150, 120,110

.
LR e e N L T

100
skill Practice: : 0> (¢ : PO 110 -
[ SPTRN REE I R |T1¢20; Uy WEE

500 400 -300 200 -100 0 100 200 300 400 500

¢ Represent the following on the number line.
(vi) 1100, 2100 ,-1500 ,-2500 , 1600

LSy FI A s
(i) -700, 100,900 ,-800 ,—500

ddddddddadddotdtddeddananad

.-q&w{cf’uf.’ﬂwé:twy

50,60 ,-30,-20, 10, 40
4l0 60

4 l Dl

Sol.

o, Sol.
QH ? + '1“ O, 1‘P ol il Y > , -:l‘“ -1}“—11100 1500 N
-k e e i e o i 15 e
ool toa i e  (vi)-15.5,20.7, 11.2,,-10.5 , -12.5
: 155 10, /
o A o AN : <t - :r : t 1112 + 2?#—:
R R e iSol. g0 20 (0 0 0 2 2
Represent the following integers on number line: : (viil) 0.5, 0.7 _6'112'50.3 0.9 .-0.5
- - g *f 3 LB | s Vs y .

badod
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(i)

Compare by using symbol > , <. Also arrange them
in ascending and descending order.

- JJJ.%.,.'},»J;ﬂ,JA,C'muLJ'r‘_Mu.J >e<
235691 , 235090, 2450911 , 245192

Sol, 245192 > 245091 > 235691 > 235090

B

235090 < 235691 < 245091 <245192

Ascending order ‘ Y W)
235090, 235691 , 245091, 2451925 +_
Descending order s St

245192, 245091, 235691 ., 235090
(ii) 578901 ,579803 , 679807 , 679817
Sol. 679817 > 679807 > 579803 > 578901 -
578901 < 579803 < 679807 > 679817 -~ "~
Ascending order
578901 , 579803 , 679807 , 679817
Descending order
679817, 679807 , 579803 , 578901
(iii) 10028 , 10026 , 110028 , 110027
Sol. 110028 > 110027 > 10028 > 10026
10026 < 10028 < 110027 < 110028

J)}"-;::’;

d"/'-,—;."}

Ascending order

10026 , 10028 , 110027, 110028
Descending order i

110028 , 110027 , 10028 , 10026

J),"‘h::_:/-

dsﬁ..’;_r';

(iv) 562389, 562399 , 572390, 572387 S
Sol. 572390 > 572387 > 562399 > 562389

562389 < 562399 < 572387 < 572390
Ascending order :

562389 , 562399, 572387, 572390
Descending order

$72390, 572387 , 562399 , 562389
Compare by using > , < svmbol. Aiso arrange
ascending and descending order.
J:‘/’..(,"}Jsld:f‘%}u.f‘mlu_‘/f:Jlr‘.:.fdb;l:.MhJ>.<

e

d’?“u‘-;'-}

d:’/'..‘/_'}

(i) —8395,-8496,-8491 ,~8394
Sol. -8496 < -849] < -8395 < ~8394

-8394 > -8395 > -849] > -8496
Ascending order

~8496 ,-8491 , 8395, -8394
Descending order ;

-8394 , 8395, -8491 , -8496

8T e

d;')..;’)

(if) 503,530,556 ,-563
Sol.~563 < 503 < 530 < 556

Descending order

556 > 530 > 503 > -563
Ascending order

d:y“‘%»_’/.
-563, 503,530,556
d:?.ﬁ:"?
556,530,503 ,-563

(iii) =137 ,-138 ,-1886, 1308
Sol.-1886 < -138 < -137 < 1308

Ascending order

1308 > ~137 > -138 > 1886

S s
-1886,-138 ,-137,1308

o |

sonn

e 4

Descending order
1308 ,-137,~138, 1886
(lv) -87650 , -78432 , ~78402 , 78401
Sol. -87650 < 78432 < -78402 < 78401
78401 > ~78402 > ~78432 > 87650

""'/"":'; ‘

(i)

.

Ascending order Sipo_e
-87650 ,-78432 , ~78402 , 78401 ;
Descending order %t

78401 ,-78402 ,-78432 , -87650)
Compare by using symbol > , <. Also arrange them
in ascending and descending order.
d)‘/'-‘(}ﬂlde‘.r!}uﬁ}é-Q/c:ﬂfﬁde‘;lc,\.th;.,,\

o

28.356 , 28.343 , 28.357, 28,532

Sol. 28.532 > 28.357 > 28.356 > 28.343

28.343 > 28.356 > 28.357 > 28.532
Ascendingorder .. . o S——
28.343 ,28.356 , 28.357, 28.532
Descending order
28.532>28.357 > 28.356 > 28.343

ez

d:?_‘::}

llcllltll“llllOllllddlﬂt.rhll}IIIIJ.IIPIIDII.D.illDDliDi'l‘.lIlll'.lIIII!D.D'D.l’lbl‘Ilhlii)iIjilDllllllll’II'IIIIII‘IIDD'.'..I.’

I I eI ETa e aea et ad it ddadddaaqeaiIeaiaiqaedeadaegsedaedaccancs

(i) 120.08,130.08,120.80 , 120.01
Sol. 130.08 > 120.80 > 120.08 > 120.01

120.01 < 120.08 < 120.80 < 130.08
Ascending order

120.01,120.08 , 120.80, 130.08
Descending order

130.08 , 120.80 , 120.08 , 120.01
(ifi) 131.01 , 131.08, 103.78 , 113.08
Sol. 131.08 > 131.01 > 113.08 > 103.78 |

103.78 <113.08 <131.01 <131.08
Ascending order

103.78 , 113.08,131.01, 131.08
Descending order

- 131.08, 131.01,

(iv) 236.089 ,236.219,236.217 , 236.207

SOl- 236:2]9 > 236.2'7 > 236.207 > 236-08‘) ;':' '

236,089 <236.207 < 236,217 <236.219
Ascending order 0

113.08, 103.78-

Ju“.',_-;

- d)f“_‘g',:

"236.089, 236.207 , 236.217., 236.219

Descending order

J!‘i.,_-‘f

236.219,236.217,236.207 , 236.089

. ~A
Solved Exercise 1.27)

1. Represent the following rational numbers on number

“ne. -Q&W{Ju/?ﬁlxl‘}*:dj;'zﬂ
1
0 3
1
J
Sol, et - e —+ ¥
-2 -1 0 1 2
| '3 rEy s e
(") —7' ; 3 P ? -~ "y Y
3
‘ 7
Sol. ¢ : A 1:4&:#: ol
-2 ol § !
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(i) "5 . | WO | : i ’ g g oY 115
.._5. ¢ g 1My (4 E ‘43:: 4 iz . 10 _.:2__~
' gol. T R AP B T T ”)33 A A %;
: s“ -1 0 1 (1na g it e B S
3 | ' £ 3. Pul the correct'sing (> , <'or =) between the
s 2 B e i lollowing rational numbers.
- sol. sz 1'5' 8V ‘ : - ﬁ.:-llk..ﬂ);..;ﬁ(:» <i= )uy/,L;I;IJCJJ:u/
man Y& wopnna  Of _3_U 6 L L 7
T: l 9 e .1Ja ¢ ol g (i) 5 25 : (li) 10 ""lo (i“) D
| EAGE ) 0 i s V”? 2 _,, 32
b s , 1. .2 Hia . T - o E
® 3 AT ARLEY €f oy ,9 x
0 (o 2- ]_ Pas A 23 s i
T eran e 0 ?i(w) 7 D"w(v) '12 D.-alz o) =25 25
Sol. <+ = ek oy Bl ) 3 3 o -
-2 -1 0 1 2 E:‘SM I .2 Sol. 112512. Sol. - 25-
B ' F4. Compare lhe following rational numbers.
9 0 ] S L Pt i
i . LA 1 |
i I e & (o
Sol‘- é::!:::”:::'.: —t : 78 48
-1 5 ) o ¥ullag . _
1 o ot 282 % Sol. As fw 7>530 v, - detr il
| m — 2.5 0 Wl | s P KRl E
i it L T G (A 1, ), S kel ot
| Pt i a0 Qe
| S0k et : i Ll b, bnr | + NTARD . Sol. Positive number is greatcrthanneganve number
-4 -3 -2 51 -1 :0 b 1 SRS '-2" ;: f__'J'C‘-rI'IJC—-JJ)‘d)-d‘.un;'
5 ,‘§ 1oL g0rit1 - 8Y7.001 g.: 3 A 5’) 3 :
“'") "4 o "l'.'m’ f“,‘...‘; V52 4l § 4 9 _5
-2 IR WS iy ' ‘
ko % S s ,,'l"“”‘ RRED @A Ik oo < gl e
: -4 3. .72 i —1& ‘,(0 ni“ ‘,1,\)“ i3 2 (i Sol Posmvc numberls greaterthan nega?we number
2. Convert: K7 BeS -5 EY ~"_' v t""l‘v J—f'f.:i oy v J.Jlr_t‘rl/c_.wd’.)"u_a
; B W AR TUTY 3
i 1732,22,85 convért into |mproper ¢ fractions. i S T :
3 5T mwum’\ 3 3 o 5 AR ] ¢ ;
-J/Jmﬂ//u’uglvﬂ *2] 7 y e ¥ Whad
”X3)+2 3+7 5 I‘(JI! .u I'Jsl.-.l ‘tl g (“) = -'—l ! .%o . )
So e g C o 0C L - H po 18" -
3 o i pAN "’n« Sol Make the denominators equal o bl LR/
3x5)+4 1 ‘}‘ 9eh e i :
Aty Bvice S R T 3, el
S _(@xIN+5 22 50 ‘7“nl ool nazswAR 3 fice  Seh el e A
LI o i-f ' g wigy e
11 11 - ll ﬁ:l As L2 -22 <=2 So.é_ul, '-ﬁ”:_:ﬁ and 8.
8§=(8x?+3=56”=2 P ool g |
Loy 0 :: T
L R I4 |3 9 —— convert into mproper-fraes(ions i (v) -—7-,—-§ ' ;
18 63 43115 :'Sol. Make the denominators equal o bk
i 4 —— b q L Gl
| N e AT QUi S 9 Gl .45 P
bso, 1204 2 63,1 RS BT I TR TR
(Sol =20 g )_la— 7 G T 4) 63 i ‘
| 14 |4 Jud ! 45 71
0 avee) s T gt ‘“"'56 i As Sl 45> - 17 So dop == o 9o and

B e ¥
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7,5.5,10 7813 5 35 50 56 6
85 4107588 5 40 4 4010

__—....(

5 55 25 73
As Sz 32 <1580 Lo, 3215

e <—— and o

13 g ey
ey Y i LeMa LS 41&24J’Jw'rléu0fu,]
ST P12 3.6 28583 430 15
s & i 127246 3883 FIAETE
N S P W0<-16<-14<] :
58 ’___>____ H Since “J<-16<=<14<15
g‘“’ ﬂ‘”) e B 2 i 0_ 16 14 15 5 3 11(
g f, == € ~— bt S LAY
mos— 5 §§°‘"‘J' VTR TR T indar At i1
A,.ftgr3<4Soq‘..m,3-<4-— , 3. 2.'%:3
s _Z__- 18 . Ascendmgorder -;.-3.—6.5 d!f“.,;;
headiit T Faw 15,113
aliiluiBoa T MR
Sol. L SO S 5 ' ‘ "»‘ : Sol. We shall make the denomlnalors equal to thej,
Make the denominators equal Loz i LCMAO. Ly M'JCJOJ&.:WHLQMU 2
B 1S B 15 :
- — -

LA A AR RS

l v 3 25 25 Since -56<-50< 35 <65 .{{
A : 56 S0 35 65 7 57 n
25 : TRY o N TEET¢t-
ot L e Nt TR
(ix) 3?21_ : . 1.5 113
Ascending order "33 e}
Sol.As S+ 3>2580 <, 3->2I_'; 6 Arrange the following rational numbers |y
5. Arrange the following rational numbers In amndlnn§ - CAET order. u‘&d”w//wu&ﬂw
order. i ARG r s ) WPt b (|) %.;.;;-.?
l 37
@ = 333 S : Sol. We shall make the denommators equal 1o their |

LCM 84, -ﬁu’ hA'{LMJ'Juhiﬁu!/uxﬁ
3 284 IZ -4 |2 -3 21 564848-63

387 R YRR

Sol, LCM of denominators is 40. We shall make
denominators 40,

L 60l Jrf e d0 F iin

R R R P T

1,103.87 55 10 10 24 25 50 P Since 56> 48> 48 > 63 H
4 10°5 8'8 $'4 10 40'40°30'40 Soiden . 48 63 2,6 4 3
sodun DB B 0 (AT | "'84 84" 84 88 377737

7410 0 01583 ¥ 24 dnd ;
1 375 : Descending order -3"‘5.::’:.-; o/
Ascending order o dﬁf‘-gc’lg : i 37 7
o 3 2.0 R AT T
S A YRR MY

i Sol. We shall make the denominators equal to their

Sol. We shall make the denominators equal to their : LCM 30. °£~£ muéso\ﬂ.;uu_g@x}ﬁ
LCM98. LS u4¢4£9sjdul,¢u/4x/( 461317 37 2 241320 -4

6 1437 914 137 8421 126 91'F 56307

2.1 R, 126 917% 56-301-105-155303030‘5‘*
7RI T4 T T 9808 08 us

| Bse 245> 13> 14> -2 &

Since ~126 <91 <21 <84 £ U 13 4 A4y 1 T
126 91 21 84 9 13 3 6 iSeeV P> 30>50 25" e it ]
S0 o8 <" os o8 98 T 7 14 14" 7 A i
913 3 6 i Descending order 3.-_—33:?‘-,:'—0 o)
Ascending order ERTRTE] dn“.,z); §13 17 8
A e o : A YRR
o T T A L { Sol. We shall make the _denominators equal to theif

Sol. We shall make the denominators equal to their LCM 48, C\.{' u.._uJ'».Jma..wu* 8

.
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s 132 .49 3026 -68 9 QY (SR Y Y
576242712 48 a8 a8 a8 a8 |3)3,3_|2|

: ——| N | — - — e
W 30>28>9> 48 U7 (3 8) 8 8 8

26,9 68 _4 13 7 7
— e S — PR L .
So &V 38> 28 8 TR TR TIgRT)

L A A A e A A R e

. 513 ) .Y Bt SIS s
- ﬂ‘.‘,_Desccndmg order 8'24'238' 13 UsFee? |3 12
5 -9 4 4 2 E AL AN s
(iV) hﬁ’a’s—j,ﬂ Sol ,Zl )0/ 10 5 10 l }i,
I

Sol. We shall make the denominators equal to their

o N 122 g ERU PR ol 14 Solved Exercise 1.3 gV
ful' :‘Ajg 12&{*4‘_»:!,ﬁ;)b(;:’/f‘ 2 1]:1]2: ::; 1. Addthe following rational num/bersx b
FRE R 4 7 fakd = P LA G e us

_—60 —54 -16 -123 %(i) 3 and sl g

13271327132 132 4 ud %

Since -16>-54 > -60 > 123 5 i S0l GHg=gm =5l

S0 &, 13 9

16 54 60 68 4 -9 -5 I (i) =~ andf T

> =2—> > ——
327132 RT3 R 1 4
—4 -9 -5 4]

=13 9 (-13x7)+(9x2) 2|4-14
Sol. — t—== - A
4 14 28 2-17

Descending order —»7==—,—— dsvers ;
; 33 22711 44 " <21+18_-73 LCM =2x2x7 =28
| swn practice: ;3. | 2 Jioiboiy;
. 3 ~7 -3
e 1 7 1 : (iii) — and »s — _
* Solve the following. S+o+7 SVIN VIR W)y andsl 35 ‘
oo Lol 1 941442 35 7  Sol. 1_?4"(2;)";—:'% i-22
vad S B R T T 2] 1-2
: _(3@x-1-(1x3) 1-1 .
Challenge: 6" J : 22 LCM=11x2=22
, : _-14-3 17 ORI
o If  and L are two rational numbers then: § T2 7, i
q § :
-y T § i —_6. £ 3
bﬂ)‘xluLhJ‘s"J: g (iv) 13 and .l 13
p T { Sol. ﬁ+( 8) ad P SR SO
a+;= S BY 13 T R
| \ 23 -6
: g £S qr : (v) y i and & 3
i ‘q s gsm §+( ) (5%3)+ (4 x-6)
" Skl Practice: P |] T4 s 20 e
n\' 15-24 9 LCM Piiliss = 20
*  Ahmed's friend left < 8 of a whole pizza for him, } 20 20
1 -3
Ahmad ate '3 of what was left. How much of the ; (Vi) 4 and 5
4%20) +(-3x4 i X9
‘:h‘)le pizza did Ahmad left? .‘:' Sol. 4'*"( 5 ) ( )20( x4) LCM Fiitedin =20
1 3k i §
3 SRUIL AR Elﬂ,"_-.._gg_[_wg_y,,gﬂ i _80-12 68 _17 .2
‘ ® "N 5 3
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"2, ,V i e 'l “3 , -4
'! Soslvom;ollomn S .(“) ! % san X “gl
o Z5*(i) Lo 2-(2)p o4 210 T
Sod 3 *(-5) 2‘}_40‘14 §s°"5 9»] 59 43 A5
‘a0 \14 20-7 § 7 o .
g1 i () = - eaf =
_;34(:.5.).;3“3__ LEM=2x20x7-280 8 "R ’
w0 (14) a0 18 Puwy o | ol _zh(ﬁ),_z 'l
_(1x-3)-(20%5) _-21-100 _-121 : 8 8
280 280 ' 280 foe L el B T) <1647 J? ,,
:§.+ - | oo D e 3 8 ’
o0 55 £ 4. Sbive the following. -dfd'fdx,u,
Sol :£+(1'-] > LEMADA =20 § (g, § 2
L i S 9 3 e
_Bx=5)-9%1) -15-9 24 -8 isgol -2 =BxN-(1x3) LCM S = 14
= =e—=— 1077 14
27 - N R
3 —2 —7 5 =.§-.:§=_3-
o S P s :
(i) (5)+(zo) | 14 14
WEARE : T 1z
Sol.;*(*s—}‘(;;-) LCMJuw,;=20;” 15 '74 C,
§ 5ol 1-€ am R ety =
232 7 _(5x3)-(4xD)-(1x7) Dol 50 N T4 LeM it =19
a5 20 20 _(14x6)-(5x7) _84-35 49 1
‘ LA3-8-7 15-15 0 o 70 70 70 10
- 20 20 AT 8
1 [ LTI A
(iv) 24+ —4| — :
11 15 , 580[.—44 8 (—4x5) (8x3) 5(15-128
7 : : » . .
Sol. —2+_+(ﬁ =2 1. 4 : 15 25 9 3-5
1 s 1 1s : _-20-24
~3304105—-44 269 75 LEM=Sndnd»n
= = : LY
' 165 165 i W Sz
1,8 (<1 : 75
™M 3% . :
8 12 (24 TS 1
Sol ‘_'+i‘+(i) o 2|8:12-2 < MY
"8 12 \24 214-6-12 .0 -2 3 (2x14)-(5x3) y
A P 2 2-3-6 i S M 70 LCM Jideni =10
8 12 24 Y ol S L _-28-15 43
Bx-1)+(2x5)-(1x7) SR bt : 70 70
” LCM =2 TE (-5)
= x = T (Vv -y e
“3+10-7 0 e PRRMEM § )
_-__23—_53_0 (R TH Esu 4 (*5} 5 =¥ -
: ol -l | F—mE———m —
3. Subtract: LAFE O 2\9 99 9 9
3 I 13 L.
(i) 7 from 3 c.'z*fzg(“)llz (9)
H b . Of\ 2
| _3_(@x-3_2-3_-I i | (4) : 3112-9
L ~ | : Sol, It
ol 57" e ks 2 B ) |
-1 5 5 -1 134 (3x13)+(4xd) |
(i) 5 from T <18 "'g'?§ 12797 % LCM =3x4x3=36
i _5_,(-7 el 000104 SRR | LW STy
18 L6) 186 18 18 9 9 : B s a1

L)
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- ﬂl] P8
5 -A} 5 3 - é - - b e - , '
sob. = ° (7]=§+; LCM Jidushs = 56 £ Sol. _55‘43.75, ,_5"5_9,, -30
C(7x5)+(8x3) 35424 59 3 i | :
" 56 b =3-6-=|§g : 6. Solve the following. SIS
4 /'5) g, 54-1
mn),,‘[? AT
{ “ _5)—.4_'4-.2 5 § 2
Sol:'r_(z 2 LCM At =22 § ) 8,7 .5 M _5x2_10_,3
_@x)+(11x3) 8455 _ 63,19 18 12;;( T =1 7 3
| 22 T N O T Mk
5. Solve the following. -q/‘}’fd.swpg M 6 s
é 1.8 i : I
EURRTI ' e g A1 0, L diniavigl
E 7.5 x5 38 iSolhlg 8 46 1 2x1 2 2
e X e £, e IS s
L S0l 1776 116 66 : 2
| .
. gx(_i] : (i) 5 *8
@ 770 s : w
3)‘ _i =13<_'_i_iz4 § .__6._|.8=:.§-+-I-=ix_l.—--_3
Sol. 5 7x5 35 : Sol. 5 5 £ 5x4 20
)-2x 5 . X
(“' -6— 12 b a .1_6.1._
1 ) s O
2,5 X, 5 _=I1x5_=5 N 8
S 9 12 9 J} 9x6 54 . % l_6_+(_]8)=)_»€x_-_l=8x—l___;§_
6 ¢ Sol. 5 15 18 15x9 135
. il 8 ¥
BT NG
ool s sTA, 2 E(v) 10 40
oL14 7 14x7 98 _e r
-1 P 3 (21 <F -0 1% 4
() = x-18 P B[ e T B o
6 iSol. 190 \40) 1 2f  1x7 7
i o : -y & ; { T : 7 t
; s(,|_%x__|g=egz>;-){3.—;—7xf3=21 “ o E 1 :
' ‘ : i) 4—+—12
_ ! FO) TR
| (') —|3x-25 ,'; )
) T ‘ o ,
5- 26 , : 1. 5 65 -13_ 5§ -F_-5_ .1
1 5 ] 1 : Sol d— st s X s =)=
g 0, 200 28 oAwid £ 41 T 86 RS 83 R
"5 2% £ --26- Ax2 -2-2 3N
v [ 2 ¥ " (.5) ' ) :
-5 7 | P iy THeT| —
4] B 8 = : (vii) 6 :
(v‘")”x( 22) TRROR 5 6 -12x—6 T2
g 1 = 4 clEx-Q_TE 4%
bt (- )-S5 B Tl o o -1 F Jr-tnie ISt
0\ "22) 1\ 22) nixay 43 Ao § %
! 3 ; LN
| (Vlh)”‘tz’< -:l— ‘ - g(vm) 119+ 58 i D
boo ol f AY 89 (1% -gw-8- 63 .7 10 ( 5) -29 (=5
Sol. *4“”(—1-—)=~——a (—.)ﬁ———:——ﬁ'?—- 3 ~l— (—— =,___....(__.)
Sl 3 S § e e B R s : Sol. 175" 58 )" o (38
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1682 67

W mem— 1 7—-_

. The product of twa rational numbers Is 7y Ii one

number Is 2 find lhe other number.

‘ '

L dalpnin = ’—"-{'f' ‘}6 AL P &

iol, To find the other numbcr we will have (0 divide the
product by the give number. SRR

-fnt/((‘jc_wc_xé.:fu/‘fbf{_ﬁa_fr:l‘”m/u

:—1+_—3n;l-7(:~g—=

10 5 )d 3
h

001-7-

Sol. We should have to dwldc

By whal mional number should we multiply —4 to

\'Lg{:..r/;mubtﬂ 2 J_LJ_/J‘b =

' P Jf J4’ “Ix-2 42

714/),5

So, required number is —

-b’ﬂthf(Fdd'f
Ix5 5
-2 . ]
5" ‘.4/7‘::’“”&}: T

g 15
: 10. Amna purchased —- m cloth to stitch a shirt, y 4,

:  was left with her?

e

packets, then find:

I edgadadddedtadaanqnaqe ldlcullllilccll‘illopbh#blibllubbb’blvpp

$ ~m

A Gl T

: Cloth used for shirt - —]-Em

i ) 9

i Gt

: 25 13

$ Remaining clothes - G 49

{0y

_(25%3)-(1x13)

: 9
_15-13 _62
L=

g

Y B RUIL 6 %5 g ¥ 775 i

used %3 m clothes to stitch the shirl. Hw much ¢y,

LSS ML Shir S LLb o1,

SN }
¢ Sol. Cloth bought by Amna - 23

75 25 |
1. Ui ¥\ kilogram rice is to be packed in 3 kilogramg

9. Find the addition Inverse of. ) (a) How many packets of rice will be packed?
& q/f()vuﬁ*u’ SL UL WEL iy
() 5 : ¢ Sol. Total mass of rice - 7745 kg(rlf,‘)
Sol. Addition inverse of = 15'33' -4- - ,G' 3% V = iUy 4
. - 2 25
i : Mass of rice in each patclxet = ?kg (r!f,‘)
2l . @ uhﬁJhkgﬁL_Qﬁ
Sol. Addition inverse of 3 ISTZ‘. - ‘EJF‘J‘W THE Number of packets = E-E
-8 : s idk 4 8
(iii) -(-;) WISuw
-8 ¥ H
Sol. Addition inverse of ‘(“5‘) is?g. 3 ,1:5 2
_8 -_8 é = z__g_ =6
-c.._‘u‘:"d‘:(‘( ) 25
W) 1= : °7 3 }‘( 2;{
12 o s \
Sol. Additi 157 i :
0 ition inverse of ~/77 is 12 (b) How much rice will be in 20 packels of mass ::
1 - EJPJ‘T(—7—- kilograms each?
(V) "11—3‘ 12 : 0 J¥ 24 :
; : U.?J:wl T u:z_li’/.-ﬁ-ﬁundxyidw’w
P Ak 49t 3
%ol. Addition inverse of 13 is 13 ¢ Sol. Rice in one packet _ A kg (¢! ¥\
_ il 15 "B
> 13“’%"’ 2 : Dbt g
it A
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| .2_32 I 2
12. Zara bought ——= litres cooking oII: She used 7 ltres

Sol. Cooking oil bought by Zara — 33_5 ()
S 1
Oil used by Zara - ﬁ ()
Y1 & s
Remaining oil Fd = 235 _2
7 14
470-2 468 234
= = = s
14 Vi mE e

Rice in 20 packets

- Dtuiu20

oil for cooking. How much oil was left with her?

t et/ % Vs ijzﬁ-éwd’yﬂ;u}wm

Solved Exercise 1.4&"' J’ ,

[ X OO-QCJO--.-O-Q-O"OQQ"C‘O-C

1. Verify the following commutative properties.
B ip g LIPS AarP S b\t S 210
0.3 7 5
Sol. LH.S R.H.S
v 1% ) §,.3
5 7 75
21430 _ 9 _30-21 9
T35 35 TR N
So e LHS=RHS
. T.B BN
M5 50
Sol.L.H.S R.H.S
TR -2 7
0 T
=1 -4%¢ _—4+7 3
1 10 10 10
So (4 LH.S =RH.S
(i) =x3.5,3
I B e
Sol.LH.§ R.HS
2.8 -5 3
27 73
=3%5 _-I5 15 -5x3  -15 15
2x7 -1 14 %3 -4 14
_ Souws LHS = RHS

B

I TR Y

LAl
POBBBBBRBORRRRBRRRIRRRRRRY
(ISR R SRR AR R 22 2 2 2
ll‘li'(‘ll.'iIC‘C‘QI!!‘I'I((‘!IIICI"III(‘.‘1.1‘1"‘{0'5'..0). »

AIQAdd € a4 4e4 2444
AMEIIEAIIE IS4 q9deaqaddy

| A4 qeadasviecee

iy 5,15 18 13
M 26" 45" 45" 2
Sol, L.I1.§ LS
I8 -, I
B M 2
26 45 ;{ %
Y /
| ]
oy L A L1 A
261 26 V226 26
" Sous LIS = RS
2, Verity the lollowing associative properies,
L SafelprSpiarss g
" (4+3)+2.1+(2+1)
3s)7 3 \s' 7
Sol. L.H.§ RS
(i‘.+3) 3 i+(242
35) 7 3 s 7}
(20+6) 3 RL(MHQ
1) 3 3 1 38 J
=£+§- z-&g.?.
J5N7 3 35
_182+45 227 _140+87 227
105 105 105 105
So U~ LHS =RHS
10 11\, -3 10 (11 -3
(i) (a*.—z)*“;'ﬁ*(.—z*ﬂ
Sol.L.H.S R.H.S
(}2+-ﬂ.)+i I_O+(-!_l+;3.!
12 -2) 4 12 \3
-(le-e8), 2 10, (23
12 4 12 4
=i§—-§- £+:2..5_
12 4 12 4
_-56-9 _-65 _10-~75 65
12 12 2 12
So U+ LHS=RHS
15,-5),12_15 (5 12
—t— —_— —
('“)(20 10) 0 20 (10 40)
Sol,L.H.S R.H.S
(5.25),2 5,(2,1)
20 10) 40 20 (10 20
=(|5—10) 12 9 ! | (-zon:}
20 40 ~20 40
=—5— _‘_2_ 3-1—5-4»:-§
20 40 20 40
_lo+12_22 oo P
40 40 @ ©
So LH.S ~R.HS B
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18

-8

P 5 (10 18
™ (7 3) %7 W)
Sol. L.H.S RMH.S
u§+_'_9_] 18 ;5‘_(_[9_+|_5J
{IO -20 30 10 -20 30
,(;5.._9),,1:‘1 =;§+(-3o+30]
10 20) 10 6\ 7T &
=(-10-|0)+_|3 _5,0
20 30 10 60
-2, 2 =_~5+_0
20 30 o
60+ 30 s
S kg |
30 1
60 2 2
So Ur LH.S = R.H.S

3. Verify the following distributive properties.

LSI A fwu&:.w

2,(3,8) (2,3),(<2,8
o 53 8

9 6) |5
Sol.L.H.S R.H.S
ZNER) (!
5 \9 6 —_2)(1 +:1x8
=2 (6+24) E 3 g
5 2n; 24
I 1515
£, 2 2.8
£ B 3 IS 15
. 28 0
15 W 3
So J+ LHS=RH.S
\
o (58
) 11 4
Sol.L.H.S R.H.S
10 (6 9 s
ﬁ{rﬂ (gg{ﬂdi
_10_(24+63 sl !
ETRSET 60 45
p 77 22
W 87 435 1204315
e e i =
11 26 154 154
" L 435
|54
S0 A LHS = RHS

snnse

L

Iy

e

srews

L T T T Y

SERRRRIRRIMY

BERROBABRLRSG

>

PaspREBRBIRD

904440 EHAATHANEAUAUAITEAEAEDRIPRRIPRDP IR DRRRRIRI S

dedseastens

(i) 3 significant figures

44400 cdddadadaan

detededdeddddddqdcadangen

cseradan

ssgeves

.

'2,{1‘._& .(!?,i‘.. ~(':‘,,1
i 16" 12 oJ 16 :2J 1 nJ
Sol. L.H.$ RS
15 (8 2 d LY (8
E'(lz 6) 9 {%/
15 (s 4) AN
5 o N — O 2)
sl 58
=£xi{_-_—._5.. g8 16
¥ v o6 L
4 4 6 |0
So Ur L.H.S = RHS
<4 (8 4) (4 8) (-4 4
(‘V) — W] —— e | BB e K e | -—X-—J
6 10 5) L6 10) 6 5
Sol. L.H.S R.H.S
:ﬂx(i_i} : 4 2
6 \10 5 £ K| |44
@ | O
=| —x ] 5 3
6 10 88
=ix9.=l4.xo= 15 15
6 10 6
So s LH.S = RH.S

|| Skill Practice: . 0ty |

¢ If the price of a packet of chips is fh.IS.IS, tell
,the price of packet of chips after rounding,

L b J_'g»:Z.LJ}iu.;.aruls.lséé JeL iz 2/
Sol. Rs. 4'_.1115.|5 = Rs. &115

* Hamza purchased two litres of pecrol for

Rs.438.75 can you round ‘the number to the

given degree of accuracy? -

ST ile I E .uJ. JZ-,;J.'.-TW{}VCJ;.JMMJSJ;]( Huiag

(i) 1 decimal place
Sol. (i) 438.75=439
(ii) 438.75=438.8

Sol. 3

fyE/

KUrinfiy
L Lol

How many significant figures does 0.0789 have?
L e infifon .

* Rounded -53278 to the 2 significant figures and

three significant figures.

-g{fd Tjimfu
Sol. 53000 and s 53300

2
*  Round '?—

N to the

(I) 3 decimal places

(i) 2 significant figures

Al rifind -

LA

2 !

Fyrsfl
4_‘—--"

|
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P A St SRR T—
A e I

N fgnifieant fyu s N 3 v .
(itt) “4‘\! ‘ ity f (N) 1 (3 slgnificant flgures Jd"”ﬂ'b{)
< w ) IKISININ i
ol 1y L an ) 1 2
RN 182 :

: L3
Find the approximated value and ervor. Also i () | 17 (3 decimal places J',/W'/Q- M\a{)
explain regarding the reasonableness of the

a2
solution. 5 Sol. 57 0.81481 ~0.815
f.wbrﬁ-—-#t“‘JJ’c-\{/‘)"u‘in'-‘fﬁﬁuh' P g
soh App\'\.‘“mlll‘d produuL LS5 =420 § (iv) To O significant figures rir/if)
A el ¥ i
Actual product « A6 ’:' =283~ 152=4306 i Sol, f—;u 142108 = | 42
Error ¢ 43016 - 420=10.16 e
Error is not small so solunon 1S not reasonable. i) 5y O decimal places o, ,w:/;_,.gf )

ek J" \J’g—v” hdﬂdf{—‘s”d‘

17
: Sol. .5 0.698113 = 0.698
Solved Exercise 1.5 St B
.,..oos.ooooocooo.o.oocool 7

1. Round off the following to the given degree ol i (Vi) g3 O significant figures -‘U"'f'd )
accuracy. ..Q/)fb-&_nﬁ\ﬁ:ﬂti‘t# 3

@) 87932 (2 significant figures Uyt /A1) i Sol. £3=0.997713 = 0,998
Sol. 8793”; 2230:)'(: . P a 2) 4 nound the following to the required of accuracy.
(i) 3890 (3 significant figures EUywef 1L :
Sol. 3890 = 3890 : L D3P, A s i
(ili) 790253 (2 significant figures “E e Tin) (') 25.359 (2 decimal places /18215 m)
Sol. 790253 = 790000 . 50! 25.359 = 25.36

£ (v) 10025 (3 significant figures Euriefiios) £ (i) 0.002897 (3 significant figures Furie(iid)
Sol. 10025 = 10000 X
(v) 18954 (3 significant figures FUrin/igd) ‘ml 0.002897 = 0.00290
Sal. 18954 = 19000 { () 0.0878 (3 decimal places £y1421,/% uef)
(vi) 25980 (3 significant figures -FUVA(:‘Q‘.) 5 Sol,0.0878 = 0.088
Sol. 25980 = 26000

2. Round the numbers away from 2010 (o, as 'W (h) 17.00597 (J Sl!"ln@lﬂl ﬂ‘lll‘(l h‘UJ’ﬁi‘,IJ)
-4/}s:,,»‘)4m¢u.f...y,3,.d, i Sol, 17.00897 = 17,0 '
(l) -27.3289 (J significant figures) Jurnflgc )i i (v) 0.0005246 (3 significant figures Jurnﬁl;t )

- —;; 3’89 - "’7 3 " F ) 50! 0.0005246 = 0.000525
o
(So)l. 59 Ogg f_f :f;‘mc“t A Al (\i) 13.5876 (3 significant figures -ﬁer(’th’)
(i) 12869 (3 significant figures ..Furhﬁ'wf) § Sol. 13.5876 = 13, 588
- Sol.-12600 5 Compare you approximated value and accurate
- (W) ~17.238 (2 significant figure Lrirfin) i value. Also check is the solution reasonable or not.
L Sol-17.238= 17

’ (v) 0.003857 (3 sigmificant figures Furafid)

F

|

J"’inufu‘&k-J-r—W'-qLJir(fmm(’k)w
S0L.0.003857 = 0.00386 -

- (V) 0.0467483 (3 significant figures ...Furnﬁk;) (i) 4281 + 2.157 (2 decimal places L8412 .2)
S0L.0.0467453 = 0.0468

Sol Approximated quouem =428 + 216 = | 9815
 Round the tollowing to stated number of decimal | Sl ¥
mf)" signiticant figures. ' Actual quotient w o} =428 - 2157
AWk Urifing al o 49\ o St tamsy | = 1.98470
0 2 0 ucaine { o Enor e 198470 - 1ogis
% ant figures) (..furh(ﬂn) : = 0,001
H \ -~
™ {1 csifi=sia f Error is small. So solution is reasonable.
i

Av
T — ,._"3‘;, o vT—J" ‘l‘\’

5
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(if) 3.348 - 2.104 (2 decimal places /441 /z_,2)
Sol. Approximated difference  =3.35-2,10=1.25

=70 +[10 +20 -2{11-2}]
=70+ [10 +20-2{9}]

Al F =70+ (10 +20— 18]
Actual difference  J/ 1 =3.348 - 2.104 =70+[30-18)=70+12=82
= 1244 (i) 25 [5+ (28— (16+ 4 +12)}]
Error ¢ = 11244 - 1.25] Sol.25—[5 + {28 — (16 + 4 + 12)}]

' =1-0.006| = 0.006
Error is small. So solution is reasonable,

- Pl e bt gend®
(iif) 2281 x 3.567 (2 decimal places .51,/ _,7)
Sol. Approximated product =229 x3.57

Lol =8.1753
Actual product A/ U} =2281 x 3.567
. =8.136327

=25-[5+ (28— (4 +12)}]
=25-(5+ {28 —16}] '
=25 [5+12]=25-17=8

(iii) 12 X 8 = [64 — {18 +(9— 6 - 3)}]

Sol. 12 x 8- [64— {18+ (9~ 6-3)}]
=12 % 8—[64— {18+ (3 -3)}]
—12%8-[64-{18%0}] |
Solution is impossible. -

I e R R A A A S A A R A A A A e (AR

E y P(iv)9x3-[28-{12+(10~6 - 2)}]
e S = 813632781759  Sol.9x3—[28—{12+(10-6=2)}] -
=-0.0389) = 0.0389 :

=9x3-[28-{12+(10-6+2)}]
—9x3-[28-{12+6}]
=9x3-[28-2]
=9x3-26=27-26=1

(V) Bx9-[32-{24+(8-4-2)}]

Sol.8x9-[32-{24+(8-4 - 2)}]
=8x9-[32-{24+(8-4+2)}]
=8 x9—[32- {24 = 6}]

The value of error is small. So solution is ?
reasonable,

e IPULUle feining
Sub-Domain: (ji):

Simplifi_;atio'h - B

PRERPRERRRIIRN

“ Find Answer: : s [ fis_12

Ay

I =8x9-[32-4] Al
» 12+3_3+3_5_6=m : o R 9-28=72-28=44 ST L
Sol. 12+3-8+3-5_6= . [ i
3-5-6 E 5(vi) 21_32_+-1%x{]%+[2%+1_1._21)}0”3}
“ Solve: : 7 ! SR faek i
¢ 68+2x2+4=[7] 3.4 |1 (.1 51 1 1
gt 2= 12012+ 22 412 a0 Bof s
Sol.68 +2x2+4 =17 Aol ¥ {3 (2 3 }}0 _3]
. 42 § [ ¥ i - Y :E = :i—v ;
" Challenge.;é‘} =?_;_ gx{i+(§+‘i_1§)}g,f§]x. it
*  Use each of the digits 1, 2;3:4,5, 6,7, 8, 9. Place : ES B 3 b0 S ,
appropriate operation, symbol and brackets to : 41, 159 |4 15+'8—13,+L!5 ‘, %
drive given answer. : _E—Lgx §+ ‘"‘6—') °f§ L
S Sl £1,2,3,4,5,6,7,8,9 - : -
SR L e Sk pnlents T =T -—X{i+lg}x-5~]‘ :
Sol. 4x2+(1 x3x5) 23 § 12 ES 3 6J 3
8+2-3)+6x1+7 14 2T gx{8+10 S
(5+6+2)+9-1 16 12 {5 | 6:-Ji3
9-2%x5)+3 2 - i
6+3+7)+8x4-2 1
( ) 22 5 =£.ﬁ. _?_x&of_x_ :
|| Find Answer: : ./ /fr 17 || 2 k8.8 .8 ¢
: [ 1 %
e 12x14+2=[7] !
Sol. 12 x 14 +2 =[84] R/
: s t 12
Solved Exercise 1.6 ,
1. Simplify the following. A e ¥ 20 1)
() 70+[10+20-2{8-2+3}] - g 4
Sol.70 + [10 +20 - 2{8 -2 +3}] S Y R R e

https://stepacademyofficial.com/
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" a - .Jh. 3 ¥ " ¥ ! B 2 L o & J " i 1t M " i}
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i

Mo {20 13
-i i 2! & 4 Sub-Domain (iff):
1, $,18) Sets
13 3 5
l
”.ixw 1417 BraInTesl _ (}1}
1Y 9} 5 63 63 0 & ie Tick (/) which are sets a0 cross (X) which ,
! , - not sets, "
(xi) 3 +11.25 X 3.85 + (5.64 - .7 + 1.4))| - BB X gy Hernis ATV, O
Sol. (3 + {1.25  3.85 + (5.64 - 27 7 T4)) j e R D |
=[3+{1.25x3.85+(5.64 - 2.7 - 1.4y} B eguial') ¥
=[3+ {125 3.85 = (1.54))] s vt dor 3 D = !Red, Blue. Grcu BI =2 m
=3+ (125 % 3.85+ 1.54)) \ Skill Pr? ice: 7 J;V
=[3+{1.25%25}] - ~ A=, 7 8! put € v &1 riven boxes,
= 2511 = _ -/UK'-'LEL;UQE.'_
" B3+ {(3.125}]= 3 +3.125) = 6.125 Sol.()2€]A (i) (i 2[E] A j
(xii) [2.35 + {12.099 + (1.45 - 2.1 x 1.23)}] — =

Sol.[2.35 + {12.099 = (1.45 - 2.1 x 1.23)}]
‘ =[2.35+ {12,099 = (1.45 - 2.583)}]
=[2.35 +{12.099 = (-1.133)}]
=[2.35 + {12,099 - -1.133}]
=[2.35 - 10.68] =-8.33
(xiii)15.165 + [2.125 + {3.04 - (2.75 x 2.06 - 2.02)})
Sol. 15.165 < [2.125 + {3.04 - (2.75 » 706 - 2.02)}]
= 15.165 = [2.125 + {3.04 - (2.75 x 0.04)}]
=15.165 < [2.125 + {3.04 - 0.11}]
15.165 = [2.125 + 2.93] '
15.165 = 5.055 = 3
(xiv) 0.8 x [4.9 x {0.555 + (0.2 + 0.02 + 0.002)}
Sol.0.8 = [4.9 » {0.555 = (0.2 +0.02 + 0.002)}]
=0.8 » [4.9 x {0.555 = 0.222})
=0.8~[49%25]=08x1225=98

1]

(xv)5.2383 + [1.026 + {1.123 x (9.261 + 2.345 +

5.432)}] * 2.03

Sol.5.2383 = [1.026 + {1,123 = (9.261 + 2.345 +

5.432)}] > 2.03

=5.2383 ~ [1.026 + {1.123  (3.949+5.432)}]x2.03

- 52383+ [1.026 + {1.123 x 9.381)}] « 2.03
= 5.2383 + [1.026 + 10.535] x 2,03

* 52383 < 11.561 » 2.03

- 0.4531 % 2,03 = 0.9198

?m:ain'M ,': i

—_—

® Thecollection of fix. mori'.« is a svt or not, If no
then explain.

-q_’f.:.-*. L:_ _—-';)f(uy"&‘

Sol. It is not set because .- 1~ not w. de.l

- " - = -E’:.KC.- u:‘l:;_":

.
.
-l
-

1. Write the tollowing se+ - dar froe.

R Y R N N R N NN Y

R F R EEREREER R TR Y

- T Mt fine
(i) A=sctofthefirst .. v unber.
bl
Sol.A=1{1,3,5 7.9} 122 Dy
(ii) B =set of the davs oi nee arfusla
Sol.B = {Monday. Ty
Friday, Saturday. S
(iii) C =setof the last ;. " .,

fdedadanr

T

LERRE}

et Thursday,

e el
KR SN 1Y
$ S0k C={v,wx,y. v!

2 (iv) D = set of even nu.. gr oor 0 9 and les

lhan 25. w1 .--...r'.;..)f,.-‘_...’snlﬂ—lﬁ-’
Sol.D = {10, 12, 14, ....... 24)
(V) E={x|xeZA-9<xg 12}
Sol.E = {-9,-8, -7, -6, ....... 10. 11, 112}
(Vi) F={x|x € 0)
Sol.F = {£], +3, £5,+7,...... }
(viDG={x|x e NAx<15)

NI dN I datdadaadiinndadey

LR R R R R R RN}

- $SolG=(1,2,3.4,..., 13, 14}

(viii) H = set of first seven prime number. ;
\ o bila Ml

teddecaingenn

Sol.H={2,3,5 7 11, |3.<|7}

Iy
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1 3 (NIt S8

p W s e dm?’v:;;‘o?,‘ N7 i (VDG = set of add numbers between 24 and 38,
P o & U S : " .

g A=136,9,12.15,18,21) i S0LG = {x|xe0n2d«x=3B)

l;:.l. A = set of multipls of 3 less than 24, (viii) H = {10, 20, 30, 40, 50.,.....,100)

' -3 e 24 § SoLH = (x| x e N, x is multiple of 10 ~ x < 100}
1, ¢, f,gh,i et 4

[ B'&'{aqhq‘.t‘qev ‘g’ Oyj’k,l,“]} E -
i@ ‘::,n - set of English alphabet from a 1o m. ) Try yourself: :JUIJ:"

-Mngsiédz)’l.ch,a :®  Write the set which has no proper subset’

Which set has only one subset? What is the
difference between {a, b} and {{a,b}}?

-L:J'?uﬁdfmfnf.tmf."qcz_ﬁhsﬂfd-j&ru'

N T O/ {{a b)) ool [a, bYe= bt

Sol. The empty set has no proper subset. Empty set has

only one subset. {a, b} has two elements while
{{a,b}} has only one element.

N O () b’_-.:du_m,:-’_-f: C‘}w’.‘)\:‘;"-'-': v

1A Qabh) S a2 Sl tab) o

Brain Teasure: : & ﬂ

. o

(;ﬁ)C ={y|y € E}
gol. C = set of even numbers. L Kl
(“) D= {ia‘. iS., E = TR :£20}
Gol. D = set of integers greater than 3 and less than 21
" and there additive inverse.
-;-:'K'J:K‘d‘fﬁulnbulé‘é_:{r_ﬂAf.:_z;.-3
NE:{“:&NAXSSO}
Gol. F = set of natural numbers less than and equal to 50.

~ L Kilul 3,3 50
\‘i)F={0~ L5545 } §
(SoI.F = set of whole numbers, AN :

)G = 113,17, 19, 23,29, 31,37}

Sal. G = s OF IS TTRMDeCs 123 80137, * Tick (¥) which are equal sets and eross (X)
| crblabPfdie3i Rk are YEEICR k
- i g b o " .
(it = (25,30, 35, 40,45, 50, 35) L USRI G (£ Ui
Sol.(l) A.—_{A'O‘D};Elz{“‘;‘s} @
Sol. H = set of multiples of 5 greater than 20 and less

(ii) A = {Amna, Ali} ; B = {Ali, Amna) 4
Skill Practice: : 3 3,1

—_—
¢ Make at least two pairs of equivalent sets using
real life objects.

-glfhsJﬁj)ﬁlféu;{-})m%?’\;;ﬁj:e
Sol. A = {book, pen} ; B = {chair, table}
A= {1 B = (e
C = {hockey, bat, ball} ; D = {mother, father. son}
C={dpiusd ) 1D = fuhc b

Solved Exercise 1.8

1. Write two proper and improper sub sets of each ol
the following sets.

_U:J :.{(3? -2 /.{ .._fbﬁ...;:bunﬁ e A \,;': Sudeat

. . - » .
than 60, B 5L e 60Ul e 20

3. A= (1,2, 3, 4,5, 6}, then fill in the blanks by
using symbol € or ¢.

S beiecrlbdoIna = (1,2,3,4,5,6)/
Sol. (i) 2eA (ii) 7¢A (iii) 4.€A
(iv)6e A (v) 3eA (vi) -S¢A
(vii)l0 g A (viii) 5 e A
4. Write the following sets in set builder notation.
-u..‘duﬁjl.—(! Jard s Spuie
() A =set of natural numbers less than 50 and

divisible by 4. . erBlald i yal He 50

-
-
a
a
-
-
-
-
-
-
L4
-
-
-
.
v
v
.
-
-
-
-
v
-
-
-
-
-
-
-

Sol. A= {4x|x € N A x < 50}
(ii) B=set of integrs between -5 and 5.

-érﬁlx‘gc}w:é-&;ls
S(;I.B:{x|erA_5<x<5} (i) A={a,c,d}

(i) C = {1,3,5,7,9, 11, 13, 15) : Sol. {a}, {c}, {a, ¢ d)
SolC={xix e Onxs15) i () B=2,4,58)
(W) D = (10, 11, 12, 13, 14,....,25) - §50L{2,4), 14,6}, {2.4,6,8)
Sl.D = {x|x e Nal0<x<25) } I £= =1, 24}
(V) E = set of the last five solar months, Sok {1}, {0} 110,41
P i i .‘q»’urcz_um’&w)r : 2\: n' " 8116

' % € Name of last five solar months} b {4} {12), {4, 8, 12,16}
T=20,-19, <18, 17,000, 1,2, 3, 4,...,20)  § (V) E=(A,0,0)
' i Sal. (A}, {O), {4, 0, O}

) p

MY p "
bl {KIX(/.A~2()SX520’

—
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=y 3 s . .

?I (\'\i) F = (Zara, Aslam, Zeshan} ks !‘*"'ry'u“ﬂ’l i(MP=12,35711},Q=14,6,8,9, I(D,TZ}\J

\ ; . g o L B B 4' (i ’ 99 ]

\ Sol. {Zarau;}.{Aslam(‘"’,{Zaraw.z\slam("'h?.cshanulfd!} § o Lr?()) so{ticzc :erZdiIs]'(})i:t :cls) swlf lj,}l,‘

2. Which Is the super set In each of the following pairs V) G ix,y,%),H® {d VW x ;;} a7 W)
ST v % » MESE s Yy Wy Ay Yy

of sets. -f—“‘fd"'f"{""xu’m‘b‘f‘“”[‘u“’ Sol.GNH = {x,y,z} N {u,v,w,x,y,2}

@i A={acd},B={ab,cd) = {x, ¥, z] so, there are overlapping ses,

Sol.Bp A -u_r_-{‘?;,/.‘
i) C=1{0,2,4,6,8},D={2,4) (vl»l ={3,6, 12} ,J = {January (.52, February 6 .
April J 4
Sol., 3 :25 e Sol.INJ={3,6,12}~{January$,5* ,Febmaf}’l-‘ﬂ/..l\pri[d‘,’,')'
)N = (1,2, 3,0} , W= {0, 1, 2,....
( ; } = { } so there are disjoint sets, -U_"-'r.rmf‘w{‘,,i
Sol. W N g ity
(iv) E={1,2,3,...10}, F = {0, 21, +2,..... 10} Skill Practice: : 5™ ‘.WJ
SoL.LFoE " ¢ If A = {Monday &, Tuesday (ﬁ‘, Friday .7 an
® L={u,v,w,x},M={u,v,w,x,y,2) 41 B = (Tuesday ) then find ANB. Als dry
Sol. Mo L yenn diagram,
3. Look at each pair of sets and separate the equal and ; S°l- A"B = {(Monday &, Tuesday S, Friday ~Z)n
equivalent sets, - % (Tuesday £,
-J ):l.‘.‘ oAbfu;rJJ'f/:ldJV;qu_Jﬁﬁd:u;:‘ = {Tguig )
() A={1,3,5,7,9),B={a,b,c,d,e} u
Sol. Both sets have same number of elements so these Monday B
are equivalent sets. £ Tuesda
_ . y
Uiz e sl Skl useuh _ :
(i) C=1{0,2,4,6,8},D= (0,2, 4, 6,8) i o
Sol. Both sets have same elements. So these are

equal sets. -7 ersbry L Uit ELSGIL Uiy
(i) E={1,2,6,7,8) ,F=(6,7,8,1,2)
Sol. Both sets have same elements. So these are
equal sets. -t Latfiloy It SELIIL U hs
(iv) G ={1,2,3,...,20} ,H = {1, 2, 3,.....,20}
Sol. Both sets have same elements. So these are
equal sets. -t iribad Uit ELigiil uieuhn
(v) I={Sunday, Monday} , J = {Wagqar, Ali}
Sol. Both sets have same number of elements so there
are equivalent sets,
Uiz d Ve dod SybIL Uyt
4. Look at each pair of the sets and-separate the
disjoint and overlapping sets.
_q’fj l.:{.,/l;mfy.-:m" . K ub:'u.‘{:/giﬁﬂﬁu;!
() A={7,8,9},B={a,b,c,d,e)
Sol. AnNB={7,8,9} n {a, b, ¢, d, e}
/ = { } so there are disjoint sets. -u'_u::wf‘wf‘,_im
(i) C=1{0,5,10,15},D={0,5,8,9, 15}

Sol. CAD = {0, 5, 10, 15} ~ {0, 5, 8,9, 15}

" Try yoursell: : J.,75

® ‘Write two sets whose difference is empty set.

10Nl
Sol.A={4,5,6},{1,2,3,4,5,6) then - A—B =}

" Skill Practice: : ¥ JA(

* Provethat /=t A—-B=B-Aif /i
A={2,4,6,8,9 and » B= (2,8, 11, 12}
Sol.A-B=1{2,4,6,8,9} - (2,8, 11, 12} = {4, 6,9)
B-A={2,811,12} - {2,4,6,8,9) = (11, 12)

So Ut A-BzB-A

Solved Exercise 1,95

1. Find the union of following sets.
LIy Lot
() A={1,4,7,10,13},B={2,3,5,8,9)
Sol. AUB ={1,4,7, 10, 13} U {2, 3, 5,8, 9}
: ={1,2,3,4,5,7,8,9, 10, 13}
(i) C={0,2,4,6,8,10},D={0,1,2,3,4,6,8)
Sol. CUD = {0, 2,4, 6, 8, 10} U {0, 1, 2, 3,4, 6, 8)
={0,1,2,3,4,6, 8, 10}
() E= {a, b, ¢,d, e}, F= {a, ¢, i, 0, u}
Sol. EUF = {a, b, ¢, d, &} u {a, ¢, i, 0, u}
={a,b,¢,d, ¢, i, 0,u)

= {0, 5, 15} these are overlapping sets.. fr/17
(i) E={1,2,3,4,5,6),F={1,3,2,5,6)
Sol. EAF = {1,2,3,4,5,6} n{1,3,2,5,6)
={1,2,3, 5, 6} there are overlapping sets.
-t

R R R L R R R R R R L . ., MM T, T, T T T TrOTTTTTmTErTITTTTIr A A A S A R R A A T S R Y I R Y
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N ” 4l te——" i~
|‘,G- “-2"“;"““" yH= (0, 1,2,3, 4, 6, 8,9, l“l § (i Yz
( Gut = {1 23000101V {0,1,2,3, 4,6, 8,9, 10) P SoLY\Z={1,2,3,4,5) - (1,3,57) = (2,4)

LSk 10,1,2,3,4,5,6,7, 8,9, 10) i (i) X\z
: find the Intersection of the following, : Sol.X\Z = (0,2, 6,9, 10) - (1,3,5,7) = (0.2, 6,9, 10)
- LR e | (V) ZY

g sembnden, T=ite e £ Sol.Z\Y = (1,3,5,7) - {1,2,3,4.5} = {7)

Sf\T = {S. tude, n} A “’ ¢ a,ch, !'} 5 {tb C}
@ gy U=(0-b-H 3V =(0,1,2,3)
sol. UnV = {30,5-17. —12]’ _133}} r\x{(.); [‘; 22’ 3}=10) If U = set of the name of months of a year
(ul)W" {2 ’2 5 ’5 7" 1 ;3 0,2,4,6,8,9, 10) : A = {January , June, July} ,B = (March, July,
woX=1{2.3,5,7, 11, 13} 1 {0,2,4,6,8,9,10)= {2) October, November, December).

T Practice: -7 /¢ I

sol

PERERRRERIIRRIRR D

Sol-
' .:{0,5 10, 18, 20) yZ={0,1 2.-...} £ €= AC~RC
() 2 =10,5,10, 15,20} A (0,1, 2,.00) I e AT
So], 0.5 10, 15 20] v, : Sol. L.H.S
= {0, 9 "V Lo, i AUB = {January, June , July} U

(23]

i N = {1'} 3,.....} and »/ W = {0, 1, 2,3,...}, 2 {March, July, October, November, December}
then find £ /77" NUW and s/ NAW, 1 = {January, March, June, July, October, November,
SANOWIH W = 0,1, 2,3, 04N = (1, 2, 3,0} December)

"

gy by &9y

: L/ NAw | (AUB)® = U - (AUB)°
LNOW=1{1,2,3,....} U {0,1,2,3,.....) : = {January, February, March,...,December} ~ {January,
ol ={0,1,2,3,...} i March, June, July, October, November, December}
NAW = (1,23, 0 {0,1,2,3,....} = {1,2,3,....} i = {January, February, April, May, August, September}
hf i, HE={0,2,4,...}and 0 = (1,3,5,.....}, then find R;:H-S :
" g0 and s ENO. iA'=U~3 |
TEU0HO = (1, 3, S HE = (0, 2, 4ynd /i & ={January, l;‘ebruary. March,...,December} — {January,
: 2 T e ™ i June, July :
"‘l’?’w ED %= {February, March, April, May, August,...,December}
= 345,03 B°=U-B

| GE0= (02,40 U (13,500

{January, February,....,.December} — {March, July,

October, November, December}

{February, April, May, June, August, September}

CnBC

{February, March, April, May, August,....,December}

A {February, April, May, June, August, September}

= {January, February, May, April, August, September}

(i) (ANB)¢ = A°UB¢

Sol. L.H.S

AHB = {January, July, June} N {March, July, October,
November, December} = {July}

(AnB)¢=U - (ANB)*

EA0=1{0,2,4,...} n {1,3,5....}={}
5, If P = set of prime numbers, C = set of composite
number then find PUC and PC.
/P#POCHPUCIAC = Ll PP = L il M
SGLPUC=1{2,3,5, Ty} U {4,6,8,9,.....)
={2,3,4,5,6,7,8,9,....)
PAC={2,3,5, 70} N {4,6,8,9,....} = #
6 11U = {1.23,....10}, X = {0,3,69}, Y = {0,4,8}
and Z = {0,2,4,6,8,10} then find.
AY = (0,4,8) X = {0,3,6,9)U = {1,2,3,.....101.1
LT = (0,2,4,68,10)

(| e S |

) X° T
' SLX =U-X={123,....10}-{0,3,6,9} = {January, February, March,....,December} — {July}
={1,2,4,5,7,8,10} = {January, February, March, April, May, June, August,
(i) Y¢ September,....,December}
Sl Y=U-Y={1,23,...10}- {0,4,8) R.H.S
| (m) Z(‘ ) {112’3959697’9|10} Ac = U s A
| SLY =U-Z={123,....10}- {0,2,4,6,8,10) = {January, February, March,....,December} — {January,
={1,3,5,7,9} June, July})
(v U = {February, March, April, May, August,....,December}
SoLU=U-U={123,....10}- {1,2,3,....10} ={} IB°=U-B

L IX = {0,268 10}, Y = {1, 2, 3, 4, 5} and ; = {January, February,...,December} — {March, July,
c

2= {1,3,5,7} then find. October, November, December}
Z={135T)4Y = (1,2, 3, 4, 5}X = {0, 2, 6,9, 10}/{ = {January, February, April, May, June, August,
September,....,December}

‘(‘li“‘.‘l!11011OI‘I!lll.‘l.‘l‘lllllQll(llillﬂﬂ."'4‘l‘l!.‘l....""‘!‘ldll‘.‘lt‘ll!|l‘l4|41¢llIlllI‘l‘(‘li.lbbi.b)b!b)’l

Sol. X\Y = : = ([ i oust,....,December
\i {0,2,6,9,10}) -{1,2,3,4,5)={0,6,9, 10} {February, March, April, May, Augus ¢ }

https://stepacademyofficial.com/
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f

v, v {January,

A"

-

February, U\n’rl!

August, ...,December}

= {January, February, March, April, May, June, :

August,....,.December)
ify =
numbers then prove that AUA = U, AnAS = $

fg[/.:ft;ﬂ--’ islaR = A2y (,t,lj,,;g Uf

AUA® = U, ANA =¢

Sol. AUA“=U
A=U-A={1234,..}-{2,468,..)
*LIAT )
AUA®={2,4,68....) U {1,3,5,7,....)
= {1,234,....)
= U Hence proved PO
ANA“=¢
A*=U-A={1234,..) - {2,468,... }
=357}
ANA"={2468,..} U {1,357,..}
={} or ¢ Hence proved Iyt B

‘ : Ay
Solved Exercise 1.10." V

U={0,1,2345,.. .29} ,A = {1,357.9,21, 24},
{510152025},(: = {2,4,6,8,14,16,18,24)
and D = {15,16,18,21,24 ,29} the verity following.

-u_’/d_.ﬂ&,!u;y

1.

(i) AVA‘=U
SoLL.H.S = AUAS
C=U-A
={1,2,34,5,...,25} ~ {1,3,5,7,9,21,24}
={0,2,4,6,8,10,12,13,14,15,16,17,18,19,20,21,22,
23.25)
AUAS = {0,1,3,5,7,9,21,24} U {0,2,4,6,8,10,12,13,14
15,16,17,18,19,20,22,23,25)
={1,2,34,5,...,25}) =U
R.H.S = U Hence Proved tsr=.
LHS=RHS AUA*=U
(i) AnA =U
Sol. LH.S = AnA®
A° =U-A
={0,1,2,3,4,5,....,25} - {1,3,5,7,9,21,24}
= {0,2,4,6,8,10,12,13,14,15,16,17,18,19,20,21,22,
23,25}
{1,3,5,7,9,21,24} U {0,2,4,6,8,10,12,13,14,
15,16,17,18,19,20,22,23,25}
=¢ or {}
R.H.S = ¢ Hence Proved In= ¢
ANA®= ¢
(lii)) BUB“ = U
Sol. .H.S = BUB®
B =U-B
= {0,1,2,3.4,5,...,25)
= {0,1,2,3,4,6,7,8,9,10,12
23,24}

ANAS =

- {5,10,15,20,25}

May, June, i

set of natural nnmbers. A = set of e\zem

={) or &

SERRRBBRIRIIINY

,13,14,16,17,18,19 21.-‘..

‘BUB® = (5,10, 15,20,28) v {0,1,2,3,4,6,1.8, TR
l41617l8l0,212223 24) i
L= {12,34.5,...24,25) = U
: R.H.S = U Hence Proved Intes b
‘BuB‘=U
S (iv) BB =¢
:'Sol.L.H.S = BNB*
iB° =U-B
~ —{01,2,345, 25} - {5,10,15,20,25)
=(0,1,2,3,4,6,7,8,9,11,12.13,14,16,17, 18,1921 5
23,24)
BAB® = {5,10,15,20,25) ~ {1,2,3,4,6,7,8.9,1] A28
16,17,18,19,21,22,23,24})

_RHS ¢ or { } Hence Proved ls»r=t
: BB =¢
i(v) CUC'=U
: Sol.L.H.S = CuC®
Cc* =u-C
={1,2,3,4,5,..,25} - {2,4,6,8,14,16,18,24)
= {0,1,3,5,7,9,10,11,12,13,15,17,19,20,21,22,23 35
CuC‘—{02468l4l6l824}u{0|357910|]
12,13,15,17,19,20,21,22,23,25)
= {1,2,34,5,..,24,25} = U
R.H.S = U Hence Proved Iyt
CuC'=U
: (vi) CNC=¢
.SolLHS CNC*
3L =U-C
P ={0,1,23,45,.25) - {2,4,6,8,14, 1618,24}
—{0135791011 12131517192021222375}
-{2.4.6,8.]6,1_8,24)n{0 1,3.5,79.10,1 1.12,13.15.I7.l920.22.23 Ll
={}or¢
: RH.S = ¢ Hence Proved Iyt
:CACE=¢
i i (vii)DuD® = U
: Sol. L.H.S =.DUD®
iD° =U-D -
={0,1,2,3,4,5,.. ,25}—{1516182!2425} &
—{0123, +14,17,19,20,21,22,23}
D= {15,16,18,21 ,24,25} U {0,1,2,3,
20,22,23} .
={1,2,345,..,24,25} =U
R.H.S = U Hence Proved In=t
DUD®=U
(viii)DAD* = ¢
Sol.L.H.S = DAD®
D =U-D
={0,1,2,3,4,.. 35}~{15|61321242<}
{0123 ,14,17,19,20,22,23)
DAD® = {15,16,18,21,24; 25} " £0,1,2,3,
20,22,23)
=¢ or {}
i R.HLS = ¢ Hence Proved trest
i DUD =

Beby

PrrraaRRe

“ddeaae

14,17,19,

------

1940449484 ae

nnnnn
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!I‘

(AUB)C=U—2(M]B) intlefs
={1,2,34,5,..,20} -
{2,4,6,8,10,11,12,13,14,15,16}
={1,3,5,7,9,17,18,19,20}

). verity S (W) A B and
" A~Be=ASUBS where 2 U = {1,23,45,...,20)
A= "’7s9} ’ B= {2$4i7i9’12,15}

Dl.’l.’l“...llb.l‘b

0 v
sal.(AUB)" = A“B" R:H:S } - {2,4,6,8,10; :
LHS EAC = U-A= {1234,5,..20) - (24,6810}
B =ALIA S OALRSIN = {1,3,5,7,9,11,12,13,...,20}
= {1,2,4,7,9,12,15} 1B = U-B ={1,2,3,45,.,20} - “1,12,13,]4,15,16}

(AUB)° =U-(AUB)* . .
={1,2,3,4,5,..,20} - {1,2,4,7,9,12,15}
= {3.5.6.8,10,11,13,14,16,20)

= {1,2,3,4,...,10,17,18,19,20} )
A°ABC ={1,3,5,7,9,11,12,13,...,20} 1
(12,34,..,10,17,18,19,20}
= {1,3,5,7,9,17,18,19,20}

o
(ilf) A = {1,3,9,11,13,15} , B = {11,13,15,17}

AC = U—A e {]2:3,4""!20} i {137:9}
= {2,3,4,5,6,8,10,11,12,......,20}

Sol.
¢ = U-B ={1,2,3,4,..,20} - {24,7,9,12,15} = ASABS
B ={1,3,5,6,8,10,11,13,14,16,...,20} 1 H(SAUB) A‘~B
A°AB¢ = {2,3,4,5,6,8,10,11,12,......,20} N AUB  ={139,11,13,15} uB = {11,13,15,17}

I R T T S Ry e e Y A L

{],3,5,6,8,10,11,]3,14,16,...,20} ) - {1 39’11’]3,]5,17}
Hence P?Ved =t (AUBYF =U — (AUBF
LY, = {1,23,4,5,..,20) - {1,3,9,11,13,15,17}
(AnB)° = A°UB = {2,4,6,8,10,12,14,16,18,19,20}
LH.S RH.S

ArB = {179} A {2,4,7,9,12,15) = (7,9}
(AnB) = U~ (ANB)°

= {1,2,34,5,....20} - {7,9}

= {1,2,3,4,5,6,8,10,11,12,...,20}

Ae =U-A=({1,234,5,..20}-{1,3,9,11,13,15} -
= {2,4,6,8,10,12,14,16,17,18,19,20}
B¢ =U-B={1.234,5,..20} —{11,13,15,17}
= {1,2,3,..,10,12,14,16,18,19,20}
A‘~B¢ = {2,4,6,8,10,12,14,16,17,18,19,20}»
{1,2,34,...,10,12,14,16,18,19,20}
={2,4,6,8,10,12,14,16,18,19,20}
Hence proved (Isr=:¢)

ll‘ﬂ"l."l“l'll‘ll(“l“lll!(‘l‘ll!!I‘C“ll.(‘l‘i!lt(((‘!‘1‘0(44.DhbbblllliiiliID’DDDUDD.l'l!b)‘ll.i.bl’

RH.S
At = U—A={12,345,.20} - {1,7,9}

= {2,3,4,5,6,8,10,11,12,....20} |
B¢ = U-B = {1,2,3,4,5,..,20} — {2,4,7,9,12,15}

= {1,3,5,6,8,10,11,13,14,16,17,18,19,20}

L.HS=RH.S
ACUBC = {],2,3,4,5,6,8,]0,1 15123'"»20} v (AnB)c= ASUB®
{1,3,5,6,8,10,11,13,14,16,17,18,19,20} LHS )
- {1,%,3,4,5,6,8,10,1 1,12,...,20} AUB  ={1,3,9,11,13,15} nB={11,13,15,17}
Hence proved v = {11,13,15}
LHS=RH.S (AnB)* =U-(ANB)

() A={2,4,6,8} , B = {11,12,13,14,15,16}
Sol.(AnB)® = ASUB®

{1,2,3,4,5,..,20}-{11,13,15}
{1,2,345...,10,12,14,16,17,18,19,20}

> RH.S \
AnB = {2,4,6,8,10} N {11,12,13,14,15,16} = { } AS =U—a = (L2345, 300 - (139.41,8845) *
Aalr=U oA N = {2,4,6,8,10,12,14,16,17,18,19.20}
= {1,2,34,5,...,20} - { } B =U-B = {12345, 200-(11.13.15.17)
" RHS =A% 20} ={1,2,3,4,...,10,12,14,16,18,19,20}

ASUB® = {2.4,6,8,10,12,14,16,17,18,19,20}u
{1,2,3.4,...,10,12,14,16,18,19,20}
= {1,24,...,10,12,14,16,17,18,19,20}
(iv) A = {1,3,5,7,9,11,13,15},B = {2,4,8,10,12,16,18,20}
(AUB)t = A*AB* -

A =U-A={1234,5,..,.20} - {2,4,6,8,10}

| ={1,3,5,7,9,11,12,13,...,20}

| B®=U-B=(1234,5,..20} — {11,12,13,14,15,16}

' ={1,2,3,4,5,6,7,8,9,10,17,18,19,20}

AUB® = {1,3,5,7,9,11,12,13,...,20} U

{1,2,3,4,5,6,7,8,9,10,17,18,19,20}

={1,2,3,4,5,...,20}

i- (AUB)® = A°~B°®

' LHS

AUB  ={2,4,6,8,10} U {11,12,13,14,15,16)
={2,4,6,8,10,11,12,13,14,15,16}

Sol.
(AUB)® = A°1\B*
L.H.S ; ;
AUB  ={1,3,57,9,11,13,15})u B={2,4,8.10,12.16.18.20}
={1,2,34,5,7,8,9,10,11,12,13,15,16,18.20}
(AUB)® = U - (AUB)®
={1,2,34,5,..,20} -

GO da eI aaqiaaqedieqedtqaqaequiqeeq
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{1.2.3,4,57,8,9,10,11,12,13,15,16,18,20)

= {6,14,17,19)
=U-A

= {12,3,4,5,.,20)-{1,3,5,7,9,11,13,15)

= (24,6,8,10,12,14,16.17.18.19.20
B*  -U_-R ol

= {2,34.5,....20

}-{2,4,8,10,12,16,18,20)

i vl The difference hetween the actual

PREBREEERSERS

vil.

ST R

Vllug ang
estimated value us called:
AL e Ml

n error (fu

(b) approximation , i
(c) rounding £ 431,

(d) reasonablenesy J g
Who introduced BODMAS:

WL ST nopy

“{1,3,5,6 : fAs

ASARC = :2 p 2'3'38)'1]2"1143'1‘:'115'”"9} t [ Achilles Reselfelt w i, K
(38619113 1g s iy gy O ARKhawammigah
={614,17,19) 19} i (c)John ul (d) William (2,

Hence proved . (;,’,_._,t.) i viii. In BODMAS rule, "of"' stands for:

LHS=RHS 3 PR g "ol LML BODM,g

(ANB)® = Acpe i (a)addition & (b) subtraction ¢ ¥

LH.S i (c)division M) mutiplication
AnB - {1,3,5,7,9,11 i ix. The set is written in the barcket.
ady Y, (@] 2,4,8,‘0,12,] 310, o
g el 6,18,20) “-beeul o,

(ANB)® = U - (AnB) P @0 m: ©U : @[)

- {1,2,3,4,5,“_20} -{) ix. To write an empty set, we us.e the symbol:
RHS ={12,3,455,...20) - dUearbsold Loy,

AR mi 2 (e (b ©n ) {9)

S {1‘2‘; s : xi. Ifsets A and B are disjoint sets, ten:

P i ’""20}_“!3’5;7?9!1lvl3i15} é : HJ-‘ Bualag

={24,6,8,10,12,14,16,17,..20) ; € s AR\JB =gf.‘ Ae/

g v . : Ea; A::'S*A hma ¢

- 2 (o & -

- {};i’i".‘,'g'-]-ﬁ";; ::;,;4,1&3_}1:)61}2,16,18,20} : il IFA ={1,2) and B = (4, 5}, then:

ASURBC = {2’4’6,8,16’1'2‘13"%’ 1'7’__’_20}u B = {4, S}0A = 1./
{1,3,5,7,9,11,13,14,15,17.19) 2\ (8) AuBi=y WA« B
={1,2,3,4,5,6,7,89,...20} B, M)AnB=A (d)A=B

: A ¢ Xiii.In the Venn diagram, the universal set is
. Solved Review Exercise 1(a) Fuii G TN O TV O
c00000¢oo-o-.00000400‘00‘4‘»004-04 s - ] "
1. Choose the correct option, LI PR g:cc:::cgg Eg) Clrc::.'ljt’ W
i.  The number that can be expressed in the form of . 8 ) quadrilatera "

# : 2. Represent the following on the num/ber line;

q’ 9*0is called. £ (i) 250,230, 140, 90, 100, 120 NI AP

Qi) mixed number "x'“:t:f'; Sol. 90 |0 140 230 250

8l rational number st! "t 3 D S A e

.3 0 50 120 150 200 2
(c) whole number ;l.ulJ; (d) natural number »wid.0 (i) 50.5, 55.5, $7.6,-55.5, -53.5 i »
ii. The set of rational number is denoted by: : Sol,
:q.tk%@f&:ﬁ;wﬁ’t P } :‘t"' TR - P RUSRE S W
(a) W (1)) ()N (dQ N R R R A I E N LR
1 3 (lii) 2200, 2000, 1800, 2500, 2100, 1500
jii. —(18-6)= 3 Sol. 2100
3 . Pty N02000 [ 20 2
B-36 ()36 (o)is k18 0 1500 1800 2100 2400 2000
i -(17-17) _ : (iv) —40,-15,-30,-25, —65, -70
i . g8l -8 b -S54 P i
-34 ___I_ l ; ‘-'16"”-36'”;éd'Hii&*”v_ad:.::.;;:..:,Lé.hv;—#
@) 55  Ho © 7 @3 £,
-5 3 3 Sl
v. '—6—+;=§+@ : Sol, b §
| ) 2 m~_5 SRR : . -
() 3 (b) 3 © % 6 : 0 1 2 )

https://stepacademyofficial.com/
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N e i i —————————N. 1 g g S——

9
(G
Sol. i!i
PRI t .
0 1 2 3
-2
(vii) ?
Sol. __g_
4+t + t .- +—>
-3 -2 -1 0
=7
(viii)ﬁ
Sol. —113
«—t + ittt Jtttttt b—p
-3 -2 -1 0

3. Compare the given numbers by using symbol > or
<. Also arrange them in ascending and descending
order.
gt T S B Al 42 S ol st

-u..‘du‘u:d.vi.ﬁ’}ul

(i) 326781,326681,336281, 336291 -

Sol. 336291 > 336281 > 326781 > 326681
Ascending order (o027
326681,326781,336281,336291
Descending order Js¥qe’:

336291, 336281, 326781, 326681

(ii) -55451,-55540,-56580, -56508 .

Sol.-56580, -56508, -55540, -55451
Ascending order (s>’

-56580, -56508, —-55540, -55451
Descending order d:‘/'.,g"/':
-55451, -55540,-56508, ~56580,

(iii) 108.01, 180.08,111.78, 111,70

Sol. 180.08> 111,78 > 111.70 > 108.01
Ascending order (o271
108.01,111.70, 111,78, 180.08
Descending order (57’

180 .08, 111,78, 111.70, 108.01
—-3 =7 13
| ™ 3 10°5'10° 15
Sol. We shall make denominator equal to their LCM 30.
Ly S Lo Lol gin HA
17,3376 7 313 2 21 -I8 -21 26

)(—.-__

1035610315230303015
Since £ 26>2| >-18>-21
SO.{_J: J2l <18 421" 1t oy -7

15 30'30 030 1501005010

=7 -3 7 —7

10’ 5 lO |0
Descending order )% E -1 *3 =

oy £ erdu.,g'/ THTL 5 lO

Ascending order u’:r‘-,-g'/.

L Y T R F R T e Y

Illl.l‘l.‘.“‘.ll"I“‘C‘I.‘({1‘11111Iil‘l“‘ll‘lllll!l‘l‘l‘ll(lldlll‘llll‘lil‘l‘l‘dlll‘ll'l!l“"!“lll‘.‘l..DDD..'.!DDDDDl.l’lllll'llllIlDDIDDDI‘IDDII‘IIll'lbl)i..illiill.b.ll'.b.tbblb’b

4. Converl: NI
(1) 'Z- 3'1‘- 2“5" B into improper fractions.
875 712" 7 o
. 5
'L‘:‘/'}*"’,/-"_-’ Jg, z“"i, 83—
7 _(Ix8)+7 | (3x5)+1 16
o 110 L0718 51 Qx3yel IS
8 8 8 '35 5 5
S _@x12)+5_27 8_5_5(8x7)+5=§_
12 ;. 7 7 7
27 48 43 68 /
i VN
i) = 7'’ 139 — into mixed fractions. Lo
27 6 48 6 43 4 68 5
=il L= =jm a7
Sol. == 3 1413 239 9
5. Solve the following rational numbers. _
«tf f(}'ﬁ"l‘f td L?u'/
5 4 ; f
® 375
S A5,
Sl 375G 13 @
13 9
() 316
E_i=_25‘9zﬂ=ll
Sol. %V %5 16 16
i' ;x:g.
(i) 7773
Lo
-7 —/'f -1x=-1 1
x = T e—
Sol. 11 21 1Ix1 11
4
1
8.2
S R TRETY
4 1" |
8.2 _F 44

7
6. The product of two numbers is —7. it the first

56

13
number is —, then find the other number.

!

-Q/r:“‘!wl/»ln ry wl&r"/l..f_ % v S Blobs

Sol. We shall divide the product by the given number to

find the other number.

"L\vf/{‘:ﬁ‘—"“—fédfv)\}’\vé-LLJ‘?}“M[/»“T

11
LNER 0

——— — R —

56 8 56 13 13
7

11
So, el is the other number.

i .
s tal o H U
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!.  Ahmed had to travel -g-km from his house to the

l X
house and the library was 3""‘- how much was the

distance between the library and the school?

eyt deiiie¥ S &L LI Ay ie Hin
J:CJ:M{/.'UZ-JL.L}Q( % Jﬂlii’d(ﬂ'l!c./ﬁw-
-q)}kyuruy,;ﬁ

Sol. Distance from house to library and = % km ¥

J‘UKJJ;}"LS{/?UL/
Distance from house to library

LGV ES s Al /
Distance from library to school

Sl Sy 1

school

1
=§kmj-£)’

] 1}
co v|oo
1
L7 ] W | —

cI

5
=3 km ¥
8. Verify the following properties:

&

[}

: Sol. 97852 = 98000

=~y
'+ 't 9, Round the following to the glven degree of ¢,
' : ..L[/Jﬂ/-f.,wﬁtfué N

: Il
brary and then to school. Tha distance between his (i) 97852 (2 significant figures FUrisin)

2 (il) ~16.578 (2 significant figures Furirfin)

: Sol.-16.578 =-17

2 (ifl) 0.003757 (3 significant figures ..,Fu,q,,(,-u)

: Sol.0.003757 =0.00376

: (iv) 0.0657953 (3 significant figures FUry Any)

 Sol. 0.0657953 = 0.0658
113

(133

v § (2 decimal places)

113

Sol. —? =56.5=156.50

27

» I N R RI RA S R R 2 2 2 )

("F-“-"u"/«wz)

27 '
(vi) g3 (3 significant figures FUrw1(713)

: Sol. B =0.3253012=0.325

10. Compare your approximated value and acCury)y
value. Also check is the solution reasonable?

- JPUA Ul Lo s P, i

() 3.481 +1.287 (2 decimal places .1 [ay) |
Sol. Approximated quotient = bdbl ¥ =3.48] + 129

“~ ’IQ ;?”

(i) (5+E)+E=i+[1+§_}
79)5 7 1\9 5

Sol. LH.S

SR PNOV Y

- RH.S

(3+2)2 4(24)
7 9) 5 7 L9 5§

=(36+14)+3 A qi'(‘(’i“”)f ‘
63 ) 5 - 1\ 45

::-§£1~F£i
63 5
_250+189 _ 439

Pl

— T —

"7 45
_180+259 _ 439

315 315

Sotf'c

. :1,(§'+1)-(‘:_",§
) N9 18)7 T

So.LHS =

£F |o+7)
= —X
5 ( T

LHS=

-1
5
17

9

X

17

18

315 315
R.H.S

JGa)

R.H.S

=(‘;x§]+gx%)

So;ﬁ

L.H.S =R.H.S

» IR R A A A R e 2 A 2 d R d
lll.‘l!llllIGl(CI1“14!!(1‘I‘ll‘.‘llllilll“Illll‘II‘I.‘(I‘I1‘1‘(“‘!‘1..‘.‘1‘Cl‘lll“‘l""l“'.' 1 4]
de4qdqqeqdaq

= =2.6977
Accurated quotient ,‘:"' J’ lo;J“ I'=3.481+12%
. =2.7047
Error u)‘k =2.7047 - 2697
- =0.007

Error is very small so solution is reasonable, .

e P Ui e

(i) 10.59-7.24 (2 decimal places /141, %5s)

Sol. Approximated subtraction

=10.59-724

(iii) 10.52 x 5.57 (2 decimal places)

Sol. Approximated product

<Ll ‘_—‘/:'J‘l’u"{_ﬁ/.;
Accurated product o A/} = 28.36 x 152 =43 |

1.
(V)
SoL.=[12 + {23 x 75

IS edbl 7 =335
Accurated subtraction Y # b = 10.59 - 724
;a3

Error » & =335-335=0
Error is no so solution is reasonable. ,
e Pl
A1)
=28 x 15=420

Error =430, 18-420=10.18

Error is very small so solution is reasonable.
& e PUL e el

Simplity the following; D o N

(12+{23x75+(16-22 11)}]
+(16-22+ 1N)}]

[12+ {23 x 75 - (16 — 22
[12+ {23 x 75 +(16-33
[12 + {23 x 75 + (~17)}]

nonomono

-101.2=89

- 11)}]

3}

(12+{23 x4.4))= 12 + {-101.2}]
2

RECHRRE="
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3, [ ,{ .1+( L ;lul)} . '§13. Which of the followlng are set? Justify your answar.

@ s (18 L2 16)f |3 ] W LSO r e e S

v [0, shealsd l ) i () [The collection of all the months in & year starting
5,‘."?* F { 3 ( -+23~x31_6)}],.3 it ” with the letter "A".

> L F Ll fe IILAT e VUL

). .'.x{-3-+('—9+§xi5.)},l i Sol.It is a set because its objects are distinct and well
“3 ..IS ! Iz J 3 . i defined, .u_rwf‘w:“u‘{,",uﬂ'ﬁ‘/'f[f--&rg

' (45 W 1 (i)) The collection of good stories books. ! KU1

3 M 2 sl : Sol. 1t is not a set because its objects are not well

’“5-+ 151213 £ K|35 defined. -ﬂfl,gmﬁ‘ﬂf[q-uﬁfg
YR £ (i) A = (s, c, b, 0,0,1) i
: - : Sol. It is not a set because its elements are not distinct.

oLs -l_x{2+ (E)}]xl -q-ﬂfgﬁufl’-f-d'f{ﬁ’-tﬁ)-’c”:

ss 12 W) 3 { (iv) B= (b, a, g)

3 (1 [3 55)] 1 Sol.It is a set because its objects are distinct are well
’;+_Ex{f+]—i}]x3 : defined. -« ulfu.'ululuggl;ub'ﬁduqé-#.’:
23 lx{18+55}]x1 ; (S‘:))Iﬁ is {::'si'lst:::’ai}k its objects are distinct are well

EUMEL S f defined. GO F R L Nl e
X l,l}],_‘_ 3,73 1 . i 14. Write the following sets in other two forms.

s 1151203 5 180 3 2 Uiy B S s

. 4 1) A={4,8,12,16,20, 24,28, 32)
=_j.x_}8_qx_l_=}ﬁ ; gSol,A={x|xEN,xismultipleof4A3<x<33}

PRI S PA= (x| e dbHK dx A 3<x <33}

) I
(i) 18.3 + [2.430 + (3.245 - (1.7 x 7.06 = 7.02)))

A = Set of multiples of 4 greater than 3 and less than 33

teddecactqee

Sol=18.3 + (2430 + {3.245 - (2.7 x 7.06 - 7.02)}] A = sl 33 30 Kbl s
=18.3 +[2430 + {3.245 - (2.7 x 0.04)}] f (i) B={x|xeNA10Sx<20)
=18.3 +[2.430 + {3.245 - 0.108}] B Bl 11 1 15, 18 .40
=18.3 +[2.430 +3,137) { "} Sol. 11,12, 13, 14,.....,,

=183+ 5567 =3.29 -

\‘;

e S WSS I Sor Er
(i) The objects that can be worn. -u}fr‘ydtm(zu
Sol It is not well defined because thing are not clear,

(iif) Prime numbers
Sol. It is wely defined set, We can write is easily.

() The Htudents in your class have ohe brother.
SoLitis well define gey,

B =Set of natural numbers greater than 9 and less

12, State whether each of the following collections is a ;  than 2! &
well defined sel. Give a reason or each answer. : a B= e Weld, il e 2lie 1a9
2 S 'i - 0,:*: y geoses
L fheard-flpeger Ol § (N~ (o 2 830
() The collection of good studca; in your cinss.J B  m att 6 Iiadrs s A 6‘
2t UL raf T 2 o o T
- Sollt is not well defined set because goodness cannot : () aad ]S;(t) of all perfect square numbers between 5
- bejudgedaccurately. - : '

D= .'.:(uﬂ/&fuuw&woms
Sol.D = {9, 16, 25, 36, 49, 64, 81 }
D = {x | x is perfect square A § < x < 100}
{xlc"_d/\){ﬁx05<x< 100}

Mededesdidteae

~q7u¢;g':qu[§-sﬁ;5"h‘{:

between 0 and 10. :(v) F={ylyeNayx15)

%9

: Sol.F={l,2,3,4,5, ... 15)
sty Ml sl gtk bod
v ¥ F = Set of natural numbers less than 16

Foorbiad, b fe 16
: (M)G={x|xe Wax<10)
ASUSS P oL SH LT E S0LG= (0,1,2,3,4, 5,......9)

- éJadVTalﬂf[ﬁ..‘.—: 5!),

A8t 4qiddadtadn

Itis very clear, G = Set of whole numbers less than 10
: -{-J—‘Jyaﬁ,f[f..t{c he i -t WJ'L}*L We b

| -
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16, U = {0, £1, £2,.....}, them represent the ; U ={21,22,23,24,31,32,33, 34, 3.0
following sets in Venn diagram, = {21,22,24,25,...,40}
.._[)}l&,t;)élupf.j.},ejp i (lv) BNB =¢ .
) X={-1,-2,-3,~4},Y=1{1,2,3,4,5) £ Sol. :;.cn.% dianbr k.
Sol. =U-B= i22.23 24,...;
P I;' %200 _ (25,26,27, 28, 29, 30, 35, 36}
= {21,22,23,24,31,32,33,34,37,38,39,...40}
BNB° = {25, 26, 27, 28, 29, 30, 35, 36}
n{21,22,23,24,31 ,32,33,34,37,...,40} =4
L.H.S = R.H.S Hence proved Ine ¢ q
19. Verity (A_B)°~(A°~B°)=¢ and (AnB)‘-(Acugch '
whereU = {0,1,2,3, 4,5,....18}
() A=(24,6,7,12,14, 15, 178 = (3,9, 13, 16,3,
Sol. (AUB)® ~ (A°“NB) = ¢
RHS=¢
L.H.S
AUB ={2,4,6,7,12,14,15,17}
U {3,9, 13, 16, 18}

(i) A={-1,2,-3,4},B= {1,-2,-3, 4, 5}

Sol. m
e D

-4, 3,-5, £6.....

16. Find the union and intersection of the following sets:
-J_/‘r}"‘dﬁufdiﬁu:‘fg}_iyﬂ ={2,3,4,6,7,9,12,13,14,15,16,17,18}
() U={1,-3,-5,-7,-9},V = {-1,-2,-3,...,~10} (AUB)* =U~AUB)={0,1,2,3,..,20}
Sol. UUV = {-1,-3,-5,-7,-9}, U={-1,-2,-3,.., 10} i —{2,3,4,6,7,9,12,13,14,15,16,17,18}
= {-1,-2,-3,4,....,-10} = {0,1,5,8,10,11,19,20}
UnV = {~1,-3,-5,~7,-9}, n={-1,-2,-3,..., —10} A°=U-A ={0,1,2,3,..,20} |
= {~1,-3,-5,-7,-9) ) = {2,4,6,7,12,14,15,17}
(i) X={-1,-2,-3,—4} ,Y ={1,2,3, 4,5 ={0,1,3,5,8,9,10,11,13,16,18,19,20}
Sol. XUY ={-1,-2,-3,-4} ,u={1,2,3,4,5) B*=U-B ={0,1,2,3,...,20} — {3, 9, 13, 16, 18}
) = {21, 42, 3, 14,5} ={0,1,2,4,5,6,7,8,10,11,12,14,15,17,19,20}
XY ={-1,-2,-3, 4} n={1,2,3,4,5} = { } A°~B° ={0,1,3,5,8,9,10,11,13,16,18,19,20}
17. Y = {a, b, ¢,..,2} , Z = {a, &, |, 0, u}, then find: ~{0,1,2,4,5,6,7,8,10,11,12,14,15,17,19,20}
M) Y-2 = {0,1,5,8,10,11,19,20}
SolL,Y-Z= {a, b, C,...,Z} s {ﬂ, e, i, 0, l.l} (AUB)C_ (Acch) = {0,1,5,8,10,1 1:19:20}
={b,c,d,f, g h,j,k L, mn,p,qrs,tv,w,xyz} -10,1,5,8,10,11,19,20}
(i) Z\Y = { } Hence proved In=:t s

LA A e e T TS

BEBBRIBEBRIDIRILG

SRR A A A A R R R N A Y ]

Sol.Z\Y ={a,e,i,0,u} —{a, b,c,..2} ={} LHS=RH.S
18. If U = {21,22,23,24,...,40}, A = {21,23,24,26,27} (ANB)*~A“UB®)= ¢

and B = {25,26,28,28,29,30,35,36} then verify the RHS=¢

following: -Jd JJJ_ S L.H.S
() AUAS=U . ANB ={24,6,7,12,14,15,17} — {3,9,13,16,18}
Sol.L.H.S ={ % :

A°=U-A = {21,22,23,24,...,40}, (AmB)*  =U~ANB)'={0,1,2,3,....20} - { }

- {21,23,24,26,27} ={0,1,2,3,...,20}

= {25, 28, 29, 30,...,40}
AUA® = {21,22,23,24,26,27}{25,28,29,30,....,40}
= {21, 22, 23, 24, 25,,...,40} =U
(i) ANA®=$¢
Sol. A= U-A = {21,22,23,24,...40}
- {21,23,24,26,27}
= {25,28,29,30,,..,40}
ANAS = {21,23,24,26,27){25,28,29,30,...,40}
p ={}=RHS
(iif) BUB® = U
Sol.B¢= U ~ B = {21,22,23,24,...,40}
~ {25, 26,27, 28, 29, 30, 35, 36} L.H.S
= {21, 22,123,124, 31,32, 33, 34, 37, 38, 39, 40} AUB = {1,2, 3, 4,5, 10, 12, 14}U{5' 10, 15}
BUBS = {25,26,27, 28, 29, 30, 35, 36) : = {123,4,5.10,12,14.15)

] https://stepacademyofficial.com/’

A®=U-A ={0,1,23,...,20) ~ {2,4,6,7,12,14,15,17)
={0,1,3,5,8,9,10,11,13,16,18,19,20}
B =U-B={0,1,2,3,...,20} - {3,9,13,16,18}
={0,1,2,4,5,6,7,8,10,11,12,14,15,17,19,20}
A“UB® ={0,1,3,5,8,9,10,11,13,16,18,19,20}
{0,1,2,4,5,6,7,8,10,11,12,14,15,17,19,20}
={0,1,2,3,...,20}
(AMB)*~ ASUB® = {0,1,2,3,...20} - {0,1,23,..,20} = {}
L.H.S = R.H.S Hence proved (ixe.t?)
(i) A={1,2,3,4,5,10,12, 14} ; B = (5, 10, 15}
Sol. (AUB)° ~ (A°nBS) = ¢

R L L L L L R R R R PR R E R R R CRRRCERCEERTILERL]
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uB) = WHALR) = {0,1,2,3,..,,20) : y o
(A {1.2.3:4,5,10,12,14,15) . 7..,«.)4 = |Rem
«{6.2,8.9,11,13,16,...,2 '
e U-A = :"'l 2,3,..,20}-{1,2 30} 5,10,12 i *  The old price of an item was R3.750 and new
Abe U~ 1 Wk vy +03v43,10,12,14) price of the item is Rs, 550. Find out the ratio

= {6,7.8,9,11,13,15,16,17,18,19,20)

B¢ =v-B={0,1.2,3,..,20) - {5, 10, 15 P ‘ . s
- {0‘|.2‘3’4‘6‘7,8’9’l l.lz.l3’l4‘16’"_}'20} : JU'JJJ[JU’B-‘.-e—'lsm&za[”‘.’l’”"ld‘{Jz4

AABE = {6,7,8.9,11,13,15,16,17,18,19,20) VY
n{0.1,2,3,4,6,7,8,9,1 1,12,13,14,16,...,20 i Sol. Old price _-_,,_TJ:, = Rs. 750 &/

- {6,7,8,9,1',13 16 o 20] : 1 R =
P Mgy New price & Rs. 550 & 1/
§ C Ac B 6,7,8, 'IO,I ) 4 "
( B) _.( ~B") = { 9 1 13,16,...,20} Ratio of decreased price = 55ﬂ75ﬂ

- {6j7y85971011],|3,l6,.",20} 1 ¥

={}=R.H.S Hence Porved Isr=:# y‘;;""df‘f( =55:28711:15
(A(\B)c ~ASUBY) = ¢ * Find the ratio of -Q/(PJ’-J
LHS=ANB = {1,2,3,4,5,10,12,14}{5,10,15) * 5km to 950m + 2kg800g < 7 weeks 21 day
Sol.+ Skm=5000m * 2kg2000g * 7 weeks 21 day

$ decreased price,

-—.,-——w‘

= {5, 10}

N R N A A R R A A R A S A

={0,1,2,3,4,..,20}{5,10) 5008 :95¢  2000:800 . 21:21
={0,1,2,3,4,6,7,8,9,11,12,....20) 500 :95 20:7 1:1
ac=U-A ={0,1,2,3,..,20}-{1,2,3,4,5,10,12,14} : 100 : 19 5:2
={6,7,8,9,11,13,15,16,...,20) i * Can you tell the price of LED how many times
g=U-B ={0,1,2,3,..,20}-{5,10,15} : greater than the price of mobile?
: ={0,1,2,3,4,6,7,8,9,11,12,13,14,16,...,20) eV e ISl LED L Eu Ty
A%UBS = {6,7,8,9,11,13,15,...,20} Sol.2 tim, ¢/ 2
v{0,1,2,3,4,6,7,8,9,11,12,13,14,16,...,20} -
= {0,1,2,3,4,5,6,7,8,9,11,12,...,20) Challenge: :f5¥
(AnB)° «(A°UB®) 1.3
= {0,1,2,3,4,6,7,8,9,11,12,...20) * Find ratio Sto 5. el
-{0,1,2,3,4,6,7,89,11,12,..,20) = { } 1 3 !
Hence proved  fras b Sol. 5 s

{Suh-D_;JmainF'v)‘: ‘ﬁate, Ratio

and Proportion .ts.=-/¢/

| Skill Practice: :J" JA( I

L R R R R E R R N PR AR R R IR RS A A A A A R )

If old price of an object is Rs.800 and new price
is Rs. 1100 can you find out the ratio of
increased price.

ST dn I 11002 Gintg 41,8003 31y S 3 115

* Ifn:y=10:8andy:z=5:9 then find p=£"C1
n= Sy 2= s BV 0 o

® 52{3A317 om

Sol.x:y=10:8y:2=5:9 ] oMy

vy

i D §0 2 oY)
Sol. 1100 : 800 et : I y5
no:og iy 8 z 9 o
':he I::gth of the ribbon was originally 30cm. It : X X_ Y
as reduced | : : o
W ced in the ratio of 3:5. What is its length : z y z
: 5
””Jw'kfl’ffﬂ- »HJJ:s/m.u?mchwJ‘le.ﬁ § = = )d X 2
Sel. Ori AR TR R
riginally length JH}‘I = 30cm X 25
Reduced ratio ;JJJ[ =3:5 , z 36

New length §J5 =35« 30

e — » :I- : . -'..
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Solved Exercise 1,117
1. Write the following In the simplest form of ratio,! !
-M;yq;f%.w_w
() 18:75 2.3
Sol, 15:75 () 75°%
5:25
e 2.3
g ¢ 'll":zss' Sol. 5 %
d
iy 5§ Multiply by LCM1$
Sol. Tlé : %{’- Lo e 15100
Multiply by LCM 16 A it
Ui P 163651y '
A N 2:9
“’"I&T'*""‘g 1:50
|
2.3
(iv) 15°'% (v) Skgand . 500g
2 13 Sol. 5Kg = 5000g
Sol. 15:% 5000 : 500 -
Multiply by LCM 15 ?8 f f
Lo P 1535055 '
F5x -2 453
X—.’g N —

5 2:9
I 1
(vi) 2Km and ./ 700m
Sol. 2Km = 2000m

2000 = 700
20 : 7

(Vii)8 weeksZtand 14 day g
Sol. 8weeks= 8x7=56days

P o
56 : 14
24 . 7
4 1

(viii) 240 minutes > and 4! 2 hour 28

Sol.2 hours =

=240 : 120
24_4: |’2
sk

60 x 2 =120 minutes &>+

e fi 2‘) A%
‘(’ﬁ),},pg days ¢ and 2 1 month Ly
Sol. T month () = 30 days (o)

L3

180 : 30
.18 ;3
g 658

(x) 5 years (JL) and s/ 24 months (..i.';'.’)
Sol. 5 years = § % 12 = 60 months &

60
30

1 24

¥ 12

15 : 6

5 12

2. Find in crease.

(i) 40 in the ratio 5:4
L5:4640

Sol, =5:4 x40

LA

(ii) 36 in the ratio,

JoB:3K 36
Sol. 8:3x36

8

- X367 _
3

96

R T e e T T

PSR IRS

Y Y R R Y

BEIRIBPIIDD

SERPEBRRRRD

CEEEAEAAaQEOEO PRI PIDIIIIBIIDRIBD IR IPENIDID

P L R R e e R R R R R R R R R R R R R R R R R R R R EL )

I

(lif) 175 in the ratio 11:5, (iv)
LI11:5K175
Sol, 175% 11:5 Sol,
ML T i |
= IS 5 = 385
(v). 360 in the ratlo 14: 9 (vi)
K 14:96 360
Sol. 14:9 x 360 Sol.
=5 x 360 =560
3. Find decrease
-2 (i) 30in the ratio 2:3  (ii)
L2:30730
Sol. 2:3 x30 Sol.
2 430220
=TT
(iii) 50 in the ratio 2:5  (iv)
- JL2:50 50
Sol. 2:5 x50 Sol.
L 2x88=20
= gx% =
(v) 160 in the ratio 5:8 (vi)
A5:80 160
Sol. 5:8x160 Sol.
5 20
=x+66-=100

48 In the ratig 1713

LAY
1712 x 48 “

17 =63

425 in the ratip 7 '8

U:7:S|'4
7:5 x 425 I

8S
5 X425 - 595
LSk
35 in the ratig 5:7

tﬁS:?J,}s
5:7x35
5 s
x 35 =25

r -+
i

70 in the ratio2 ;7

¢2:7J7|
2:7x70

2 X%m=20

T

420 in the raio 7:15

L715d 4
7:15 %420

7

&
_ +;§x~42-9-

=196

4. Il old price was Rs.990 and new price was Rs. 1200
"then Find the ratio of increased price.

L adndoning 12008 Gond11990=d i/

A,

1 r

Sol. Old price =l = * Rs.990 &1

New price =.d (§ =

Rs. 1200 v

~ Ratio of increased price = 1204 : 994

Sol. old price _-,.gda<
New price =2

Sol

efed dndiy
420 : 99.
40:33
It old price was Rs.1500

and new price is Rs.1300

then find the ratio of decreased prices.

LSS

-t

7:1%.» 13002 Oiu'%u 15004 J[{ﬁ
= Rs. 1500 &
= Rs. 1300 &

Ratio of decreased price = 138 # :150 ¢

i d

13:15

It new mass of Raza is 80 kg and old mass wa
120kg then find ratio of ecreased masses.

=ML Inp ¥ 120ULt sl LY SOV

. New mass of Raza

’

Z7

VWYL, = 80kg
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1

b -
I 1 old mass of Raza Vit = 120 kg i Solved Exercise ]‘IZJ?J"
| 3 of decreased mass .-..-JJJLr’_;rf = Sﬁ:lzﬁ i .»...’¢.“...,........¢ e
F Retl J i 1. Hassan earns Rs.3500 in 5 days. What is his pay lo
} ‘;”"f 2 one day. i
= " 9y LI 1o e UL 12350025
X 1 The price of cotton box has increased ratio of 7:6. If : Sol Hassan.faﬁf J;J;;{i{u; f Rs'J,;OO 'y
* I 1d price of the cotton box is Rs.1836 then find new = i Lngu:S Juz’ ki

price to cotion box.
Sl fibie edf 16t ad S SL VA
§ ' et «.fJJGm,»wqu

= Total earning = (j'-rtf

Hassan's earning of | day
Total days = wd’i\

—

LA A A A I A A A T YT Y )

sol. old price of cotton box = Rs. 1836 & s 3500 _ gy
3 Increased ratio (:.-‘,J'J’Juz) = 7:6 = : 3
} = 7:6x 1836 2. Zain bought one dozen oranges for Rs.240 what is

New price of cotton box
the price of one orange.

=E G0l ¥ ; ] _ o
) 7 206 3 ‘ ?c‘ak(:»:,' Jé'.t.ﬁ-g;_/&pz;.uz«toé.tcﬁu_ﬁa_w
~ 5 *¥836 po 9142, i Sol. Total price of 12 oranges = Sz =240
| L -

Price of one orange = Total price = =2
= Number of oranges = A
20

=t LW Rs.12 &»4

3. A car covers 220km in 11 litres. Find the rate of km
per litre. If car travel 400km then what will be the

The height of Ali increased in ratio of 11:6 and the
height of Ali was 1220cm, then what will be new

height of Ali?
Syamard AL Fmsvle oIS 16052 S
Sy JLf;l[fJﬁ‘ch..i_ LIL = f17e-1220cm

TERRIBIOIDIRRDS

sol. Ali's hight Jg‘ﬂJﬁLJ‘ = 1220 cm i fual consumption in litres.
Increased ratio (..w,j(jnéb‘/.) =11:6 $ -Llfr-"‘" C//‘/’-J!( d_..;dfé_uﬁ){n,bm’/’fﬁl 220§
5 Mg o d SredS A o133 So il 4001
Ali's new height JHJJA’Z-J‘ = 6 f Sol. Distance covered in 11 litres = 220km
: Y Loz s 211
6710 _ : d : 2
= _‘3_“2236'7““ ¢ Rate of km per litre = _Total distance = Loif
g, Mohsin mass is 140kg. If reduces his mass in ratio - Tolliess = AJ
6:7, Find his new mass. 2205 g0

(e el sttt fig K 1ouvy” ; =1 -
DU e ? Consumption of fual for 400km = Distance = Joboc

Sol. Mohsin's mass uiks” =140kgr'/1‘ SN Ped LA pef 400 = Rate = U/

Ratio of reduced mass .:»,—"JJLZE’:H"-‘-G:? : =40 dishes;i_la_r .
JILK, u’f =6:7 x 140 4. Moeen cooked 10 dishes in 2 hours. What will be

£ speed of cooking dishes per hour? How much dishes

Mohsin's new mass

& %xm will be cook in 8 hour. -
Ly DS btbe S Ll VL P rous? 2l
= 120 kg (1LH¥ ERLL AT LU 8- n

Sol. Total dishes J..Lfgf = 10
Total time ::!uf - 2hours &

10. Ahmad was mass 140kg and reduce his mass to 112
kg. In what ratio did Ahmad reduce his mass.

l!ttltl!lllll!!!.&ll!I‘l('llliillildl{lll‘(l‘l((“‘llllll‘itl‘d(l!ll!ll({!!‘ll

Lul?nyfxrl/:( 112'/3«(’(.}5411. VJI-G(lf)’ 1401641
i, /r,ly .-.JJUKJJL Speed of cooking dishes per hour = Total dishes = S
'~ Sol. Ahmad's old mass itk = 140 k.g (L gl WaF§ = Total hours = Zy
Ahmad's new mass b = 112 kg L A
Ratio of reduced s = HZ: 446 ;
ed mass =SS s Number of dishes will be cooked in 8 hours = 5x8
ae HELLVE oIt 8
4:5 = 40 dishes LW
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5. The cosl ol 25 units of eleclriclty Is Rs. 375. Find the ; ¢ |35 pens 4
cost of 75 units of electricity. Total minutes wrJ = g8y 1
et thu’m?ng.uasud‘f&_,m ‘ =45 minugg,
Sol.Cost of 25 units of electricity = Rs. 375 & H Average sale of pens per minutes
=ddFuys L’"J""”/'-—’GJ
. 23 375 = Totalpenssold = /2.,
Costof | unit of electricity = 52 =Rs.15¢ : g oo, JJ
JJJS"'{I ! : 135 ,__3,,(.,,/ =
-Cmtof75 unit of electricity = 75 x 15 45 it w”‘/(h

=20y 7s = R 1125 Iy okm. It it covers first
6. Humza covers the distance of 225km in 3 hours by : 10 'A,:m: i::z c:'v e1r0101 akm/huur and the reﬁg:‘"
car. At this rate, how far can be drive in 8 hours. - d,f,,,fce at the speed of 80 km/hour, Fipq l:l
S MW &L 5L KLU 3 ikl nsi g average speed of the train.
-fg/LJﬂhE-ﬂﬂurf 100.1'05')" 550&»/4.&/2-.14“}’;1180Lu} .
Sol. Distance covered by hamza in 3 hours = 225km/;’/ ‘_JDJU{ /&J /v 90 J\;u‘}gulcdfé_c.ﬁ;&/d ),,(

8. In the first cricket match, Hamza made 52 runs in 6
over and in the second cricke( match he made 68
runs in 8 overs. What is the average run rate per

over.
Squth_/»ulc_h//SZL,Cwﬂﬁi_n/uf 8:../'7%
u -J )F'*’b:'(f /uu‘d-sh/:(»&}:u.un‘
SoLTo(al runs jatch Hamza =52 + 68
é_.b—//d Py 4 =120

Totalpver played by H =6+8=14
p -L(:;l,'/

- /nf

= 80 _oaqmg, )

Whether the given ratis are in proportion, It "yes'
then write the them in proportion.
-Mgﬁfg&ﬂi@ﬁ.@qﬁu{ﬂ;{wg
(i) 6,8,9,12:yesy},6:8::9:12
(ii) 5,4,10,4 : No &

|| Skill Practice: :o" JA( l

' e Separate means and ext llowing.
Average run raje per over Totalruns = suf i ream from the following

si35/s = Totalovers = s § () 5:10::25:50 LSl st

20 Sol Extreams J’) 5,50; means 2% = 10,25

T 14
O, A sold 40 pens In 15 minttes on Monday and 95 ; SolExteams 4 - , 80; means ¢ = 48,10
¢ Fin the 3rd term in the given proportion.

pens in 30 minutes on Tuesday. What is the average y
sale of pens per minutes. W 1 GE—_T‘I L -q)"a}v(,dwqb ¢
Sol.32xx=12x8§

LgdtJoL sl a0 LuP 150l s L sl
LSl esrper dSuLasjf 95 us 30 il
Sol. Total number of pens sold by Atif = 40 + 95
4.:—5;/‘#2: JILJB

https://stepacademyofficial.corﬁf

V& Lbtatys 30,7 : iy
Distance covered in one hour = 225 Sol For first 5501\31 L Lpf 550,1._1'
nd b 25 [ =75 ok Spord = WIsPYE b, o ol
Distance covered in 8 hours = 75x8 7Y, Tim -
Ve btz Ui 8 = 600 km 2 Time = = f(SM()) = 5.5 hours &
7. The cost of 20kg Apples is Rs.4000. What is the cost : J 73
of 25 kg apples. i  Fornext630km o LHE6nd)
e Szl 25 & sia000=d furpl /¥ 20 £ Time =% = Distance _ J:b
Sol. cost of 20kg apples = Rs. 4000 & $ = Speed iy
=4 f'/ ¥20 550 § = %302 =7hours 2
cost of one kg apples = e Rs. 200 &1 . p _ Py
i o ¥ 1 , ! Total +time <hf =5.5+7=125& hours
s : Uibosl = di :
( costof 25kg apples = 200x25 =Rs. 5000 &5/ } Average speed skl = Total distariee. ., Lif
—""b(b‘«" 1//25 § = Total tim J:T

d4dddeanddodn

4qs4daaqn

Ctaqddadeaqadteq

“qasan

LR LR

X= 33 =23
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e e

I 7:2:’_:—55110
7x10=2x35
70=70
This is proportion.
-ty
: (ﬁi)15:12::4:3
=1

Sol. 16:12::4:3
16x3=12x4
48 =48
This is proportion.
-'a.,-ft;,
) 15:50::9:30
Sol. 15¢ 59__? : 30
15%30=9 x50
450 =450
This is proportion.
-y

A

0 7:2::35:10
So

B A e

Solved Exercise 1.137F

e e e LR S e D e ]

4, Which of the following are in proportion?
\[V (VY ST A § PO

(i) 2:6::5:20
£
Sol. 2:6::5:20
2x20=6x5
40 = 30
This is not proportion,

-‘,‘—Lﬁl-r’t;:
(iv)10:8::70:56

N
Sol. 10: 8::70:56
10x 56=8x170
560 = 560
This is proportion.
' “g-rbiy

(vi) 20:4::3:40
Sol. 20:1{::3 140
20x40=4x3
800 =12
This is not proportion,
Ry

2. Find the values of variable in the following

proportion.
() 7:6:x:50
. . .50

- Sol. Ti6iX:

7% 50=6 x x
350 = 6x

3 '2—5833
b 6 =Jo.

(ii)z:9.::15: 35

z:0+15:35
Sol. ("ia"3

zx35=9x15
35z=135

135

v 3.85

3. I Tkg potatoes cost 140 rupees, how much we pay

-for12 kg potatoes.

= )”'J“f‘zJﬁ."' L bos s
(i) y:8::45:20
FFv e vmpe <
Sol. y:§::45:20
20x y=8x45
20y =360
360
=70-'=18
(ivyw:2::24:18
w:2:24:18
Sol. |1 |
18 xw=2x24
18w =48

—ﬁ—2667
18~

LT E S 1adngsnaocd S K 1]
Sol. Let the required cost :.-Af,:“’lﬁf/ =X |

Potatoes #7 (kg)

al

Cost 4 /=d
Rs ¢y,

1101\ '

:‘\s mass of potatoes increased, the price will also be
Increased, it is a direct proportion.

et d e n i St oy TS

[

BEBRLBDRARRRRDANDRR IR RRRRRRRRRIRRIDE

BORRBBERRD

BEBBDRRRRDRRRRBIRRRRRRRRRIRD

4 1!11tlll.dll(ll|{l(llllllldllll‘l|I!id!lli‘lIl{ltil((ll!(‘lll1llldlldl(tlildtcdldd!!d‘l111‘!‘1(!‘!“10“‘0'!0ll'lllll'bb'ODFil*'li. BRBBBRD
4 »

12 x

7~ 140
20
12
MX7 =X -~
|
Rs. 240 s, = x

For 10 horses, 12kg 400g of food s equired daily. In

the same proportion, how much will be needed for
16 horses.

e aenpzin§ i) a0 1 SE 12 0okl

-Jﬂ.:ﬂ: 'J.ﬂ/}dr n;’-ﬁdu‘/ 16

Sol. Let the required food .5 2/ 7} = x

No. of horses mass of food (gr)
;U;Ju,}; (’l/)J“/JJ?'
10 12400 ...,
16 X _

As mass of horses increased, the mass of food will
also be increased, it is a direct proportion,

-& .:/b.,/l':g_iu’l- Crnl U i ’;.z;,l)-'Jgu'){

[ SR
10 124
16 i
12404 x — =
g ]ﬂ/ X | 1 4)

i

x =19840 gr =19kg 840gr
The cost of 16 quintals of bean is 40,400 Rs. How
much will 4 quintals cost?

LUk a-e Lna0a002d Suinl udd K 16

tSnfed Uy
Sol. Let the required price = _ 4%} =x
quantity of bean (kg) price
(PSS =i
16 40400
4 T X T

As quantity of bean increased, the price will also be
increased, it is direct proportion.

-b’n:/lzqﬁfédlgf&mf"&f; &ZJIQPJU’.%

i_ X
16 .40400
10100 ;(
X =
M ]K X
4
10100 = x

x=Rs. 10100 &5/
It a box of sweets is divided among 24 children, then
will get 5 sweets each. How many each will get if the
number of children is reduced by 4.

”*“Juf/’kf-‘uwsf{;ﬁ?WF"’u:ufzp,g.gmge
"Lvéugfﬂéﬁf‘é—&d)/f 1

Sol. Let the number of sweets :lﬂfuir,}bk(&) = X -
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Number of children Number of sweets £ 9. I 1 person takes 7 days 10 cleanla l:::se‘ from py g
AR A fude " now many days will take 7 people take to cleap yy,
: i house from bugs. .
gg i T : JldeJf.:vlr;q_tﬂu:'l%ﬁi;_gfw‘[z?r_gdﬁ_gﬁ
“/As number of children decreased the number of§ LU . _kﬁ—b &C—U;}[fj{
sweets will be increased. It is inverse proportion. % gol, Let the required dayws U7 =X
Ittd o ermfinfudt; Lnfnifug : Number of persons Puipbes °f_days
x_ 24 wdfus LY
5 20 : 1 l 7 T
6 : 7 _ X
A ;{ 2 As the number of persons increased the numbey o
= % g g day will be decreased. It is inverse proportion,
£ P b LSS uhe S
1 '

x = 6 sweets Ut :
ut a tree. How man

“to will take 4 men 1o do the same job. :
Ly RUAE ST A3 2N LU 0S e n LTl
6’!: Let the required number of days:lﬁd’u!"lq!u" W =x

T

7. 1 2 men take 10 days to c y days
|

| Number of men Number of days
| AN EIT)

10 2

4 X T

As the number of men decreased the number of days
will be increased. It is inverse propotion.

,TQJPVE,_&J#-JL wlfUde LnﬂlﬁJuz:T

x _1o
-
PN
x=—x7Z
A
d
x =5 days ¢»

8. If 1 person takes 10 days to pick the apples from a
garden. How many days to take 5 people to pick the
apple from a garden. L :
w2 /IO TSI then10 Rt i 3dere LU LIGT L :

LyirtusZ

Sol. Let the required number of days Aw(Uh 2% = x

Number of men Number of days.
:fJJu.L’JT J'J-"-JLJ;J '

1 10
5 l X T
As the number of the increased the number of day
will be decreased. It is inverse propotion.
-'.;g_J:‘:’qﬁ',é.Jf.JnﬂlﬂJuijc; Ll ISyt
X
10

IR0 4440404430434 4044 adtaqaddadadtan

e
=8
;2
x=7x}0'

|
x = 2 days »

ddddeaddadeadeeduedaaqeedd

L Y R R R R ey T T I iy

X o
7 7

l
x=;:7></=ldayu:

n Skill Practice: J" dity II

®  Solve the following: LI s
15 200
o~ x100= 29 . 100-=
(i) 5100 B (i) 390 %
15 . 200 1 200
Sol. 3g, x +88- = 750 Sol. x-}%zT

(iii) 5% of S0 kg = O
8 il o
56 =—kg

L3 10
+68, 2 Sol. 190,
A shopkeeper bought 200kg onion and 180kg
potatoes. He found 5% of onion and 10% of

potatoes were rotten. How many vegetables are
in good condition?

5% St s AT 180 001 L58 200 ik
-gt;gﬁdbo‘v’idjﬂﬂﬂﬂd.{d?__.ljﬂyalOu’Jg
Sol. Mass of onion VKL = 200kg (l/:‘
~ Mass of rotten onion /€5l 15 = 5% x 200

(iv) 10 % of 100 /=00

'SOL= x 400 =10/

x200 = 10kg (/¥

Mass of onion in good condition = 200-10=190kg ¢ M
A YN
Total mass of potatoes =
S AN
Mass of rotten Potatoes = 594 « 180
VU1

180 kg (1¥
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Mass of potatoes in good condition=180-9=171kg (if:r
Jme’»mﬁdbu{'

. A LED was bought for Rs. 67000 and sold at.a
profit of 10%. Find the selling price of the LED.

y LED-JWE/LE 10%. Ut AL & 3/67000LED LI

' -L{/?.J"’L-JJ/'
gol. Costprice _c_)f LED =Rs. 67000 Y
1722 S LED
Profit (&) =10% x 67000
10 S
= Tpg 87090 <6700 s,

gale price (=3:/=24) = 67000 + 6700
=Rs. 73700 s,

o In a furniture shop, 15 charis were bought at the
rate of Rs. 280 per chair. The shopkeeper sold 10
of them at rate of Rs. 400 per chair and the :
remaining at the rate of Rs. 250 pet chair. Fiad. :
his profit or loss percentage. ey

JUﬁ-j . 1

‘ Lt,—/&z'_;;zso.3::!@/(3?_:;400.,.1.2@5‘/10.—.&@&'
: -4 uydwuﬁgd’ b’ul.q;/_-.é;);_..,u

Sol. Cost price of 15 chair at the rate of Rs. 280 per chair

o 8o 9280 s P d fus/ 15 '
=15 x 280 = Rs. 4200 &/
Sale price of 10 chairs at the rate of Rs.400 per chair
5 BL 34000 Finss pnd Su/10
=10 x 400 = Rs. 4000 &1/

- (r
(Y|
agiay

Sale price of 5 chairs at the rate of Rs.250 per chair '3

U’fdé.'.uZSO-.g V&s}.:é JuxrfS

=5 x 250 =Rs. 1250 &9/%% -

Total sale price of 15 chairs=4000+1250= Rs.5250
o 1530 pad f :
(S.P) is greater than (C.P) so the shopkeeper is in profit
R R PRy S Iy B,
=S.P-C.P 4L
= 5250 - 4200 = Rs. 1050 & »
Profit ;
~ Costprice
25}?5’
1056
5 *;Hfﬂ
|

* Can you find the selling price of the shirt2 - ...
. —HE SR UILTY
Sol.Marhed price of the shirt =Rs.3500 &5, .,
.:.-f n}b»‘!fj
Discount % <% =25%
__Total discount (2s7f) =25% x 3500

£\

ClllliQCIlIIC‘.!!IC‘!{.i.(1““4(‘.l“““l“l‘ll‘llll‘l‘l‘lllllll"ll.lI“I‘CI!

Profit U’

x100% = U'

s

x100% )

Profit % c,”

x 190% = 25%

. ’:-?EQTT‘= -
wnp bW BE

——x18 D = I =
=42(_9,d\x gw?ikvg\r'/’y’ I

BERRRERDRRINIRY

I e R L L

PRERRIRPRIRIRIBIGD

R
YY) la-
DO

-h|l.

' S SO S
e AL G es2800S 15 g bt e

R EE R RN AR R 2 )

IEEEEECEEREEEREREEER ]

v 2805

¥
= —— x 3508 =Rs.
T W =Rs.875 & v
Sale price of the shirt =3500-875=Rs.2625 L1,
c»’!/‘é{.’JJ‘j

% ‘Aslam purchased the following items whose
marked pric and discount % are given below:

&J’q— (.FUJML‘}_‘,}{JJI.;.{..}bJ,J&.‘_)_‘)_{?lJ_JqJAPLH/l

Sol sl Eﬁdf’-‘&}uﬁjl
ltem | Quantlty Hﬂ:ﬂ Pe—— Amou;l ‘;l discount s:ﬂm-j&q
3 | 4| el e s ehjed
Oven T

1 | 470
oo el B PN ~
[ 1
ron
1 2400 10% 17 2160
> AP x —— =
'”g/-; o ]ﬂglriz‘r‘vg A B ¥
00 i
Factory | 1| 8800 | %o 7t 34its m{ﬂﬂﬂ\
327 TAEAAH SR
Mo | 2 | 12000 | 2% | o 12 L 060
By | =2
- Tolal ;7
=34705

Total amount of bill Y,z =Rs. 34795

¥ oy 8
Solved Exercise 1.147 ) [

1. Fill in the boxes. -
Sol. (i) Cost Price x7=4 =450,
Selling Price =352 = 560,
Profit & =560-450=110
(ii) Cost Price x/=4 =1230,
Selling Price =35/ = 1180,
Loss yld =1230-1180=50
. (i) Marked Price =Zo%n =4550,
Selling Price :.-5;,5:—2‘—' 3950,
Discount ~s£  =4550-3950=600

2. A bakery sold 1 kg of sweets for Rs.1250. 1kg of

sweets costs Rs.1100 to the owner. Did the owner
make a profit or loss? Calculate the amount of profit
or loss. '

llJ..ﬁL o uf»-z‘;. ch'-hf'uf 43,1250 Jh’r‘rlfr‘/ 1 dfgua
ﬁJulﬁLg-dWUngLU%:kz‘aé'_u1100.JU{JW(I/;:(
: -y

Sol. Cost of 1kg sweets .JU,;GU-‘(I/:KF Rs. 1100 &
Selling sate price of 1kg sweets = Rs. 1250 &3/
YNt &jla'*rsf;b/ 1 ' '
- Selling sate price is more than cost price. so, the
shopkeeper made profit

i Sientic eIesjed S

Profit 8t =S.P =)= —~ C.P 17t
= 1250 — 1100 = Rs. 150 &

https://stepacademyofficial.com/
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3. Majid bought a book for Rs, 2500 from a bookstore. :
The bookstore bought this book for Rs. 2200. Did the'}

~bookstore make a profit or loos? Calculate the
amount of profit or loss.

VO(’L”::"{"J*} (R L2s2500 0 Ll st LIl b
_L[/?P&Juuﬂc?«uw;md’,ﬁ;a_;ggjdéjtﬁe,,mﬂ :
Sol. Cost price of the book é_)égd_rl:( = Rs.22004- 1
Selling price of the book &:)_-_.EJ_T,J =Rs.2500 &
Belling pr ice is more than cost price. So, bookstore

got profit. ""Cﬂ’c’:"{é—J"”LJ-‘:-»_}&&'-"‘J/'&E-E!{ :
Amount of Profit A&t =5.p =5, j=d - CPaict i

5 = 2500-2200=Rs.300 &/
4. The Price of one bicycle i Rs, 7000. Adnan bought

. wo bicycles and sold them for Rs. 13000. calculate
< " the amount of profit or loss.

:sdou:'wagp. b Lbag £ 17000 SSE L]
s cupe o Bl S et

Pabdnh

-

EEBABEBINRRLRRS

a
a

LA AL R A A A A A R R R TR N N Y Y

A
Sol. Cost price of two bicycles = 7000x2 = Rs. 1400041
J.j—"{.?t{u!‘fln
Selling state price of two bicycles = Rs. 130005,
é’l)—'*‘.:JUr(’-:[,»

C.P is greater thenm S.P, 50 it is a loss
-tnuw'_iw..g.,g;; Sy jmd g Fnd

=C.P 4/ —SP o3y j=d

= 14000-13000 = Rs.1000 &/
Hamza bought a sack of rice for Rs. 12000. Find
selling price if he got a profit of 4%.

-c{/?:"":):).:—fJzﬂ-dgl'deulZOOOdJ.{...ﬂJU}'J?Llf
: el g/
Sol. Cost price of rice 4+.7=4 Ju.:‘;‘('o =Rs. 12000 &5/
- Profit % 43 =4%
Profit on rice &'§Ushle =4%x12000
4
— Sy~ ] 2() =
17712 = Rs. 480 &1
Selling price of rice = 1200+480 = Rs. 12480 Y
=3 p=d Uy
6. Atif purchased a sofa set for Rs. 48000. Find selling
price if he bear a loss of 10%.
.,..L:f.uu-'iudwa-Lg;“_:L'.msooquf..gL bl
st
Sol. Cost price of sofa » 7= J.ir‘ = Rs. 48000 &
Rate of loss Z,/"d’ut.-‘i" =10%
~ i< Kinount of loss AJuld = 10%x480000

= —=X

= 48008 =
]ﬁﬂ /g RS. 4800 d'-’—JJ

Selling price of sofa =48000—4800=Rs.43200 &)
_-.51/_"4." J.":‘

Loss ¢l

5.

B ~ i

l(i!ilti‘l!!!c‘i!l!dclccllllld¢|¢l¢l¢ldcqal((q(ddld'dtlttuillIintllollalllll-‘ldﬁclld04110!11-11111ltcdcllliabl.lbnbln‘lblllh)nnb

N

el
r bought an aquarium for Rs, 79q,
. fof:?f:ﬂf. 10000. Find his profit percentagy |

. 0000038/ j‘;L.-u'mGOr;f LgL.Jur,,
i - /T‘*"‘Mdc?mf
Sol. Cost price of equiarum = Rs. 7000 &, )

2 i A Sk
Selling price of equiarum = Rs. 10000 <.,
-"—51/'_"’2{}?_/!-('

b, =GP =S1ied —CP iz
Profit St» =S.P =4/ S
‘ - 10000-7000 = Rs. 300 .,

. Profit ¢
Profit % Mdd] = "Cost price » /=4 *100%
3000 300

—

x 100% = T% = 42‘9%

7
_ gamar bought an old motorbike for Rs. 35000 ,
a gpent Rs. 15000 on Its repalring. After few 'Mnt:ﬂ

he sold this bike for Rs. 60000. Find hig profy

percentage. L v
{M/Jgﬂl‘.ulﬂﬂﬂl}’d&)gﬂé’-lj.}Smwb}fd; (L)
é&'rwd;/.:,&,}‘;z'_usooood.‘wr,L_mg.;e{w

: LS

Sol. Cost price of motorbike = Rs. 35000 &,
4]'-‘—‘.7 Jif L

Expenditure of repairing = Rs. 15000 &
wii ey

Total cost price 4]'_-4‘." $% =35000 + 15000

= 50000 &

Silling price of motorbike = Rs. 60000 Py

=St Sy

Profit ¢+ =S.P=3s)=? CPp,j.j
= 60000-50000=Rs. 10000 ¢,
Profit & ’
Cost price , =7 - 0%
16006

Profit dt/

x100% = 20%

5 : |
9. Salman bought a sofa set for Rs. 25000 and sold it
for Rs. 20000. Find his loss percentage.

JLLJ/&;)J&'.:JZBOOOIQf&ﬁ.ulSOﬂO—‘{J}‘-ﬁLdU'

-l

Cost price of sofa sizd J.if = Rs.25000 &

Selling price of sofa =322 {5 =Rs.20000 &
Amountofloos =C.P 4 j5=d - §.p =syjcs

Sol.

(o _ 25000-20000 = Rs.5000 &~
. g Loss wws
Loss % s s = :
b 4200 Cost price , 7=z | 30%

25 900

X

20
x 488 % = 20%

i
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Sol.

ordered this online and got this cycle for Rs. 13000.
Find his loss percentage.

{zbft'fﬁc)"'f‘f: ‘.-“”-.4 & 12000-—2&-:4%)?’».9

L QO 2 a13000

Market price of cycle = Rs. 12000 .1,
b‘ftﬁ-#t‘/f‘u(ugv !

Price of cycle online order = Rs. 13000 _».
A RN K

Loss gt =13000-1200=Rs. 1000 s,
o 7 Loss o i
Loss % #0¢/W = Tost price I *100%

1666 x+39_°, 7
= 11 500 o ?%=8.3%

3l
11. If the marked price of an item is Rs. 7690 and

selling price is Rs. 7000. Find the discount offered
on this item.

3¢?x+u7%04}!)éf Ju e &3,76902-4 2tz

_U_’/(:""._'u'.’{

Sol.Marked price =212%s =Rs. 7690 &

Selling price =31/=¢ = Rs. 7000 &
Discount &sf =Marked price—Selling price
LJ_;':;Z;J) - =3 }—"—E
=7690-7000 = Rs. 690 &2/

12. Ramaisa sells an item having marked price Rs. 370.

Find its selling price if the profit is 15%.

g,'»,/'_-,fJJ‘-‘LJ;.JJMO&-_;lﬁé»&ﬂd’;ﬁ:}g-gi. s

-t 15% g S
Sol. Marked price =412t =Rs. 370 &/
Rate of profit L}ng =15%
Amount of profit f:JCV =15% x 370
= 45 x374 = -Iﬂ
2 2
=Rs. 55.5 &

= Marked p;ice + Profit
.;—Eu;z-,» + 8’
" =370+55.5=Rs.425.5 &%

Selling price =31/=4

13. Minahil bought a dress for Rs. 3200. If the loss is

8%, then find the selling price of this dress.

\ WUe L old 8% de it 32000y LT L S

=3 /{"}" .:)J/-"—f

Sol. Cost price of dress 4]'.:»5 JJ!J =Rs. 3200 &

' Rate of loss L,;Jul.a'i" = 8%
Amount of loss Afulsd = 8%x3200

= I;O’ x3200 = Rs. 256 &

Selling price of dress = Cost price — Loss
hjedfer ied - o
=3200 - 256 = Rs. 2944

-
-
-

PARREERANRRRD

LT

P

VI A4e4td ettt davdddaitaaad
1"'1!11.|4.lllIIQICIICCIIIGOOICDICIllll‘llill"ll‘lIl'IQGIOII]||1lill|llll.l(l.‘IIIII'lb!ll'i.IIlll.!lI.DllIIIbll‘ll‘l"..bli.llllb#il. L]
AT

10. The price of a cycle is Rs. 12000 in market. Ahmad : 14. Find marked price of a LED at a discount of 13%

having selling price Rs. 39000.

el o Buelfiy/pedilts J LED

- Eﬂiﬁuﬁ‘ru}%ﬂﬂ

Sol. Selling price =3)/=¢ =Rs. 39000 &

Rs. 87

13.

Discount rate 7=¢k, =13%
. It means if Marked price is Rs. 100 then sale price is
- %3;87-‘;—2&&/?)‘!& JJIMQE!}al’ﬁ??b(J'
Let the marked price of LED = Rs. x
=12t ad LEDU
Selling price =33/=+¢ Marked price =2 s°C

87 100
390007 » S
Itis direct trapation & =rlr=E,
39000 x
87 10
39000

100 x

=N

X =Rs, 44827.6 &
Eman purchases a heater for Rs. 4600 and sells it
for Rs. 4500. She buys an oven for Rs. 14500 and
sells it for Rs. 14000. On which item does Eman
bear less loss?

L IV 231 L 044500 1 F UL £ 224600 j5 LT L !
H;(UQ'{Z u‘(_p/;i;/ud &-2s14000 Y- &-13714500)ss!

Sol.

gl
Cost price of heater 47'_-»2'J,'5 = Rs. 4600 &
Selling price of heater =322 (% =Rs. 4500
Loss gk = 46004500 = Rs. 100 &1/
Loss ¢
Cost price » =4
_ M 00%="20 =2 179
4600 46

Cost price of oven .:.5:)_-2&;1»1 = Rs. 14500 &

Loss % s~ Juls = x100%

Selling price of oven .;-5:/_-4'," Juul = Rs. 14000 &3

16.

Loss @l = 14500-14000
=Rs. 500¢?_ Iy
Loss wi#
Cost price » 7=
1
500

_———x100% -

¢ LA

Eman bore less loss on heater. -l:fula?"& afull

The marked price of a computer table is Rs. 6700. It

is sold at a discount of 12%. Find the selling price of
the computer table.

Loss % »# 0ol = x100

Vie d&:d}.&){' R%4Ul-& 9146700&‘53}6”{,(;:‘)5{—?

gt Gerd

Sol. Marked price of computer table = Rs. 6700 &1

_‘.-A_; M’ :‘,J} J}f_’.’z_’,f

| .
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~o|ved _Exerclse-- il

] AL " .

f; Discount %o L/d_a,,{ = 12% :

¥ . - ; s R L L L PR L L X %
f | Amount of discount f,d‘.:_.,{ = 12% * 6700

| 1. Zawar has annual Income of Rs. 1000000 Fing the
4 = -I% %6700 = Rs. 804 s amount of Income (3x.

Lt AL 1 101000000047, iy
Sol. Zawar,s annual income = Rs. 1000000 Yy
uAT;Ul/JJ:J

L L T T Y

Sclling price of computer table =
Marked price - Amount of discount

=Atls - Ak Exempted amount ﬂu’-’ = Rs. 600,000 .y,
=6700-804 = Rs. 5896 & Taxable income = Grass income - Exempte !

2. L
l e 3 P oA duif - “J
Skill Practice: ' iy = 1000000 - 660,000 = 40000

,* The marked price of a packed tea bag is Rs, 350 fi t AN BV AL,
including 5% GST. What will be the original 1 \2'¢ OF eOme tex /1 S ’
Income tax J& = 2.5% x 400000

T Y T

price of tea bag?

O Y T T Y

Jﬁf';i-’:—’1350-=—‘l"a}(yz:~=»:’duﬂ’l.$’-5°/o{L}id’Lyuﬁff = 2, 400000 - s, 10000 «_,
Lol : ’

2. I the income tax paid by All is Rs. 10000, thep Fing
the total annual income of Ali.

wtd /r:“" Jale UVJJJ‘ - (:(’J’Jg‘ﬁd'_u I GOOOLJ

Sol. Let the orignal price =2 M =Rs.x T
Marked price Orignal price

Yy YS

0 ‘
3507 o) : Sol. Income tax paid by Ali = Rs. 10000 &,
350 " il -
105 - oo Rate of income tax L}JJElfl =2.5%
150 Amourll'nf income tax = Rate of income taxxTaxable income
aaT SR AN FATZ IRy 4%

T T PO 10000 =2.5% x Taxable income d;u—i}:g

5 i T S
Thinking Time: ié.rw 1‘0000 = 1000 x Taxable income d;ijﬂ}u'
* Can you guess value adﬁed tax whether a direct H;ggn % =i
tax or indirect tax? 10000 x = Taxable income d;ngJG

] ¢ 5
Rs. 400000 = Taxable income JJ—E}G
Total annual income = Taxable income + Exempted income
alz i f HJ&/“E‘JF + U-l-"k?-/
Total annual income J4T:uLJf = 400000+600000

| = Rs. 1000000 &y,
3. Asra owns a plot of worth Rs. 400000, Find the'
amount of property tax at the rate of 3%,

q/ph‘ug@;w&°/o{gﬂ..¢4;.u{00000;4kf¢q£lﬁ

Sol. Worth of the plot =lfeit = Rs. 400000 .y, |
Rate of property tax Z,;JJgJ/L; = 3% N
Amount of'pro'perty tax f:J -.J{r{= 3%x400000

-q_ug,w'ggJ,l,ng..QVATJu_réb’ww.,Ty’
Sol. [t is an indirect tax. -,AJ'C'J:»"’G-{':

Skill Practice: :J?‘J,A,rJ
A real estate Eent receive Rs. 75000 as
commission. Which is 6% of the selling price. At
what price does the agent sell the property.
e r/dma%.,.vfu":_msooom’u:n,z_/_-,s,)ngt,.g

‘ St s d SLitV
Sol.Total commision u’{f = Rs. 75000 £,
, Rate L/ =6%
Amount( of commision = Rate of commision x North of property
AR Y A N

75000 = 6% x Worth of property =2 {isl

3
= l‘-e-.g-x400()ee’ = RS.|2000 {;..h (1

4. Faheem owns one plot and a house of values

6 Rs.4000000 and Rs.7000000 respectively. Find the
75000 = J00 ~ Worth of property _;,gLJ,u,_‘q_, amount of property tax at the rate of 4%.

100 J;m:) : ' uf-c".d;.3170()0000.uld'_u400000()...._;;l.,.::,;’LJ//,I.;‘Lbél{"
o U = Worth of property =il :

R R R R R R R AR R R R T

- " -
by -QJ(PU“‘;J{l{c.__-Vd.--I%{J

Sol. Value of Faheem,s plot =S AL A Rs 1000000

_https://stepacademyofficl

= Rs. 1250000 &1
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T

RS e s S

“' value of I “aheem,s house = R:, 7000000
L

ML 5 = Rs. 11000000 &1,
fotl value of plot and house
AHAA et = Rs. 4000000 + Rs,2000000

=Rs. 11000000 ¢,
Rate of property tax HAVA dgly =d%

Amount of property tax Jt&fg *U44= 4%x11000000

4
- —[E x 110000 00 = Rs.440000 &t

man paid Rs. 17000 as property tax a the rate of

% Find the Jpolal value of the property.
d’m?xl%b/ del S dI'/Lu]'mOM_dJTJ
-J/ph’..JtJ’J,u,b
g, Amount of property tax LB, = Rs. 17000 2o

ate of property tax L, 2UF 0ty = 1%
Amountof operty tax = Rate of taxxValue of property
£y LA« 2hbis

17000 = l%x Value of property .:»_{L&lglg
17000 = | 00 X
100x17000 = Value of property =il
= Rs. 1700000 £»,

§. Ammar wants to buy an air “conditioner of price
Rs.200000. If the rate of GST is 17%, then find how
much money Ammar has to pay? :

K /z{df-c.A_JJZGOOOOJ‘.Jgfc_Lbe]/Jf/IJ b

v&_/tﬁ,tmﬁ/ku’ umn%z,/d'ua

Sol. Price of air conditioner = Rs. 200000 & s/

=S A

Rate of GST LS GST  =17%
Amount of GST A& GST = 17%x200000

Value of property =du(Hlub

17
- 15> x 200000 = Rs.34000 _,,
Money Ammar has to pay = 200000 + 34000
=234000 &+

1. The price of one chalr is Rs.5000. Find the amount
ol GST on 50 such chalrs at the rate of 17%.

Fre L0 17% u:r/ 50L1-g & 1,500024 /L]
-u/pw"
Price of a chair =2 JU/{1 = Rs. 5000 &

Price of 50 chatrs ..JJur"/SO = 50x5000
= Rs. 250000 &
Rate of GST LA GST = 17%
Amount of GST 4/ GST = 17%x250000
17

= —X

100

Sol.

R

B omeapirr et

i -Wﬂ\ AT ¢_1442¢._JI.«__,¢}U£.’__;,J<(|.,€ J;ﬁ WPy

AEBEBIARRD

PEubn

NI

I T T A e A R R

A4 daaa gl EaqiaoIPIIIIIPIID

CHRAAE AR A4 210109494 edqqeqdiddandidas

250000 = Rs.42500 &» :

8. Waqar purchased ten packets of biscuits for Rs.350.

He paid VAT of Rs.42 on ten packets. Find the rate of
GST on these packets,

‘ae

APV IR7
Sol Let the rate of GST (,/J(,5|\/J/ = x%
Price of biscuits ._.)J #4 = Rs. 350 & v

Amount of GST fJ(,M ‘Rs. 42 &1
350 x x% =42
X
I0x— =
“Too ¥
x = 42x 2 - 12%
350

9. Naveed purchased a shop of worth Rs.6500000. He
paid property tax worth Rs.520000.What was the
rate of property tax?

4-9/520000 Ll £ 2,6500000 = U Sx Ss Ll £ 1

-U’f(:""b/l!\.fa d/'/-ifb'f M

Let the rate of property tax =X %

Worth of shop =JtJwks = Rs. 6500000 &

Worth of property tax ..JLJ d/I/ = 520000

x% » 6500000 = 520000

Sol.

X
— x 6500000 =52
100 X 520000

o 2
5 55 0000
= 8%
10. Ali sold a plot for Rs.5000000 by an agent who

received 2.5% commission. Find amount of
commission.

LAV espe 3L st Ut 95000000 2t L L
-u/rPfJJwJ:u’Jmu’/;...w;z 5%
Worth of plot =4lfe b = Rs. 5000000 &

Rate of commlssan/J J‘f =2.5%
Amount of commission (i & =2.5% x 5000000

- f{><——><5000ﬂ',0('f = Rs. 125000 & s/

Sol.

o0

11. Salman sold 50 articles ol a company. If each article
~is sold for Rs.2500. Find the amount of commission
earned by Salman at the rate of 2%.

:‘:1&.-312500..)3/—#‘ Jc. /I.JJ;)VISOJUIJ

L GU'JJJUU’LHVL
Sol.  Selling price of 50 articles = 50 x 2500
=aj=df1B50 = Rs.125000
Rate of commission LAJe™® = 2%
Total amount ofc.otnmissio_n = 2%x125000
2125000 + Rs.2500

1450
s Re 2500 & v
R,\,-:‘((hr!—!
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12. An online car service charges 20% commission from }

its drivers on each ride. It a driver got Rs. 5000 from

all rides in a day. Calculate how much fommission :

did he pay to car seqvico?
u{(/'l-{_afdfl'ﬁ{dJ‘PZ“‘%LU!JEI/!%_IJ,/J(JUUT.Q
NG V05000 e U2 UL 0 (1 L 4£E0)

ot ')'W‘%WJJ/

Sol. = Rs, 5000 &1/

Total earning of driver
Qs

Rate of commission {, /‘Jﬁ-‘-{ = 20%
Amount of commission paid to car service = 20%x 5000

Ua:{g)b’o)/(l:lr(j’/w'

20
« ——x 5000 = Rs,1000
¥ v

13. A travel agency got 5% commission on the sale of

air tickets. If he sold tickets for Rs.2000000 In a day.
Find lhg amount of commission,

Lufie dmete L s, 0 Syt
Sl -Ju'l?unJ.-.s:)utu:._flu:’”gfaruzooonon

Sol. Total sail price of air tickets

JWJKJUPCYJJL:’.JM
Rate of commission Q;J‘fﬁf = 5%
Amount of commission HJJUJ*-[ =5%x2000000

5
=g 2000000 = Rs.100000 "y

14. An online market place charges 7% on all the sale
from ils sellers. If the sale of 1000000 rupees is
made on Blessed Friday Sale. Calculate the amount

s et_commission earned by online market place owner.

/ﬁ-«%.dfdfﬂ%{d‘(!&;u(ﬂ&:}%quﬂlﬁﬂu?’_ﬁ

2T Iun sy ) BIEL 1100000005 L i =a2

= Rs. 2000000 &

YA AV
Sol. Tota} sale of Friday =RS. 1000000 &
SUSS S dizaz

* Rate of commission {25 = 7%
Total amount of commission = 7%x1000000

A
7
ot E—éx 1000060 = Rs.70000 J'_,u

15. A consultant charges 10% of the visa fee for its
consuitancy. If visa fee is 1000000 rupees. Calculate
the commission of consultant.

10000002 13/1--b/Ur 10%4@-‘.;:;{ e i

Y sl L':cf‘:{ Jﬁ‘u:"d f;:te.u
Sol. Fee of visa <12 ~ =Rs. 1000000 &
Rate of consulting fee L/‘JJZU.JP = 10%
Total commission of consultant = 10%x 1000000

10
Y x 1000066 = Rs.100000 &y

| sin practice: |03ty

:e A farmer produces 18000 kg corn, Fing hiy
: amount of ushr at the rate of 15%. The y,

: te ot
t corn Is Rs. 110 per kg.

E (g S L s Lo S ¥ 1001
LT
i Sol. Value of 18000 kg corn = 180007110 .

A SG ¥ 18000
Rs. 1980000 £,

Rate of ushar L2 5%
Amount ofushnr?zJﬂ = 5% # 1980000

5
L A 1980006 = Rs.990(
106 - &

PABBIEBEARNRREED

. W vos

olved Exercise 1.167F

1. Find the amount of the zakat on 15 tola gold |1 vajy,
of 1 tola gold Is Rs. 130000,

»
*
{
a
*
&
*
&
L]
.
*
-

PARRABERASSRILERNRNRRANS

Sol.  Value of 15 tola gold

=2ty Iis
= Rs. 1950000

Rate of zakat LA 1/7 = 2.5%
Amount of zakat #§557  2.5% * 1950000

25 25
= 22422 11950000 = Rs.4875
0 100 S g

2. Find the amount of zakat on 80 tola silver if valye of
1 tola silver is Rs. 1500.

4150025 SR 91 Sy o3 Ky s dimn
Price of 80 tola silver =80 = 1500
2 Y5780 =Rs. 120000 &,
Rate of zakat L7345 =2.5%
Amount of zakat 4S5/ 2.5% = 120000
25 1
. Iﬂx lJ(!ﬂxlzoﬂﬂﬁ—Rs.3000 Ly
3. Raheel paid zakat worth Rs. 47000, on gold and his
savings. Find the price of gold if his savings is

=15~ 130000

PEBIRRINE

CEAELAEEITRRIIDPIIRDIBD

dacaqesd

Sol.

A4 ddedEaaaaIIdeadeeqeeEaeqaeeae

Rs.1000000.
VYO NS M ¢ W S34-1047000 g 1l sl L1
3 =1 3,1000000 =5 JJ’J"’
Sol. Total zakat ‘a‘ﬁf = R's. 47000 Lu'
i Rateofzakat L2547 =250
Amount of zakat = Rate of zakat x Total amount
: (“Jd"i:"’) L/"JI?’) x :J_H)’
47000 =2.5% x Total amount -'J_hf
47000 = %g- Xﬁ x Total amount _-,g;J
v 4
4700 x _El_g' *408 = Total amount A

1880000 = Total amount IS

1213000024 L rI71 /'-d./r)"b"/zi-r.!iu

el
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Saving &5~ Rs. 1000000 i 10% » 400000
Price of gold =0y = 1880000-1000000 14
: o ~ Rs,40000
| Rs. 880000 &, puivE AL -
' Find the amount of zakat on lotal of 9 tola gold and : 8. Hamid has rice crop of worth Rs. 800000 irrigated
y, 4 : P
50 tola silver it the values of 1 tola gold and 1 tola : by artiticial resources. Find the amount of ushr on it.
¢ sliver are Rs. 130000 and Rs. 1500 respectively. 2 de & )J:”J‘QT-J:}VJ =)L 2_3,800000 Jd,pz‘_,t.
)8 _zuJu;y,,u_.rﬁq/}}-’m{ﬁdﬁ-’{dﬁyﬂsomLrJ}’sv ' ,_u_fr}-'.’/nfﬂaﬂ-df
f ‘-’”r”'500/1"’,—”'30000*{.;‘ 5 Sol. Total worth ofcrop QLJ(!J:’ = Rs. 800()00 {.'-J/
‘\ sol. Value of 9 tolagold = 9 x 130000 Rate of ushr ?J/Ur/ =5% :
o A7 i Amountofushr =Rate of ushr=Total worth of crop
= B Ji9 : u
_. “Rs. 1170000 &1, s = LAY xS
| Value of 50 tola silver = 50 x 1500 : = 5% x 800000
; = 75000 & 5
Total value of gold and silver = 1170000+75000 : T x 800004 = Rs.40000 o

edr s bally  =Rs. 1245000 &/ 9. Suleman paid ushr of Rs. 6500 on cotton. If the land
Rate of zakat L)J 5 =2.5% _ s irrigated by rain, then find the worth.of the cotton.

Total zakat § 760%  =2.5% x 1245000 F .l Jm‘.’—u'ﬁcf:hf ST ‘4r,;65004d‘5JJ( Ly
LSSy

Brrenrnnrn

i B :
T AT 1245068 i Sol. Amount of ushr P8P =Rs. 6500 &
=Rs. 31125 & s : Rate of ushr Z,;J/“ =10%
| : : = f crop
a has jewelry of 11 tola gold. Find the amount of : Amount of ushr - =Rate of ushrxTotal worth of I
e, ] ' % LY o« A

zakat on it if the value of 1 tola of gold is Rs.130000.

In

10% x Worth of crop bﬂd’f

L pieuns0000ad S Slgte gL Ll InLe ol
: ¥ : 4 ] "
> ..u_’)?‘ﬂ"'iﬁ{dl?n 6500 = 100 Worth of crop .&;‘LJJ‘J
Sol. Priceof 11 tolagold =11 x 130000 108 5
Afirlin = Rs. 1430000 6500x "7 = Worth of crop <A
= Rs.65000 & s/

Rate of zakat L, A0 595 =2.5%
Amount szakat KJJF}/J =2.5% % 1430000

DA iy
A
6. Zahid paid zakat of Rs. 23500. Find his savings.
Lt S 0235004415
Sol. Amount of zakat fzJ’i:’”J =Rs. 23500 &
Rat¢ of zakat = Rate of zakat x Total saving
i LA« e
23500 =2.5% x Total Saving £

-
—— —— 1 LA
70 %100 xTotal Saving =% S

10. Find ushr on 850 kg wheat irrigated by natural
source, the rate is Rs.110 per kg and 1250kg
potatoes irrigated by artificial resource, the rate is
Rs.60 per kg. b

110d Jrlfay S el ¥ 850§ =¥ B1usdos

i odle B A e S nsos.e o Ko

..)1'."_.;160&2 J)Trl/:f ('}J/ 2 /(}" /“(f{

Sol. Total worth of 850kg wheat =110%x850

ASUep /¥ 850 = Rs. 93500 Lx
Rate of ushr LASY = 10% i
Amount of ushr = Rate of ushr x Worth of wheat
iS4 = LAY« SRS

10% x 93500

g
= ——x93500 = Rs.9350 o_,,
g~ % =

x 1430000 =Rs, 35750 %

23500

- 1000 . &
3 23500 x — x 406
25

]

Total Saving :{J

3 Rs. 940000 s, = Total Saving =2f
‘7 7. Ashan has a crop wheat of worth Rs. 400000 : Total worth of 1250kg potatoes = 1250 x 60
. irrigated by natural sources. Find the amount of ushr ASSus T ¥ 1250 =Rs. 75000 &

Rate of ushr L 202  =5%
Amount of ushr = Rate of ushr x Worth of wheat
N
5% x 75000

37500 = Rs.3750 i

149
Total ushar #f = 9350 + 3750=Rs. 13100 £

onit. :
VY ed P 813315 404000004 S S5
LS PG
Sol. Total worth of crop =Jl fSU* = Rs. 400000 £

Rate of ushr Z,/‘J/" =10%
Amount of ushr =Rate of ushrxTotal worth of crop

a4 - UAF A

1l

datdae
Cllt-c(il|lolctdiltllldlddlldOtdilditclcddi11411(1411111lldqcl1lcilc!!lql!l(IGilddlliiclll4lc<4|ld¢lico)bllbbbbbbbhllbtlb

e e
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Sub-Domain (VI): Squares and

Square Roots 0 /Lii0,

i

Sknlpracuce::cP“J,ue

numbers:
i 37
Sol. (37 =37x37
= 1369
(iv) 429
Sol. (429)* =429 x 429
= 184,041

OREL
i Sol.49

Find the perfect squares of the following :

-bf/('h'dﬂ}; Lol s

(ii) 58
Sol. (58)?

(v) 900
Sol. (900)*

= 58 x 58
= 3364

=900x900
= 810,000

" Challenge: é‘

*  Write five numbers which you can decide by
looking at their ones digit that they are not

square numbers.

-U‘U.}d/t};f\f‘l:/{qc_/ﬁﬁdﬂ be’u‘lwd_léb
Sol. 98, 277,422, 113, 2588
A perfect square does not keep digits 8, 7, 2, 3 at

o EI8,1,2, 34630 L B p Jk

ones place.

H Skill Practice: : GA(

*  Which of 1232, 773, 161%, 109* would and with

digit 1?

Tfnf’.:_l{.—_.;:a.z.béb’wlzufr_gﬁ123', 77%,1613,109*

Sol. 1612 and s 1092

21
®  Check whether the square of proper fraction 3
is less then itself or not.

-gﬁif_?){c—dld/l' —;—é/.,.-zh,ﬂfq)vt’{

(21) _ 441
nklys) Tids

By compairing

2] 441

351225

21 x 1225,35 x 44]
25725 > 15435

21
— > 15435
35 13

® Check whether the square of decimal 0.35 is

smaller than itself or not.

e the1Br¥035 80 ST Sy

Sol. (0.35)* = 0.1225
By compairing
0.35>0.1225
so proved Iyt b

50, 0.1225 < 0.35

e Ll

ety

BEEEBERRERRS

LR TR TS

square of 49 L K49
(49)! = 49x49
= 2401

(i) 75
Sol. 75
square of 75
(75)* =175%x75
= 5625

&,¥7s

2 (v) 230

CEBBRRERRI IR

Peesnp

srrrep

llllllolllIloblvbilbillllll-bib-.b

R R R R L]

A R R R R P LRI C LTI

daddaadaaa

Sol. 230
square of 230 8,¥230
(230 =230x230

= 52900
(vii) 279
Sol. 279
square of 279 &#¥279
(279 =279x279
= 77841

1. Find m squra ol lha lollowlna natural numpgyy

-u)}:“’d/f-:'n'dmw
(i) 66
Sol. 66 i
square of 66 d/"ﬁﬁ ,
(66)" = 66%66
= 4356
(iv) 111
Sol. 111
square of 111 &y (1
(111 =11lxpyp
l252]
(vi) 313 ’
Sol.313
squareof 313 &3
(313)* =313x313
=97969
(viii) 400
Sol, 400
square of 400 & ¥4p
(400)* = 400x400
= 160000

2. Check whether the following numbers are prefec

-Uﬁu..r oY L}&J"J‘ STy /Jt‘{

square or not.
(i) 900 21900
Sol. The prime factors of 900 = 2x2x3x3x5x5  TT3%p
26342900 372723 ;
Each prime factor of 900 forms a pair so, 3—% ‘
900 is a perfect square I3
-4_6/‘,){_('9004_‘;1-5_tt,u,zu_ﬁm)g;b’ooo B

(i) 912

Sol. The prime factors of 912 = 2x2x2x2x3x]9

s AL912

Each prime factor of 912 does not form a pair so,

912 is not a perfect square

-r-u“d/f.f 9lzé_ur¢cb;u‘m,>.,ﬁm/‘,r9w

(iii) 1764

Sol. The prime factors of 1764=2x2x3x

" L1764

Each prime factor of 1764 forms a pair

50, 1764 is perfect square

912

[t 2
Jédﬂgg

: L
lsl
= o
z

114344

|

e d/\); |764<§'-Lf"-r‘- H‘«UJZ._C’W:)_‘,:!' 1764

e —— e

=
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3. Find the square of following numbers by using the

property of perfect square. _
SIS Yt nl SIS S80S
n

(521.72 is an even number s0, its square will also be an

| evennumber _(mﬁ;jzfd'/KJlAg.)x:ﬂvg72f(J[

| ' (712?=72 x 72 = 5184 is also an even number.

‘,’ -L:xﬁugf,

(i 80 '

§0l.80 is an even number so, its square will also be an
even number «Vnu‘cfizft’;/(dfq_wd’--g%fu[
(80)*=80 x 80 = 6400 is also an even number.

! ..c..w.:i’-.._flo";

- (i) 63 ’

50163 is an odd number so, its square will also be an

odd number _g,q 54584 /s’w__&gl.g,x‘}w__f 6350

(63) = 63 x 63 = 3969 is also an odd number.

e AL

Cdddqdqaaaedaada

R R R R R R R R PR PR TR PR R T

Sol. 0.18 is a decimal number less than 1. so, its square

will be smaller than itself.
A e NG UL U3 1 2e 001 S50 L0018
(0.18)* =0.18x0.18 =0.0324
By compairing we see 0.18 > 0.0324
0.18 > 0.0324 Sotpe i Lty

(xi) 0.23
Sol. 0.23 is a decimal number less than 1. so, its square

will be smaller than itself.
b e VI KL e b | R 251 A1£10.23
(0.23)* =0.23x0.23 =0.0529
By compairing we see 0.23 > 0.0529
023> 00529 g Loy

(xii)0.04 :
Sol. 0.04 is a decimal number less than 1. so, its square

is less than itself. ‘ S
HtAe NG U S 12 g /24157 £10.04
(0.04)> =0.04x0.04 = 0.0016

—

[

1600 21600 § (W) 3
(M) 33 orime factors of 1600 §11600 | IV) 988
|, The prime by el Y 17800 & Sol.355 is od - , : .
§o 2X2%2Xx2x2x8§x§ I A00 - d number so, its square will also be an
wAL1e00 o rtagy ¢ Cddnumber g ST e smJUtings S
gach prime factor of 1600 forms a pajy ;120 : (355)? = 355 x 355 = 126,025 is also odd number.
" 1600 is perfect iquarc r—ag ) S .?_;mj&b-{'\ﬂ:
L Pd 116000 e bR i)\, A ¥ idgs 1 B el
.f,—V/‘y ? ’//"“C‘OQ ey 1 Sol. 524 is an even number so, its square will also be an
50 : even number Gsucd S8 6 e su i L1524
,) |6- ’ 9 2 1650 * N YT /! Jé.)li -
ls‘ol.Thc prime factors of,1650 T35 § (524) =524 x 524 = 274,576 is also an even number.
e AL1650 =2x3x5x5x] | B 3 -r_m:—h-ﬁ(ﬁ }
gach prime factor of 1650 does not form ;-—%5 2 (vi) 4216 ' T
| irso, 1650 is not perfect square s £ Sol.4216 is an even number so, its square will also be an
v apfLnesoduttatt sa i 1650 o evennumber _fpeif' 6Uie esiifi4216
| *2100 i ' : (4216)%=4216x4216=17,774,656 i also an even number.
(gl 2]2100 i IS (1
‘: (SoLThe.pnme factors 0of 2100 e 371050 : (vii)821 9315.-‘7-.{‘-(.
i . = 2%X2x5x%5§ T 378 "
; ks ML2100 £ i %ﬁ?z)—s 2 Sol. 821 is odd number so, its square will also an odd
Each primef factor of 2100 does not form 3T 2] : number -b'mew(f‘C"/b’JLf_leb..g 821
- pairso, 2100 1s not perfect square T| 7 % (821)*=821 x 821 =674,041 is also odd number.
_ M}fzloo_LJl-twﬁ"b‘i-’Jiuﬁ:u;}*ﬁb’z100 i _.f__me._ﬁu",
[ e 3 (viii) 629
1 3025 1 S0l.629 is odd number so, its square will also odd
(vi : S 13025 : number T & 1
| folTho prime factors of 3023 =55x11x11 S 605 1 o0 I 629.:';);:%(&/@.;_”\;&;9 o
ey PL 3025 Hater 2 4 95,641 is also odd number.
Each prime factor of 3025 form a pair U———Il] PARY -%"Pwvgbd:
| 30,3025 i perfect square ! - : . : :
.e-d/ .—ﬁ,_id'-c‘:.t‘lalﬁmk:/“/;bﬁozs ' Sol. gl.r.‘]i:”:;sr ?hgreﬁlg::‘ less than 1. so, its square will be
| (it} 710 2[710 3 : oo S
Sol.The prime factors of 710 =2x5x3x3x3x3 317333 | fg;’;)"'fiof f{éﬁ"f U2 1 /51 f0.33
N ALT0 L™ R - S
Each prime factor of 710 does not form a ;2 By compRlring we ges (L1NESS 0'3’; e Ry
pair s0, 710 is not perfect square 3 i sia 0.1089 < 0.33 Slnps¥e /il
e b Mottt tne sy fnémo 1 10 0

R S—————.
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By compairing we see 0.04 > 0.0016 ,2..5_
ol 004> 00016 gt i Ly (xvi) g

(xiii) -:—i Sol 25 is a proper fraction its square isless than |~
. d R

L : : .:..ﬂ::— I d/ﬁ/'é‘-tﬂ,é/-,—u,_g %

Sol. 6 is a proper fraction. so, its square will also be %

25\> 25 25_0625
smaller than this. ( ) )

28) “28728 7184

Benssasenmnbanabannon

Kt 12 bl 2 y
B g oy » 1&-]6/“]’4%}”.4’/‘7)' "'.f 16 By con’]palﬂng 4'_-‘_[:1-,,‘
(—J =™ Nes ; 25 625
16 256 : 2 —
By compairin Ll : 28784
14 196 :
: 1900, 17500
16 256 : > 17,500
14x256, 196 x 16 19,600 y
3584 ,3136 25 b 625
384> 3136 28 784
o> 1 Skl ractice: .- 0y |
256 ;
2 ¢ Find lhe square root of 225 by long diviliou
(<) 18 method. -J/(PC—L)‘CHCMMVZZS
2 ....___—
Sol. T is a proper fraction so its square will also be : Sol, V225=15 335
1
smaller than 1. -1 !
-4.&‘:{;1&/“_[!4_’_‘/@_/?215-9% o4 125
[2)2 X ok ~125
—_— = — =
18 18 18 324 0

e  Find the square root of the following decimals by

1'11l!ll!illllllll“(llil.lllllIIIl‘lll"llllll.blil)hbbitbIl)lDllllblblililbblbiPO..‘!PIDDI‘IID!![

By compairing e il
R prime factorization and long division method,
: 21 8 '3;;4 b PSP B i S
X : X
648,72 (i) 17.64
648> 72 Sol. 1764 2|1764
o4 Shtaea 27882 2100
18 324 31441 2|50
1764 3
19 TS 147 5|25
(xv) 28 : 7149 515
19 § & V2x2x3x3xTx7 7{7 l
Sol. 5g is a proper fraction its square is less than | g V2x2x5%5 I
Sl " 1
et d/b’ufid'c—/——’"-f = (22x3: x72)1 Division method
(1_91) _19 19361 T (2xs) 7y
28) 28 28 784 b g P
By compairing e et Y : i x 32 7 * 42
19 361 2% x 53 i 17.64
28784 2x3x7 :
19-x784 , 361 x 28 : SR 164
¥ 82
14896, 10, 108 : 4 —164
14896>!0,|08 : ~ 10 0
19 361 :
28784 : =

R
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121
i) 121=\150

ol
- Jioo

(1)

—————

(22x57)"

J121 __ Jix1]

32x2x5x5

Division method
TP

~Jl.2]=-;|.|
1.1
1.21
~1
21
=21
0

82

olved Exercise 1.18

1. Find the square roots of the following natural

numbers.
) 49
Sol. 49

Taking Square root
=& UM

/3

N o

(iif) 144

Sol. 144
Taking Square root

el
J144 = J12x12

= (121)?
=12

(%)
7

(v) 324
Sol. 324
~ Taking Square root

, i
324 = 1818

1 1
= (18)
=18
(vii) 529

Taking Square root
2B

V529 = V23x23
=V23=(23*)
=23

———

(i)
Sol.

(iv)
Sol.

(vi)
Sol.

- /(r!!" EAig L s\l 310} 0000

100

100

Taking Square root
2l

V100=+10x10

(viii) 676

i
V10? =(107)7
=10
196
196
Taking Square root
& Gk
V196 = /1414
= (147)"
=14
784
784
Taking Square root
ol '/}bjg
J784 = J28x28
ol
- ()
=28
Taking Square root
2B
V676 =J26x26
- (26%)*
=26

(23]

LA AR A R R N

L Y T NN

Sann

s

L T T T T TN Y I

AhbbNR

LEEEERRREER SRS YY

LR R R R R R R R R RERERRERERCRCEEEREERCRREED)

r X

()

Sol.

(ii)
Sol.

(iii)
Sol.

Find the square roots of following number by Prime

factorization.  _/ [ A a8 b i
900
900
2| 900 +
2450 o
2] 225
375
5[25
FEN S L
%i 75 ()
Prim factorof 900 = 2x2x3x3x5x5
sesPL900 = 2x2x3x3x5x‘5‘
= 22 » 32 ):52
Taking square root ‘;,é_&/b.v
2 %3 x5
i 1 V)
= (21 )1 X(3I)? x(si)l
=2x3x5=30
2500
2500
2 | 2500
21250
5(625
5125
525
FE
|
Prime factorg of 2500 = 2x2x5x5x5x5
My PL2500 = 2x2x5x5x5%5
=22x52x’5!‘2 ’ :I,:_
Taking Square root ' 4.4(‘}/'1_'
AT 1997108
V2500 = 22 x5 x5 i (1
- /22 x 52 x 5§ 10U 0 dlenbi
=2x5x5 - HaUm Noed]) "€
- 50
1849 " TR ;{MH“
1849 W?’,.M
43 | 1849 g
BB 8T (1Y)
T - 60%T
Prime factors of 1849= 43 x 43 ,enbe fuier |
s AL 1849 = 43x43
= 432 o
Taking square root r_.c‘._,.d/‘ug
J1849 = [a3°
1
- (437
=43
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= ot mr ke o (e, el e

(iv) 1444 < . -
Sol. 1444 T i Taking Square <&l
2 | 1444 B 2 x2ix2 _2x2x2_8
T 75 FYR B i - AT TR
19 [ 361 ; i (vii)7.29 ~
1919 / i 729 AL
R i 1 : Sol. 729="1p0 2100 3243
'Erimg factor sks4 1444 2150 3 g‘li
2x2x19x19 3 2125 3 ;
~2x2x19x19 T 2 |5 ; 3
Taking Square dd/ . 3 ’ —
W : e 'JJ., E 1
J1434 = 352 x\19x19 : e
_ e s 729 3x3x3x3Ix3x
= V27 x19? i | Primefaclors 190 = 537 x5x5
2 L 7 x3x3
y 3 2 22 x5
W) 1—494— - Taking Square root L%Cf/bg
Sol. 2| 144 P [Px3x3_3x3x3
Z—ﬁ § 2% x5° 2x5
i 7149 2136 =7201=2.7
== 717 2[18 o
e S 2 | 676 2100
CF 5 . _ 676
o o 3£Sol. 6.76‘_—“]00 : 2 (338 2[50
; Bl s N 13[169 525
Prime factorization (§ £y — = x F
rime factorization ()4 T FFTE PR FETE : 13 :3 5 15
211 676 _2x2x13
Tx2x2x2x3%3 & NPricne factors oftt, el o 222 %13%13
. § rime factors of »k,** o0 3 X% 525
T 22x2%x3? : - 2x13
Taking Square ed i i 2' x5!
AR ) s 2 bl
pabvig @ yall » 7 : Square root & iy = 2 S
alg2dx23x3? T 22 x2ix3? : ) x5
aMucnsm ggsy g Zx13 _ 26
8t coin0he 80 2x2x3 : . 2x10 10 Ho
p : 3. Find the Square root of following numbers by
N i g =15 ¢ division method.
(vp-;sﬁl_; i o 6 SR B e Y B PN
225 : ' ‘
MaRad) o z
5[225 232 5| 576
5145 2.[16 _4
338 2 :
ERRTT ] B
1 212 § V576 =24 —x_
“HI : (ii) 2304
; ot i ? Sol.2304 2304 = 48
Prime factorization 275 : =i
d/- A : : 4 2304
o AXIxINDnIxgG Vi xJrx) ¥ 88 704
5x5x3x3  §x3 : ~704
i : : V2304 =48 -
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N

)l'ill

“mzl Jisa =

1521 =139
Gol.0.0441 441
= 10000
441 ] 441
10000 = V10000
3
= 5 =021
1521=39
0.0441=0.21
256
(v) 1089
256
Sol- {7089 |
256 16
“Jlogg 33 26
. 81
(VI) 28
81
Sol.z’gg

. 676
(vii) g41
Sol. 676 /676
841 84l
_ 26
- 29
(viii)26.01
Sol. 26.01
J26.01
5
101
J26.01 =5,

:ls
|

POSORLPROIRDIBRIDANNS

- 101

X

1321
Ko SPIEEN
621
69‘-621
.
21 100
441 10000
2 id 1 sl
4] X
4| _
X
16 33
256 | 1089
-1 -9
156 189
_156 93| _189
X e
17
9 L 289
pr— "l 3
o| 8
X - 189
b4
26 29
676 841
(I 2| g
276 441
46(_276 10| -4aa1
X X
5.1
26.01
-25
101

-
2

lll‘ll"‘.lllllI.l‘.l‘lllllI'I.‘l..‘(l.‘I“IIl"l“'CCI“'II.‘II!C".ICCICIll(l'.ll“ll11l.ClI‘lC.liiiiﬂlllll.oilbhilbtillDI.ODDI’-D.lllDbbllIi))lh..ll..ID.DQID!DQ‘.‘I)DDl..DD.IDI..’O.

o T e 3 E . Y
Solved Exercise 1,197

In a lecture hall, 8649 are students sitting in such a

manner that there are as many students In a row as

there are rows in the lecture hall.

ZIY e tnle B )wﬁ’_)ua(.wu:d}/ Fuf!

b

i Sol. Total students in the hall H‘.JLLJ:’:’«FJ} 8(’49

2.

’

4

SO| Area of the plot

: Number of student in each row = J8649
RSy 9 86 49
=93 students & | =8I
549
183 _ 549
b 4

The students of class - VIl of a school donated
Rs.2304 for the prime Minister's Reliel fund. Each
student donated as many rupees as the Number of
student in class. Find the number of student in class.
Ldvd’q/c‘...qur“‘ irdenBL oo tag IS AL
u.'...m&"..p-ah—lé- ..Ju,--bf..l-r.pguzsmuﬁy

af ti:lﬂJu:}“JngﬂJu Ssduse

Sol Total amount of donation = Rs. 2304 &3

oSS
Total number of Students in the class = /2304
WU Iz sl
= 48 students /b 48
2304
-16
704
- 704

X

4

88

Kiran wants to wish her teacher on Eid Day by giving
‘her a self-made greeting card. She chooses a purple

sheet of paper. A side of that paper measure
19.5¢m. Find the area of paper she chooses the
card. '
J"kk;.{b‘a’_xiﬁbb’éghc_dkw:ﬁk’fvlc.luf
S St L L3N F RSl b Ulagm
..VJA.LM’LJIFJ b A1 19:5 :cm

Sol. Léngih of side of the card = 19.5 cm (~

JUJL./L/J ' ,
Area of the card = (19.5cm)*-
2185,8
=19.5x19.5
= 380.25 cm?
The area of square plot is 900m2. Find the length of
 the side of the plot.
-q/,'»dw‘.,w.r.r_..w-‘.goo.m,w,L,o*,,r
= 900m? 3

900
Length of the side of the plot = V900 3|
= 30m 0

~ Fttps://stepacademyofficial.COm/
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P,

f zeros in square of 40 is:

5. 400 Student sit in rows in such a : (xii) The number 0 C
number of row is equal to the number (:: ‘gm;::: i'nh: s ".‘"*”J)‘Lﬁd/&u
row. How many students are there in each row? @) | (b (¢)3 . (d) 4
/‘B/zf'd-,i‘4.JI)IJJUUWIUEZ‘_:’C)Jl¢u,,g)400 i (xiii) How many natural nllmbel;s IIF b'etl‘:(]ee.n 2,

WAL LM S b i 3 hS o

Sol. Total number of Students = 400 "0 i me (b)5 (C)r et

AAS b _Z-(:}O— (xiv) The ones place in square 0 P .‘JJV
Number of Students in cach row = /300 2 -4 SRS Lﬁd/{.y,
'S = 20 Students _¥ 0 (a) 4 (b3 (c)7 (d) 8

Solved Review Exercise 1 (b) J"‘uu‘f

1. Choose the correct option.
(i) The ratio of 2 years to 6 months.

(@)1:4 b)2:6 [Q4:1

(d1:3

(i) The comparison of two quantities with same :

kinds is known as: :q.t'll-cc:llﬂ’umﬁ;u’vﬁ LF-..('
(a) rate ratio
(c) average rate (d) proportion

(iii) The value of in given propotion: 6 : m:: 5:10

6:m::5:10 UIA"VJ‘m'u:.,/E'GfdJ

|2 (b) 30 (¢)25 (d) 15

(iv) The equality of two ratios is known as:
(a) ratio € (b) Increase ratio = s 5%
(c)rate L/ [} proportion &

(v) In propotion, product of means and product of

extrémes are: s

6{; etinlc S A AL NS
(a) less }L equal s/s
(c) greater I % (d) not equal S

(vi) If cost price is Rs 450 and selling price is Rs. 550
““! then profit will be
_(xdV;ﬂ'A_:1550_-—51/;:.-4,’:‘1;1."_”4501_]'.:‘{:"}’1
(a) 50 100 (c) 150 (d) 200
(vii) If the marked price is Rs.780 and selling price is
Rs.750 then discount will be:
e Jn.:-)f ;nL.u'ISO:JJ}:-f J)'J;.uS?ﬂ:a{. uf'(gu/l
(a) 10 120 (€)30 (d) 40
(viii) Tax impose on the income of an individual is

i, ¢ tﬂ{ﬁxkﬁ'b{&.&f&/’_{l

called 4

(a) GST - (b)VAT 5

income tax ‘f-://f (d)property tax J-CJ<I4
(ix). Rate of Zakat is . Q- LA

@)1% ®15% [Q@25% (d) 3%

(x) Rate of ushar on a land irrigated by natural

sources is 4 .
(a) 5% @i (©)15% (d) 20%
(xi) Which of the following cannot be at the ones
place of a perfect square number?
ch,f.;Z-,CJr IWAS p Ll LS snsr

()1 (b) 4 [ 9

—L{/-.—V;'lrylﬁ-://) ;

ceeAfhg e don

: (xv) A square shaped garden has an area of 100m:
Find the length of one side of garden.

: S uJJ)___(,Lbhﬂ-f.lOﬂm‘be’ugﬂﬁf{,
(;f){f . mo @1 (@

: the following in ratio and reduce it into loye
i Jyauf‘f’ul7;;‘-'l"vfﬁtﬁé‘ffdj,»;p

form: - ptd
0N %
o I8 2828 Sol.g—,;—'g=2ﬂﬂ:5ﬂﬁ
2 9ok 135 =
3:5 =2:5

(iii) 185 : 85

Sol. )85,35 =37:17 L

FhbebrpbRIRY

I (iv) 5 week to 60 days 6035

: Sol.5 week & =7 x 5=35days ¢

i s

: 7812

: (v) 4km to 800 m /<

: Sol. 4km = 1000 x 4m = 4000 m /<

i doghspl

,40’:8

5:1

2 (vi) 3 letres X to 1800 m¢ 2¢

: Sol.3 litres =3 x 1000 m¢ = 3000 ¢ m¢

) BEY.§

5 1

i 1sf

: 5:3

: 3. (i) Increase 15 in the rati . »

: e ratio of 8 su_’bzutszsfls

:S0l8:5x15= g-x+5 =24

e 1

: (ii) Increase 120 in the ratio 13: 10 .

S 213 10/ 120

i Sol.120 x 13: 10 = l2ﬁ'x%=|56

4. (i) Decrease 510 into the ratio of 7 : 10
G271 100500

Sol. 510 x 7:10 = 51ﬂxi%=357
(ii) Decrease 999 in the ratio of 2 :9 J/,‘Q:z:sa/ 999

Sol. 999 x 2:9 = 999-::%:222
1

A48t dqadtanne

-
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5. Ma gtlc: :u a:"s::tent 'l‘: l'm:reated from Rs. 3200 to Rs. (i) e : 10:: 25 : 50 (iv)q:3::24:30
3600 whal w ncreased in ratio? 2 ey
ﬁgsm,c:m:;zs:?o Sol. 93" iy

S e it U1 F 3600 & &1, 3200 2 =d S AL
Sol. 3600 :3200 = 36:32 'J"V&'.Jﬂbk
9:8

-
-
-
-
-
-
-
-

It old price of an object was Rs.890 and new price is

Rs.560. What is decreased in ratio?

1 s /56022 &, y =7 7 i
S Sunings J G0l Jy 7] i 10. Two watches cost Rs. 16,000. How much money will

Sol. 560:894 -Urifes
56 : 89

. A shopkeeper purchased 20 packet of almonds for

Rs. 16000. How much will be have to pay he buys 25

packets?
18 21 £ 7R 4316000 2K 20 £ Ursh & si¥s L
Mt L s ek
Sol. Let the price of 25 packets = Rs x
=2 Juskasu

Number of Packets Price (Rs)

20 16000 T

25 X

As number of packets increased the price will also
be increased. It is direct proportion.
-{_.‘/'/-,/g.:é—d‘dfﬂu_l]&;—z; LKIJLJJU;JU;‘QJJ

sk o
16000 — 20
25 800
X = g * 46006 = Rs. 20000 &/

8. A train covers 140 km in 2 hours. What will be the
speed of the train per hour. Also find in how much
distance will it cover in 4 hours?

W 38N 8/ LUt 1 Loie K 14080 1
S o i LUt s SY ISt >

Sol. Total distance A6 = 140 km ¥
Time (=%) = 2 hours &
Speed .U, = Distance , 16
time )

= 10700, i

Distance will be covered in 4 hours = 70 x 4
S 1oLzt ui® 4 =280 km X+
9. Find the values of variable in the following

proportion. -‘J_'/,'P‘,EZJ/."J.,.»MJ@J
(i) 5:4::x:20 (i) 2:6::55:10
Sol.giféﬂ:iﬂ Sol.a:h:55:10
5x20=4 xx 10xa=6x 55
100 = 4x 10a= 330
_ 307 _ 3
T ' LY
x =25 a=33

LR R TN A R R Y

-
-
-
-
-

PRRENY

BAREBREERIBRIBIRERIND

4 AAAdEEdAedd PP IR IR IR RR IR

44

dddddadadada

edecad

LR R R R R N R R RN

deqde

addenitnae

Sol. Let the required price = x = =4 . :’"qu’/

ex50=10~>25 q”30~3-24
50¢ = 250 30q - 72

_ 250 , B2

- TEE 17 30
e= 5 d q- 2.4

be require to buy 14 such walches?

fﬂf‘;ca’-ﬁé-*.i'ugfl4dl-q_z,.mmoo:-—icﬁ?/»

; i 7] 7

Number of watcher ;'.J’Jw_'% price —'—Z
2 T 16000 T -
14 X

As number of watches increased so price will also

be increased. It is direct proportion.

11.

_.7__-/u__/€,_iw-p(z.zf.-.—£c-a.z;'*EJ.Jz/
x__14 sy -
16000 ~ 2 e

14 §000
x = %16000 = Rs.112000 & »

1
Mohsin tooks 5 days to finish a book reading 100
pages daily. How many pages must he read in a day
to finish in 10 days?
10 inSioetS P L U5 oy & 100200/ T L
M2y E i S F LU

Sol. Let the required number of pages = X

:IJJ.:,L?‘,J-VL[J)
Number of day Number of pages
;LJJ;J;’: )'J;’d’:.lf‘

5 T 100 T
10 X

As the number of days increased then less number

will be required per day. So it is an indirect proportion.
,:_AJIJ‘#H;'A;J&WL'JL?LZJUULa:x:)rA;Ju;J-Eﬂ’

-C‘_J}G‘._‘—ft:
X3
100 10
5

X = WXIOO = 50 pages =\

12. If 42 men can reap a field in 16 days, in how many

days can 20 men reap the same field?
ui»if.;!utdﬁzo?.ugi.w: u):mf.;!._ﬁdﬂ'xuﬁ

LAk
Sol. Let the required number of days = x
J‘JL;JUJ;).'JWE(J)
Number of men Number of day
JU'JJU’J" ASUR
42 16 T
20 X
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- T N
As, the number of men is descrensed then more § - __900 km i
number of day will be required. So, it is an proportion. £ 5 hour AT

-b’.‘ﬂ,r,vc‘u‘ur-" L"-:"é"V'I-L.(LQ'HMLJJJ'A’JL(UI‘)}J!'[JU{‘JT.,Q E = 00 km/ hour ’x,‘f&){,’/
- {onal phone call cost Rs.10 for 4 Ming,
1

\ 42 i
i 28 : 16, An Internat
Sk " ?rnd the unit rate In f"l’zz.mim-“e;hf
42 ) ; : . U ded S i,
x= 3ot 18 556 aaps 0 I s ; U’}"" '~4.'f
13. 14 men can dig a well in 8 $ WAV e ™
g n 8 days. How many men can } o), Amount of call cost =< Rs 10 ¢,
tliq itin 4 days? g~ Time & = 4 minutes g
) -‘_.q;,futu,’,.:c_ld,f{_uzl_,,f‘stu,f-ad‘f“ﬁ 4 _ cost _ Rsl0
Sol. Let the required number of men = x . ? Unit rate rupees/minute = Time  4min
,l,u"Jug,Tf,lng}' _,/..aé_,,d(;,f = 2.5 rupees / min e,
Number of men Number of days : 17. Hassan reads 18 pages in 9 minutes. Find (he i

rate in page/minutes. : .
-;{/{:"‘.b"d)‘b/lfk_ﬂ-‘ébz.:.u‘|3uguﬁ,9°)

Sol. Total pages =4 = 18
X = 9 minutes

Total time =2

)'A-”-J Il y :'H’-Jw’!

l4T 8
i

As' the number of day is decreased then number of
men will be increased so, it in dived proportion.

\ . N b Y
e UF L, L S Sy Lnfidfuh | Unit Rate pages/min = 79 =2 Pages/mint = 4.

18. A car consumes 10 liters of fuel for a distanc

LA A A O N I T I L T

X 8
& 260km, Find the unit rate in km / liter.
e B =28 men ()7 J(yjé}c’;‘.«;—OIUV‘"U’/-"}"‘O‘ELL)’%’;?J@
Jag! , “'{ L‘
14. A fort had enough foods for 60 soldiers for 40 days. § Sol. Total distance - 6 = 260 km 2 e
How long would the food last if 30 more soldiers join Amount of used fuel = 10 liters J,'-;’
after 16 days? . Al b e
300016 Neaszr Supfnand Luso L 268km _ 3610y i

Unit rate = T L
19. A car travels 600 km In 10 hours on Monday and 200
km In 3 hours on Tuesday. What will be the average
speed of the car?
Ll.&J,l.VLauﬁf 1010665 600esllos i
-;[)?J"‘JD/&:'JJKJI-L'Q_Ju;jJJ‘W}Q"ZOOw
Sol. Total distance covered by car = 600 + 200

S FnZ A AL s
Sol. Food available for day f.:ﬂ!’_ﬁJ}JdJE; =40
After how many days more soldiers came = 16
LT pmluh
Remaing days ¢bdt = 40-16< 24
Let the number of required days = x

Q4404300204400 408004ddadeatscdedaqende

:'ﬂJuﬁ:.,#’ﬂﬁj ( )‘
Number of soldiers s@fus?  Days = 800 km /%)
60 24 l Total hours = 10 +3 = 13 hours &
90 X _ Distance
Average speed of car = —7

As the number of soldiers in increased the number

deq9qq00000qsq9s

of days will be decrease. So, it is a inverse proportion. sl §K
bt L Snd s fuse e lodd 800kM . s 2iud
o8 = T3toors =615 H4
3 = 90 £ 20. The cost price of an article Is Rs. 3000 and b
‘6o ; selling price Is 5000. Find the profit percentage. >
X = Do x24" = 16days ¢ d&v.;_g.usouo.-..i;}.;.fm.;.e.usoooﬁ-:-f.’«fﬂ-é‘

15. Ahmad lra;aled 300 kilometres in 5 hours. Find the I /‘, W

unit rate in kilometers / hour. . iSol  Costprice 4ud
LIS e s LU s bipK 30l 4 E Selling price wbyjsd

4800 ddadecedaces

]

Rs. 3000 &
Rs. 5000 ."_.u

Sol. Total distance LS = 300km Profit = S.P~C.D N Y.
Hours & = 5 : = 5000-3000=Rs 2000 &*
Distance § Profit % Mde' = _Profit _00%

Rate = Ti e
m 3 cos Lprice
p _""-’
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21.

So

22.

2APH oo
Y I

2200y,

‘.6‘70/

SATTIT ] g8
Ahsan bought a car for. Rs. 1500000 anu Sold it for
Rs. 1200000. Find 100s percentage.. '

._..&,,-ucz_u1zooooomduutg_msooooo,r_( PR

-J/(Pyduw b’uld;f

. Cost price of car »/=.4 Jab’ =Rs. 1500000 &)

selling price of car J:/_JJK Rs. 1200000 <5/
loss Wi = C.p—SP ;

= 1500000- 1200000

| =IRs. 300000, &3

- Joss'
Al —-——3(‘
loss “"‘UL"’ - cpst price

SEPILL %
g 77T il
=20% .
If the discount on an item is Rs. 500 and the sellmg
price is Rs. 4000. Find themarked pﬂce’ SR |

=d 1l ;né.114000u-51/ul’ J:':fL.ySOO»_c\u/ A u’f

00%:

: _w’plv
Sol. Amount of discoun} =.Rs, 500 L opt
HJU, J:-cb ' :
Selling price eS3sj=d = Rs. 4000
Marked price  =Zes2%s = 4000 +500
Rs 4500 &/

23.

Sol.

24,

Sol.

Adee! earns Rs.100000 monthly. Find the amount ol
income tax on his in /;ome
VL uw-:_.gu_mooooodiwx

Adeel's monthly income. = Rs 100000 &
oalpde - ‘

Adeel,s anmual income = 12 x I‘OOOOO ,
BRI

1200000 &
Exempted amount ( L[C ZA5E) =Rs, 600000 £
" Taxable amount A6 = 1200000 - 600000

=Rs 600000 &

Rate of income tax Z,/Jjjil =25%
Income tax f =2.5% x 600000
= ﬁ ﬁﬂXGOQKﬂ,(J

-= Rs. ]5000 L—u

Zawar pays Rs. 10000 as property tax'the rate of
2%. Find the total worth of the property.

S - 1% 0 AEF W by 29100000
Sl
Amount of tax &JJg = Rs. 10000 & Y,

Rate of tax _ 5% = 2%
Amount oftax =~ = Rate of tax x worth of Property
f ’C. ‘ - &0 fy J {h i

fjuu U’vv . —-;'V'ﬁ-'

LS 23

LX)

T O R TN T A Y )

Pern

4444 eddaedaeddecdenaa

IR ettt adadaeddIaedadadddaias

-:ouvrvtllvnbbrloobtonblto

I‘b)bb!)lblblbllllll!lllll)Illl!llliblll))bll).ll

CAAEEEaEdaaaaaIeaidiqeaqqeaaedadaadyd

25.

Sol.

- 10000, = - 2% * worth of property =J\(ls
i IOOOO = %" worth of property .-J_LJ;!,_JL',
10000 x )2,0' = worth of property -=4LJJ'¢“;'

Rs. 500000, Y

The price of washing machine is Rs. 80000. If the
rate of GST in 17% then find the total price of
washing machine including GST.

FRN AR 2 &2,80000.24 By

g S
Price of washing machine = Rs. 80000 &
. | JJf_L|, TG a%sniL
Rate of GST ¢ /J GST
Amount of GST

fr A asT

17% %
17% x 80000

ﬂﬁxSOOﬁ/ﬂ/

= Rs 13600 &1/ .

o

Ih

!9

Total price of washing machine = Actual’ prlce + GST

26

Sol.

21.

Sol.

28.

ASEFE By I esT
= 80000 + 13600
= Rs 93600 &t

Find the amount of Zakat on 200000 ruppes

S5 3y200000

Total amount Jgf = Rs. 200000 L.u
Rate of Zakat L /S35 = 2.5% .
Amount of Zakat =Rat of Zakat>tota] amount
LS5 = U80S
=25%~* "00000
25
= +200
yf 2 [J
Rs 5000 & .

Shahwar has two crops of worth Rs. 500000 and Rs.
800000 respectively irrigated by artificial resources.
Find the amount of ushr.

— &2800000 mz_u 500000 A4 =2 S Ui S

Yy P8 iy ur

Total worth of two crops 500000 + 800000
A = Rs. 1300000 &/

Rateof ushr LAS¥ = 5%

Amount of ushr A§# = 5% ~ 1300000

A ~
T 130004 @

Rs. 65000 &+

The price of packet of a rusk is Rs. 27041t he
amount of value added tax is Rs. 80, then find the
rate of value

Il

?ﬁded tax.
ik Ine 280U Ll /4.4..,;270.Ju (JA_(J'

Sol.

£ I.JV

-, e ~

270

>vb {t

Pric ot the pad\u of rush — Rs
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~ Amount of value nddcd tax = Rs. 80 The Prime factors of 425 does not form pair,

: S
AN ),yé, fisnota pcrlc.g:}qmt;:; 42
] A G LS. i sp
Rate of value added tax = 2—7%*100%  (iv) 3025 i 'L"/LLQS
00 ! Sol.3025 5 | 3025
- P =mon | 505

29. Find the squares of the following natural number it
| LB it 'L:'_

(i) 83 (i) 69 _

Sol. 53 Sol. 69 : The prime factors of 3025 = fl:_S x 1l x1]
Taking Square ¢ » Taking Square 28, | oL 3025 = 5x5x1x1]
(53)*=53 x 53 (69)? = 69 x 69 : The Prime factors of 3025 form pairs, So 3024 i

= 2809 = 4761 : the perfect Square.

(ili) 288 (iv) 500 e V/J;J3025'.~J.w4u IR Ly

Sol. 288 Sol. 500 2 31. Find the square root of following numbers by p"m'
Taking Square 2¢} Taking Square 2% i factorization method.

(288)* = 288 x 288 (500 =500 x 500 £ -qz,f'ﬁ”dzﬁf'-fféd/bkﬂﬂﬂ'ubw
= 82944 =250000 (i) 169

30. Check whether the following number are perfect 1 Sol.169 13| 169
square or not. e B ud it : ENNER

M 441 T

SolMdl 3|44 : The Prime factors sb3/* 169 = 1313

SR N LY : = 13x13
Z—.ﬁ = 132
117 Taking Square root &L & Jl.js
‘ - JIF

The prime factors of 441 =3 x 3 x 7 x 7

s L4 = (]3*)% =13

= 3x3xTx7
The Prime factors of 441 form pairs, So 441 is the
perfect Square,

e B S0 Lt e dioles L 441

(ii) 289
Sol.289 17

7]

—_— | N
©

>
QA a AT d eIttt IEa e aEadiddaaPPIIIIIIIRIBIDIRIDD

n o (i) 572 The Prime factors sbs/* 289 = 17 x 17
7’ SOI. 572 g_-ézg i m =7
]gl__!_s:? Taking Square root < & Ji,.4
EIEN - 7
l = (1713 =17
The prime factors of 572 =2 x2 x 1] x 13 10
s L5712 : (i) 35
1 = 2x2x11x13 ) 5 | 625
Thc Prime factors of.572 does not form pair, So 572 : Sol. 525 7149 51733
is not a perfect Square. 7T 5735 b
.-9d-/f..gsnl.z,v.ug.?_w;x.gm/"ésn L
(iti) 425 |
Sol.425 5 [425 7%
i 't The Prime factors of sk 625 w5 Ty Y
i 17 o4 3
' ~ TR
The prime factors of 425 =5 x 5 x 17 Taking Square root &8N,
ML 425 . : i

R 7
= 5x5x17 ? SN

t\ # "‘;" : ‘J

[T}
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. J.gL_ 11 b AW e Byt SO Ly
Six s

LA Sun
(V) 3028 i Sol. Area of the mat J;(Jl'/; “ 289¢m’ tr
6013025 :M | 3025 : Length of the are edege of the mat = 289
| TT._:‘%‘_ JH&_,VL{IJ A
l I fecesed T
| e [ 2
The Prime factors of sks4* 3025 = § x § x 1] x |1 2| 199
= Sx8xITxTi ' 29
= §3x ]2 . Tot . .17 x4
rmsouon= 2344 | g pponte
= JSIxIp : 34. What Is the length of a side of a square having area
aed , i of 441 square metres?
PR b o B I SIS T LLE s
=5x]1=55 : Sol. Area of square J¥Z, = 441 m* X/
32. Find the square root of following numbers by division Length of a side of square = /44
method. L 8 e St Ly,
() 36l =2lmx 2L
- Sol. 361 J361 = 19 H | 441
1| 361 -
29 261 £ @
: -261 : u
Ji61 =19 Frye
) 719 B { OBJECTIVE TYPE QUESTIONS )
Sol. 729 J729 = 27
2| 72 S Questions Based On New Examination Techniques
b= :29 Knowledge, Understanding & Analysis
‘1] _ 329 : ¥r Multiple Choice Questions (MCQ's)
t J129 =27 N i 1. The set of integers is demoted by
: i -c._rn,g&w/;{&wé‘
% (iil) 731 i M|z ()N (c) W @O
1 10 2. Natural number along with _ called whole
L Sol. 100~ /100 V100 _ 100 _ 121 (100 i  number, e SRS e DL 12
, FII S FTRNN TSR/ P TR | | i (@3 (b)2 (© 1 mo
4 _ 10 nl 2 i) : 3. In-538,-436, 836, 483 which is collect Ascending
11 21 : order. -,;.d:r,g}:/uu,LJ o
g E n—538, —436,483, 836
(iv) 6.76 i i (b)—436,483, 836,538
Sol. 6.76 J6.76 = r_zf— P (c)836,483,-538, 436
2 6.76 (d) 483, 836,436,538 i
=8 P4, L.C.Mof72,48,is. - Mdbrhin s
a6 276 P (a) 121 (b) 169 144 @12
2.76 i 5. Which Sequence is correct? fe crne AT
J6.76 = 2.6 o : M@NCWCZCQ (b) Q CN CW CZ
33. Hoorla has a square shaped mat with an area of 289 ; (c) WCNCQCZ (d)QCZCNCW
square cm. She wants to decorate the mat by putting : o S
fringe around the edges. How many cm of fringe, she : ™ 7 7
needs lo buy? 6 7 8 é
Sang (8w jise G Pl Lr . @1 O3 @5 B
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T £ 28, The lowest form of 21000: 42000 . g
09 - , (a) 1.} (bl 4 .l 2 "1TI v‘:(m«
1 1 b I ! 26, Increase 1200 in ratlo B 1 5 s
w) i @i o} | e,
!, 3 9 i (1910 [ 1920 ) 1930 (4 1940
- ) t 27, Symbol of propartion h( ) ]
g i (a): $ " (d)
@ g (h) '{0 () gn (1) %% f 28. In 150 : 15 the value of x all
. 6 i tenet el
o Ais(-g) P @S0 (6400 (300 Wi
e _ i 29. If the sale price J{nttcr than cost priey
@ 03 (b) 52 (©) a2 32 i weget e ;”"i’"*}"'l"’!/d
3 3 () K i B Profit g (b) Loss s
10 LN ‘!. ﬁ‘: : (c) Nothing / el (d) None 0/
T\ BF e—— i 30. Rate of commission x selling price =
4 34 4 : (a) Loss uLg-' .Commusmn ;{
@) 55 45 (€) 35 (d) % : (c) Profit & (d) None 207
1. Onc cnzniﬁcnnt figure of 392 : 31. Rate of Zakat X tafal amount =
gure of 3925 is,'/:_ ‘u‘wﬂr”zs i [ Amouny Zakat A1 (byLoss gus
h 4000 (b) 3900 (c) 4100 (d) 3800 g (¢) Profit & (d) COﬂ“ﬂlsany
12. 2 Significant figures of 1.388889 is. : 3% is paid on agricultural yield.
-4.4—1324-!#"1.338889 .Ushr)’ (b) 7“;:'_}‘7’;')1" (Mgl
L : 3
W14 ®14s @138 @198 | (o commisionc®  (d)None A
13. 1n ({0))) which solve lost-up 2 S/ 23A e | 33. The Square root of 1225 is e i¥ 1128
(a) ®)( ) © 1) W) R CV X (b) 34 M 35 (d) 36
14, 18+2= (3 %5~ ~(12=6-(~6+F-8)l=___ i 34. Symbol of Square root is el
(a) 1 (b)2 B d) 4 i By oy @~ (d) £
15. 50+5+44x 3= éss. Square root of 81 is i)
W2 ®H  ©B8 @6 i, ® O W @n
16. If A = {1,2,3,) then which Is correct ; 36. 28 is the square root of AT
(a) 788  (b) 787 () 786 [ 784
-f.yd‘-*/&-y‘u‘ 37 Jags =
(4)2 < A )3 € A .
©1 €A BAlofboey | X ®2 W2 @2
17. Set of odd numbers is .q_._fl'MJ“ 38, ‘fg— =
@) {123, ) (B) (248, Y — e 5 ,
W3S ) 0,123, y § Wi (b)3 © 3 :
I8. Set of prime numbers is .f..‘.(ﬁlpb)‘ ;3. J0.49 =
©) {(1,12233= %) (@){0,1,23, —) : “ m
19. A is  super set ofB represented by =
-‘JL&MD’B{_M,{A P @N M (e) 35 B 36
WAEB MASB ()ASB HIA 2B :0 \Si:c:hon:mm p
P L at are whole numbers? Tt
20, S"'“hb"' of proper subsetls  -¢.=” e w2 ¢ Ans. Natural number along with zero are called whole
BMc ®> “(c') :A X @ =2 { o numbers, W= (0,123, ....)
31, A= AiohBeGAATIN AL oy ' -u’L:J‘wafaLu}‘Mﬂ‘cdi
1 ’Ji?, ®) {1 A (dt).“"’“} 1 :"::dlie the numbers in Ascending and
v o - : escending order. |-10), 17}, |1
(a) A A WU (d)Nane A i e ‘*;::"‘ 1191 ":"
13, (AUWf = AR L1017, 19y, g T
TR () A (¢) BF (d) AUB® 10, 17,19, 6
rutho el e Ascending order S w176, 10
dhak “i) - (CJ s - (d)\ E "kmhm “fd(f d’{“ ] = ‘q‘ “." :?“ {7 *J

v —

-

4
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_ Arrange the numbers in Ascending and

descending order - 436, -538, 483, 836

USRI 2 g S5
! w7 =538, -436, 483,836
Descending order Js = 836, 433,_435,‘;;

-
Ans. There are seven types of fractions -Vl g

AP
1)

Ans.t\SCCnding order (1427

4 How many types of fractions
9 .

s, Convert f in mixed number.

SN
4'24

| ¢, Whatis the Symbol of rational number?

e

Ans. Q is the Symbol of rational number.

- Qe

7. Represent %and -% on number line.

2,3, 9 2D _54_ 1
Ans. 5774775 5x4x5 100~ 50

10. How many pieces of ]—75-m of wire can be cut

from wire which is !% m long.

Y A

et I LR Lndp 1

150 _ 15
' @

7%
-—5—10
1

Ans. No. of pieces

-
150
<)

2. (1 4 2 2 4
X -4 = =] =X— || =X— -
11, Prove that 3 (3 5] 3 3) (3 5) ..u:f-.f.b

(32 - (29) + (329)

2,171 22,8
3°15 ~ 9715
2x17  10+24
Ix1S 45
4 _ 3
45 " 5 |

12. Round 0.028835 upto 3 significant figures.
_u.“f;ur‘uuf 0.028635

Ans. 0028635 = 0.0286

——

#1
i

QIl"..CICllllllllQl.llll“l‘.!‘ll‘ll‘ll‘li‘ll“I(l(“‘(ll“lll“.l“ll.l‘.‘i““l“!lllllll""l“llllllll.!".lllDPPDD)'D.DPD)D."IU.D‘D..'IIlDDlllID‘.DDlbllbib.))lllDDIl.l.llblbli"illllil.iti.)').llllblibbbbibi.lll

25
13. Round 8

25
Ans. 10 " 1.3888889 1.4

14. Solve 68 +2 x2 +4
Ans. 68 +2x2+4
1

=34x5= 17

up to 2 Significant figures,

-u..‘d‘jmﬁflf %—3

JS

15. If A = {2,7,8} put € or ¢ in the box.

2[JA 6[JA 8[]A

Ans. A ={2,7,8}

2[€]a 6[e]a s[e]a

16. Define Tabular form of set.

U ekefuiedl

S Buager

Ans.When all the element of a set are written with in the
curly brackets and elements are separated by using

commas. A = {1,2,3,4,5}

SO e TSI b VSIL 2
A = {1,2,3,4,5) 50 80 1

17. A ={1,2,3,1} is a set or not

-Seer

Ans.lIt is not set be cause. The elements of A are not

distinct. 1 comes twice.

e g N S e S

18. What do you know about set builder notation.

. _+.Jl/ga.z‘\.q27."{

Ans. When all elements of a set are expressed by using ’
mathematical notation, stating all the properties of
elements given in a set then it is called set builder

notation.

2epWle bt e §uPk QLLIUEIUL sr o

A={0,£2,24%6 ... }
A = {x/x € E}

19, Define Subset.

AW S

-L[/U.L‘id’c}; ,

Ans.If all the elements of a set A are also the elements of
a set B, then set A is called subset of set B.

B FEBEs Alr IISL Bl UL AL

AcB
20. What is proper subset?

- EQ{G; w2l

Ans.A set A is a proper subset of a set B if all the
elements of the set A contains in the set B but at
least one element of the set B is not an element of

Set A. It is denoted by AcB.

-

it Furmzr 2By wa&ﬁr B(nb*.:a".,.e O
-t e AcBU s .._-’.l:._/?n.:d:b’f\d:.ﬁb’ B

21. Write subsets of {1,2,3}

-Ufn:ﬁ'!a'?;

Ans. { }, {1}, {2}, {3}, {1,2}, {1,3}, {2,3} (1,23}

22, Define equal sets.

-.g..:'/l;(«-:— Urri

Ans. If sets A, B contains the same elements then A, B



https://v3.camscanner.com/user/download

are called equal sets. A = {1,3,5,7,9}, B =
{qu!5|7l|) A ﬂ’ﬂ

LS Wt Funed LUILB ALl

23. What are overlapping sets. -U!Erb":’—le

Ans. Two or more sets are overlapping sets of they have
at least one common element,

-ﬂJ}“’JC.{l(’Jl(/‘;U_: L uf(hﬁg'ml_‘,rﬂja.»gu
A= {3,579}, B = {3,4,6,9)
24, IfA = ",2,5,8}, B= {],3,5,6} then AUB =7
Ans. AUB = {1,2,5,8} U {1,3,5,6} = {1,2,3,5,6,8}
25. If A =(3,6,7,9}, B = {1,3,4,7,11} then A-B=?

Ans. A - B = {6,9)
26. What is complement of a set? -G_QQ,:M

Ans.A co!nplement of a set A is defined as a set that
co;tams the element present in Universal set but not
is A. It is denoted by A' or A€,

Aeluns JeSods A»lun,ubél‘iu..}-';ﬁq-uc—:«»“-jb’ A

-u}L/;,'lfL.Ac&

27. What are de - Morgen's laws, .u_rkfuc" ’;J:'utﬁ

Ans.(i) (AUB)°=A°UB® (ii) (ANB)*=A°NB°

28. Increase 1200 in the ratio 8 : 5

~L 51K 120028 : 5’

240

8
Ans. g"% = 1920

29. Define rate SV (%
Ans.Rate is a ratio of two quantities which have
different units.
- Lnﬁfi‘ﬂfgaﬁgfg}ulﬂubf
30. Defined proportion. -q/ug.yﬂf.,.—t:
Ans.A proportion is a mathematical comparison between
two ratios. It is denoted by "::".
..ujZ../;:U;;“::"c.l_g;_.',ﬂ:’w_l/nﬁuﬁ.’;)_./&f
31. How many types of proportion? -u_r(L-"fu"fJ../':'«'
Ans.There are two types of proportion. . -ujru"lmf__/li'
32. If the cost of 15 pens is Rs. 150 then find the cost
of 20 such pens.

nfed §uF 20 LU putine 5024 6P 15/

Ans.cost of pens : Numbe of pens
150 : 15
x§ /20
xx 15 =150 x20
0
x = 120%20 50

33. If 10 men do a work in 24 days, In how many
days 15 men can do the same tark.

GTISEUILUS gL SR uduN LT

Ly/S
Ans.Dayse : men (57
24 10
X 15
VRO | |
il

24 x10
15
34. What is cost price? ":‘t’r"}d
Ans.The price at which an item is bought is ca|eq

price. - -r;—dllﬁi'—'»é-‘a.rt,tgjf,'_gdf;m:g“
35. Define profit. “ fu&;é:
Ans.If Selling price is greater then cost then we

X = = =16days 02

e . -&l‘nJ‘bd’inu&);g).:.{_—,;vd
[ &S] w330 ] e
Proﬁtcy =SP-CP =3t

36. Write the formula of profit percentage,
ot ~U-‘d._fféb‘4

OProfit% = Profit L' _

CP  2icd %

37. Define Discount. -ujfuk.__y }Je_‘b

Ans. The reduction or cut offered on the marked pric i;
called discount. b 2

: "u-?%{"‘k” ’( J‘;‘;‘éd” Uw;ﬁ/f @"J.‘/..Cg

38. Fatima owns a house of worth Rs. 4500000, i‘“ind
property tax or the rate of 4.5%.

-qfr,‘v -;z,/‘J.u.M.s-.;../ b’céti'_114sooooou5£ Ji
Ans.Worth of house =J(f / = Rs. 4500000
FI

~14J

Ans.

Rate of tax = 4.5%
: s g 45
Amount of tax ('JJJ-'C = 100> 4500000
= Rs. 202500
39, Define commission. S A

Ans.Commission is an amount of money which is paig
by the seller or purchaser to the agent for his
services.

- Q:;..pJoLﬁJJ'I%'uJ&:}L;L&j"-..fb?‘a -mcﬁ{
40. Define Zakat. -(/_fL‘JE!'-—i’f? 1835

amount of wealth the whole year.

41. What is the rate of Zakat? e YL i)
Ans. Rate of Zakat is 2.5% of total wealth.

-‘L.L/&Jiﬁiszjfdmf
42. What is the rate of ushr? -‘Llfb/.kyf
Ans.The rate of ushr is 10% (naturally irrigated) and 5%

."l."“04“‘“ll1llIC.O‘l(“‘!Illl..‘1|1‘14lll11‘l‘l“C“11“C‘l“‘.“l"l“‘."..’D...’.D.D'l’)".’.l..lI.'l"l.lDD"DDD.PDDDIDID.DDODDlb‘li.DIDD.bl..llliIUlil.D.D.lb'..'llDDID...U'QO.DII'

: Ans.(1026)* = 1026 x 1026 = 1052676
: 45. What the symbol of Square root.
Ans." /" " is the symbol of square root.

=Y ¥ ok

L

46. Find the square of ]%i ‘

i D - | R T
A“s'\/;"\hxct“\/?—fz

R R R R R RN E R EREERERR L

!
PR }
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Ans, Zakat imposes on those muslims who have certain |

A= Gn)’u{.LmﬂrdL S S u..gdw; {U; U 2e Fmif] |

(arfificial irrigated).
B ISV s (6 re B30 5)e A0S
(t/oize
43. What is squar of 6 is B
Ans.62=6 x 6 =36
44. What is the Square of 1026 -‘.'—U’é/ ‘

_wlin |
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